BF 100m RS 60H)
[1#8] (  +0.8 m)
1[ 41538677 &2 4 &= 3 (HlipK- #m) 10. 64
2[ 514695Fn H 22 £ 4 (HEFRHE)10.77
3[ 8J4466 K B KX (et Twgh i) 10. 95
41 3J1ATTER B & 2 (RO0TSTORY0 ACEE) 10. 98
5[0 2] 4215 & &HE  (JAWS-#%)11.09
6[ 7] 2400 M Fn+ (UNITE-#%)12.31
[ 11213 & B 1 2 (IIAfE-5E) Rig
[ 6] TMT2E & @& 1 BBEKEK-BE) Ri5
[3#8] (  +1.7 m)
1[ 3145331 O Grak Tnogt Tojaetdd) 10. 92
2[ 8]25627% ik F- 3 GRAERK-EH)10.97
3[ 2147133 W ff #E 3 (MEFK-HE)11.01
40 5] 92/hAk BEHEE (V I D A)11.02
50 6] 4328 1 f£/A3 (KE&E-HE) 1.1
6[ 4164427 T T3 CHASE-HR11.21
70 7]5273F 1 Z=KEE (V I D A)11.55
8[ 111857/ fig 1% H 2 CEEK-REE)12.02

[5#8] ( +1.3 m)
10 2]4MM6K% & % K3 (MEFRHE)11.03
2[ 7] 440%% H  H2 (RE&-#HE)11.22
3[ 5112144 v ¥ # 2 (IlAig-5%)11. 35
4 6]5288 2 B == & 4 GUUERK-HE)11.39
5[ 411126788 10 F e (VyzvAw&I)11. 45
6[ 3]4015H & A K2 (HfdtsE-&%)11. 46
[ 114476 = dm fF 2 Gred ook e ) RI5
[ 815289 1 #F 0 E 4 GURBERA-EH) Ri5%
[7#8]) ( -0.3 m)
1[ 5176867 H £ ik 2 GRAERK-%5)10. 99
2[ 3J1000K 5 #£4r (SKD-T#)11.10
3L 7] 108 fd# K2 (HfiE-HE)11.25
40 1121150 & I K 2 (hfips-5E) 11,29
5[ 2] 502K % & (SKD-TH)11.44
6 8]4013F Il K& 2 (fdteE-5E)11. 47
7 6] 439K H B M2 (KE&E-HE)11.50

[ 4164814 B Iff A 2 GFER- ) iIkhEHE

(98] ( +1.0 m)
1[0 5J1867% B i K 2 CEEK-H%)10.97
2[ 2] 12586 1 ¥ K GEORREER- ) 11. 07
3[ 4] 238 JII B (UNITE-%E)11.34
41 3]1237 & M ak 3 (KEAE-#%)11.38
50 8164405 #F  BE3 CeifAm- s 11.39
6[ 7]5265/% & #)ii 3 (elLgkHm-5E)11. 40
70 6] 59871 )1l MEfh (SKD-TH)11.47
[ 11451085 K E B Gl o) Ri5

[248]) ( +1.7 m)
10 4147069 % P 3 4 (MEZKHE)10.72
2[ 516246 I HE A 2 (EFEA-5HTE)10. 81
3[ 7] 1005 M fm (v 1 D A)10.90
41 111206/ 45 K 3 (IlAmvE-5E) 11,14
5[ 2] 13mH K&2 EKFA-HE)11.17
6[ 3166614 & 7= K1 CGirdbkk #:)11.57
[ 6] 893K & fi: N2 (UFERR R Ri5
[ 811381#HIL BERER  (Acce | -T%) Ri5
[4%8] ( +1.6 m)
10 416184)1] J/U  f& [ 2 GUedBkl#z)0) 10. 88
20 8] 7952t—Fa—h A2 (B -5 E)11.05
3[ 2] 23973 e (UNITE-5%)11.08
4 6]1039 1L FEZA 3 (k& - 5 £)11.16
5[ 31472045 e FH A& 2 (REFR-HE)11.31
6 514693/)x Bk FE A 4 (HMEFKHE)11.35
[ 1112197% W &% B 2 (Ilnfive &%) RiG
[ 7111356 1% ZE 52 (JTF-#R)) Ri5
[648) (  +1.6 m)
10 613591110/ B 2 FEMEE-HE)11. 20
2[ 2]6446'= I 16 E 3 CHAM-HR)11.36
3L 5] 16/hJi FIF (RTS-#HR)11.40
4 71184145 I 9L EE 3 CEEK-£#%)11.40
50 8]6443 K & F W3 CHAm-H A 11. 61
6[ 4156463 i % & 1 (IAHvNE-%%)11.66
[ 121/ 5 % K (WeyA-#Ell) Ri5
[ 3] 326 Kk Ul & 22 4 (HERL WA RiG
[8#H]) ( +2.0 m
104 27 #5223 (& -HE)11.24
2[ 611086m7 B K it 3 (EEG-#E)11.26
3[ 2] 445/ FF 22 (KEE-HE)11.34
41 11120111 W BE #R 3 (IpTivE-%E)11.36
5[ 3] 30F: % A 5.3 CGRREK-1LFL)11.40
6[ 5]40064% 76 iz th 3 (A -5 E) 11, 44
70 811202/ #F B %5 3 (lnivg &%) 11. 51
[ 7]16439/NE 1l BRA 3 CHEE - 3R Ri5
[1048] ( +1.0 m)
10 1164455 3 By B2 3 CAAm-Hx)11.27
2[ 6]2126/N ¢ F — 3 (FREm-HE)11.27
[ 412214k R 2 (A -5E) 11. 31
4 8150224 % i R 2 (BRUHE-HE)11.37
5[ 7] 19% (LU H#£2 GlfnsE-5E)11.48
6[ 316050 AF % K3 (BFEK-£5E)11.50
70 5] 8087 H &7+ (akkEh -%%)13.14
[ 2] 75197 &5 3 & 2 (HRBEpk T8 Ri5

~



[1148) (  +1.5 m)

104] 538 [ E R (FERERG T 11.36
2[ 8]6448F A b3 CHAS- B 11.42
3[ 513592 jiE K M 2 (EME&-#5E)11.45
A[ 2]2554%% 3E  fB (STAC-T#)11.48
50 6]1034E &  BE3 Ok /6 H)11.49
6[ 1]50313# oR B 1 (BRUER-5E)11.54
70 71315746 A 1 w3 (llndtE-%E) 11, 67
8[ 315032 My HA A 1 (BRCEEHE)11.72

[13#8] ( +0.6 m)

107) 784055 M K HES (Blm-HE)11.36
2[ 51313948 A 1% B 3 (BER-#HiA)11. 41
3[ 6] 587IL8A 4  (HEEH-HE)11.54
40 11110298 7k 3 4 BFER-HE)11. 62
5[0 3] 15\ A —& (RTS-HI1.77
6[ 4]4684 T #F FHE= (VI D A)11.95
70 2] 61MEF FHoF 3 QAR T-%%)12. 01
[ 8]4683( ik W ¥l 3 (FRAR-WE) RiF
[15%8) (  +1.0 m)

10 6] 275)- &K MK (OGS -#E)11.52
2[ 316402/NHY) FRIRER 2 CHE R R 11.65
3[ 515024 F (L1 K HE2 (BRUER %) 11.71
40 8] 15/ Ak I Jr 2 (RKMH-#HE)11.75
5[02] 3%F& B B3 &Id-Hi)11.76
6[ 7164047% B K2 CEAmE-HH)11.85
70 1]  5F % ¥R K3 (&R #5)12.00
8[ 412557# #h L+ (STAC-T#)12.03

[17#8]) ( +1.9 m)

101 2= 8B & B2 (ifm-3mE)11. 44
2[ 711238/ ¥ & L3 (KELm-#E)11.55
3[ 215464 K%k FOKER 3 (FtERE 5E)11. 66
A[ 311240% B Bi A1 3 CE_H-HE)11. 77
5[ 81224155 % 16 #f 3 (I H-#%)11. 80
6[ 6] 379K B K3 (#E=H-5E)11.86
T0 412251 K 25 3% 0 3 (I H-5%)12. 09
8[ 5]2890% i fil 1= 2 (BlHER-%%)12.19

[1948] (  +1.6 m)

1[ 3]28837E K # KX (FERF)77-FH11. 44
2[ 8131781 #2 & K2 (i -5E)11.62
3[ 4] 184 m %+ 2 (BRKF-%E)11.65
4 6] 296 K fE i th (FvA-A-1H)11.76
5[ 2] 2427887 ELRRR 2 (IEmH-5%%)11.77
6[ 71168110 A  F3 (WTAEHE)11.77
70 1] 7013 A& o (Fh*yRAACHE)12.04
8[ 5] 2H T EHES (BMTH-HE)12.05
[21%8) (  +1.3 m)

10 2]1104)1 ¥ i K2 (ER&E-HE)11.72
2[ 118325 L f& — (TRAINI-fik)11.80
3[ 4] 873Fm HE  Fy w3 (KHAH-#HE)11.84
A[ 5] 4365 H ¥ R (ADLER-%%)12.00
5[ 3]1245/% B #E F 3 (KElm-%%)12.03
[ 6] 40747 48 FHIK (Z VA4 -HE) RG
[ 7] 7888kA A~ KA 3 (& -HE) RiG
[ 815023<F % & B 2 (BRIHA & E) Ri5

[1248] (  +1.9 m)
1[ 5]502728 J/ A 1 (BRUERE-HE)11. 31
2[ 3]1231408 3% Jr 3 (KEdaE-%E)11.32
3[ 4144877 )1l # 1B (bl Injetd) 11, 41
4 7]25564A A4 Mt —ES (STAC-T¥)11.45
5[ 2]6407— / W0 A& 2 CHA&-#HX)11.58
6[ 11 4% K3 (&N HE)11.68
70 813578/~ (LI HiL A 3 (MR- -HE)11.70
[ 6] 4315 /I 3 (KRE & -5 Ri5
[1448) (  +1.6 m)
1L 6]6401 5 # B2 CGEAE-HR11.44
2[ 113151k £ 8 7 3 Ullndes-#%E) 11. 50
[ 4] 736/ & #1 K 3 (IIBRAR#%)11.50
40 2] 5344 R FnE  (HHKTC-#%%)11.56
5[ 512883 7k Kk 3 (Ri%ER-5%%)11.86
6 815135 & — & 3 (IINFEE %E)11. 88
7[ 315012/ i & - 3 (AR UEE-HE)11.92
[ 7] 40858y fF—B1 (7 VA4 -HE)Ri5
[16%8] ( +0.4 m)
10 713244 = 4 280 2 (ERER 5E)11.52
20 8] 22/ ¥ EH o GUAEERH- ) 11.59
[ 4] 44785 I A1 (RES-5E)11.69
41 214M2:E B J5 B 3 (MEFR-HE)11.78
501 2tAH# i — (+4&SC-5x)12.09
[ 3] 7% H T (RMAC-HH)RI5H
[ 5111058 ] £ 4 (NNC- i) Ri5
[6] 7 H B (RMACHR) RI5

[184H]) ( +2.5 m)
10 11429600 i Fofil 3 (FfEE - #5F) 11. 43
2[ 6]5557 W # & (V7U/-V-E#)11.50
3[ 215435/)s &= Hh # 3 (RELKA %E)11. 68
41 7] 840 KHT BEZ A 2 (Fh%yAACH5E)11.85
5[ 416409/ % Fn 2 CHAME-H5)11.95
6[ 516417 [ ¥ =1 CEA&E- ) 12.13
[ 3164471 7 953 CHAM®  HR) K&
[ 8] 8218 ¥ #h 3 (FhxyAACHE) RiG
[2048) ( +1.7 m)
10 4135797 ¢ K3 (FEMmEE-%E)11.35
2[ 6]202185 A fiF K 2 (5k & - 8 £)11.52
3[ 5]1204% 4 SE b 3 (Il0ffivE-%E) 11. 54
A1 315272/ W5 A K 3 (Belliidsm-%%) 11. 68
5[ 714697 i & K2 (ARGAm-HE)11.75
6 1140167 1 J& # 2 (ifdtE HE)11.77
70 2161345 16 B AT 3 Cdem-#E)12.03
[ 8]5485E Iy B2 (MtEEE 5T RIS
[2248) (  +0.9 m)
107] 74% 1 B3 GEREK- H5)10. 89
2[ 8] 1794 v FIHE 3 @HEE—-F-5F)11.61
3[ 5120274  BH FH2 Bk - £ E)11.80
4[ 2]5484)50 H P92 (MtERA-%E)11. 82
5[ 3]61307C £ M A 2 CEdbE-5E)11.87
6 6]2217/N V5 4 K (BEmEG-#210)11. 95
[ 1] 70577 H Z=—RF  CEAER R Ri5
[ 41202275 B9 & 3 2 (k= - By B) Ri5



(23%#8) ( +0.5 m)

1[ 8]4304k J/U {2 (FfEE -£5E) 11,
— k3 Cedb@E - E) 11,
L1 CaAm- #B) 11,
Bk 2 Cedb@- 5 E) 12,
BN 2 FhFyAACHE)12.
oK1 (BRCERHE)12.
BERE 1 (BRUER5E)12,
A B3 (B &5 E) G

2[ 116121 K 47
3[ 216416/ {7
4[ 5]61284F =
5[ 6] 8101 A&
6 [ 7]50337
7[ 3150261 3

[ 4] 7931 Iff
[25#8] ( +0.8 m)
1[ 8]5015% A
2[ 41110134 b
3[ 3] 7891 &
4[ 5] 24315 1%

6[ 2] 7878 &

(27#8) ( +2.0 m)

1[0 7]2026%K % B 5 2 (3 & - B B) 11,
CRORRER - K50 11.
3[ 1] 2864 &5 M /1 3 (LEET-HE)I1.
41 4112320 1 & A 3 (REILRE & E)12.
B2 (Fh%yAACHE)12.
)12,
TAHEE BEZJT 3 (@ETH- ) 12,

202] 1@ #

5[ 8] 830{F jiE
6[ 516403 K
70 3]

KE2 (HAG:

BE R 3 (BRUEE &) 11.
A2 (ERE-HE) 11,
RAAT 3 (B[] i - 5 ) 11,
& 2k 2 (IR -5 %) 12.
5[ 6]2881 & M KRS 3 (BHSER 5E)12.
A3 (B & E) 12,
70 1] 3524 H F K2 @HE=HHE)12.
8[ 716405)I 4t ¥ 22 CHA®E - HH)12.

14
84
99
04
06
10
26

64
13
97
10
29
30
31
35

90
94
97
12
14
19
51

[ 6] 11 K3 (EARP-HE) RiG

[2948] ( +1.4 m)

1[0 7] 28548 A (FFak 3 (RREF-5E)11.
2[ 113599 )1 FEKHR 2 (RN -#%E)11.
16 KKE 15 KER 2 Gl - 2 E) 12.
1R 2 (FhFyAACHE)12.
b A 3 (Glfns-fE)12.
(RTS-Hx)12.
& 3 (ERE-HE)12.
FE A3 (R -5$E) 12,

3[ 5]
4 4] 83577 H
5[ 2] 64 [
6[ 8] 174 g ¥
70 611090 £ 45
8[ 3] 862#% L

[31#] ¢ +1.1 m)
107] 22@H
20 5] 436 K
3[ 3144884k
47 6] 7031& A
5[0 2] THi AR
[ 1111052 Iff
[ 4135897 5t
[ 8] 13& 1&
[3348] (  +1.6 m)
10 611926 #; &
2[ 711095 M i
3[ 5] 473K Ht
4[ 314018%% (L
5[ 211036 1
6[ 1]12544% N
7[ 8]5142 & ~7.
[ 4113382 %%

STW/N

R 2 (RN -5 F) 11,
203 (FEFEN-RE)12.
(Break Through Project ) 12.
B RR 3 (FHERY-HE)12.
e 3 (EARH-HE)12.
o K2 (ERE-HE) X5
— H 2 (EEE-5E) Ri5
72 282 (HfeE -3 E) Ri5

% E 3 (BRAT-HE)11.
A2 (ERm-HE)12.
— 282 HFRP-RE)12
& 2 (iRdts -3 12.
KAE3 Ok v )12
1R 2 (JInERh-5%) 12,
i b2 (InEke-%%)12.
(J TF &) Ri5

85
88
01
02
16
19
26
28

86
02
07
17
20

13
05
20
21
22
41
50

[24%8) (  +0.5 m)
1070 1WERE B #k2 GEfng - HE)11. 67
20 2]4078/% W & /4 2 (ifFke-%5E)11. 86
3[ 3] 304/~ H1 B (SSCR-Hm)11.99
4[ 5164062 BF 2 CaBm- ) 11.99
5[ 4]5463 . jE  oF A 3 (MEEEH %) 12. 11
[ 113585+ & A 2 (EMmm- &) Ri5
[ 6] b54fs & Fll== (FHREH T R5
[ 8]4066j8 & 16 K 2 (hh¥kE -5E) Ri5
[264H]) ( +1.3 m)
10 512148%5 J7 ff & 2 (Raut=d- 55 11. 71
2[ 61210 K A ¥ A 2 (I0ffiviE-%5%)11.86
3[ 3]1107 K Ak — @k 2 (LRE-55E)11.94
41 2] 1054k AL A K2 GoEEF - E)11.97
50 8] 1hnjE =t 4 GURbEH Hm)12.43
6[ 716408 ik v Jr 2 CHAE - H7)12.50
7[ 1] 300 A #fifli (SSCR-#x)12.51
[ 41121735 7k 1846 2 (II0fvE -5 E) Ri5
[28%#8)] (  +1.0 m)
101] 234 ¢ K 2 GEfng - £55)11.90
10 51627347 &2 Mt K 2 (BERA-#E)11.90
3[ 714301550 SERER 2 (FA#EE-#E)11.94
4[ 6]469678 B & 2 (BlAR-H£)12.13
508] 1145)I & g2 (osf-5%E)12.23
6[ 213588/ 16 7w oA 2 (BEmE-%E)12.29
704 20 K (F&SC-TH)12.44
8[ 3]1031[ A 4 3 (K I ¥ #)12.59

[304H]) ( +1.2 m)
10 5] 1672 4K B il 3 (H&EF "+ %%5)11.90
2[ 41641855 & f 2% 1 CHAS - H)12.10
3[ 6112495 [ v I 3 CHJE —H-5%)12. 11
41 1] 786 M #5283 (Ee-£55)12. 30
5[ 7] 8381& jiE 8 % 2 (Fh%yAACHE)12.49
6 2] 44278 M WA K 2 (KEH-85E)12. 61
70 31544415  F K 3 (RELH# 5£)12.92
[ 816449 K431l FufE 3 CHA M- Ha) Ri5
[3248)] ( +1.4 m)
10 115140%k A &Ik 2 (nFEE %E)12. 10
2[ 2] 51k M3 JInTE-%%)12.16
3[ 8110921 X Fn k3 (REm-#%)12. 31
4[ 6]43061L &= A2 (M- 551240
5[ 4] 3718J £ M3 (ME-H-5%)12.45
6 3] 15FF R B K2 (lifis-5E)12.78
[ 5] 301 &7H &M (SSCR-HRN) RiZ
[ 7]40548% K K ¥k 2 (ke 5F) Ri5
[34#8] (  +1.4 m)
10 316129 35 52 CRdb@-£5E)11.94
2[ 711401 & F 523 (RpnH-5£)12. 05
3[ 114061k B B2 & 2 (HR#hE-5%)12.10
41 6121455 )11 #L B3 (Ryi+=h3fx) 12. 31
5[ 4140058 A &% 1 3 (HfndtE-#%E)12.57
[ 2] 8024%  fi: K2 (Fh¥yAACHE) Ri5
[ 5] 81675 jik 18 K 3 (Fh¥yAACHE) RiG
[ 8] 800 F j& K M2 (B 55E) Ri5



[3548)] (  +1.9 m)
108] 3HEA HIKEA 3 Glifnm - £)11. 51
20 5] 18K HER (RMAC-Hx)11.59
3[ 711923 BF 5L #5F 3 (RRIAT-HE)11. 94
41 3] 709%; B A3 (FHERT-#%)12.09
5[ 4] 408 B % — (aERERH-%%)12.36
6[ 2116820 & B K3 (\WTHE-HE)12. 64
70 1161327 M 82 b2 CEdbm-#E) 12, 69
[ 6] 18K K (RMAC-HR) RI5
[37#8) (  +0.5 m)
10 7131801k » A 7&K 2 (JIlndta-#E)12. 02
2[ 1] 8451 H B # 1 GhryrACHE)12. 34
3[ 8] 842K BH HE M2 (Fh*yrACHE)12. 41
41 311920/ B K 3 (BRIAT-5E)12. 46
50 6] 7029 # v L 3 (FEERT-HFE)12.47
6 4]1250% ;U 1H K 3 CRiE_H-5£)12.53
70 211009k 1 H th 3 GEAT-¥E)12.79
[ 5] 7018t » & BE3 (FHERT-HE) Ri5
[394H]) ( +2.0 m)
10 119228k = 2 £ 3 (BAH-#%%)12. 08
2[ 4] 213/ M1 H4 ik 2 CRE_H-5%)12.22
3[ 7110884 i B th 3 (RS- -#5E)12.45
41 8]214675 /£ i A= 3 (Ryi+=h-#x)12. 52
50 6]31671 # Foc2 (lndkE-HE)12.65
6[ 2154044 1 B5 ik 2 (BHILE 5E)12. 67
70 5] 30/hkn E 2z (HERER 12,83
[ 3] 6367 12 B %3 (HEFATHE) Ri5
[41%8) ( +0.8 m)
1[ 5]3590 E-4& HHev 2 (FMmEeE-#%)12.00
2[ 1] 602(L o #& 5L 3 (WEAKT-HE)12.07
3[ 6] 836 K3 (FhryrACHE)12. 43
41 7] 844%E % Fk K 1 (Fh%yAACHE)12.52
5[0 8] 8331 /7 2 2 (Fh¥yrACHE)12.73
6[ 4112400 & 3 (KEdE-%E)12.88
[ 2]1257%& #& Fn & 2 (RAGY-5E) Ri5
[ 3]3530%8 A ik  (HEREH %) RiF
(43%#8] ¢ +1.1  m)
10 5116344 ¢ 3E B 3 (LR %5)12. 51
2[ 8] 137% 16 =7 I 3 CHIEH-H ) 12.60
3[ 2] 4083 M J\ Be 2 (HEFNHT5E)12.75
AL 1] TMR B B A2 (IfRAE-5E)12.77
5[ 6] 380 AF [ Ik 3 (#E = -5E)12.92
6 41 170 & & A2 Qs -5%)12.93
[ 3]35874% & H M 2 (FifE&-%E) Ri5
[ 7]2893ER B} #L H 2 (BRHER-HF) Ri5
[4548) (  +1.9 m)
107] 98FH MW ZER1 (FE=H-57E)12.42
2[ 4] 705 %5 BB 3 (FHERY-HE)12. 61
3[ 3]2243 /7 &  Z23 (INEHF-5E)12. 67
41 6] 1554+ 35 Kl 2 (#ES—H5%)12.83
5[ 17 438 (i & 5L 3 (IIAEZFH#5E)12. 83
6[ 5] 438%n A wE K2 (FEFNG-5E)12. 84
70 8] 81387 M JIl & 3 (Fh%yAACHE)12.87
[ 21317088 B & 2 (ndaE-5F) Ri5

[3648] ( +1.2 m)
1[0 5] 211/8NE RRER 3 (& 47 +)12.06
20 1] 515 2 R 1 UI0LE-HE)12.22
3[ 8] 4664 A YAy 3 (FHRH-£HE)12.28
40 3]  9HLEE B OK3 (BRTH-EE)12. 41
5[0 71202374 #H & 75 2 (% i - B £)12. 51
6[ 6] 8 A — U3 (&MH-HH)13.08
70 4] 8287%% & = ¥H 3 (Fh*yAACHE)13.18
[ 2] 1123276 12 #6 82 (VV=vABEI) Rig
[38#H]) ( +1.2 m)
10 7] 208K sz #hi2 Gifom -5 E)12.16
2[ 81405810 H & A 3 (HfFhim %E)12. 21
3[ 4]12453F H & K 3 B _H-5E)12. 31

41 3] 2622  FE K2 (BEET-HE)12.47
50 6] 7341 W #E3 (I@RAFHE)12.98

6[ 214079/\ ZH & £ 2 (hf¥kid %%)13.09
70 1] 64 F SCHS3 (&HTH-H)13.14
[ 51119548 1O &% %2 3 (+_AHd &%) Ri5

[40%H]) ( +1.4 m)
10 4] 8825 M B5 K2 CRHFfA-#%)12. 37
2[ 8]6127 (LM faARE 3 CGfdbE-#E)12.43
3[ 5] 209<F N RE 41 2 G _H-#5%)12. 51
4[ 6] 38411 A M5 N2 (HE=rf 5E)12.56
5[ 712669%5 A &Ik 2 (HiEH-HE)12.59
6 311921 3 2% 3 (BRA+-#HE)12. 63
70 1] 123% H #COKES 1 (EEYA-5%)12.70
8[ 2214789 Ffn B AN 3 (Ru+t=r-#mx)12.72
[4248] (  +2.4 m)
10 6]19254 K & £ 3 (BRIAH-5E)11.85
20 8] 12k & B2 (HFE-HE)12.26
3[ 1] 4002 H 22 GREFNH-%%)12. 29
41 4]1684F K M B2 (WTAEHE)12.44
5[ 3] 832:= jiE FH & 2 (Fh¥yAACH%E)12.93
6 2] 122k ZhfE2 (&ATH-H)13.23
[ 515405 H #h B 2 BUita 5E) Ri5H
[ 7] 446%% 5L FE 2 (RE & -3 E) Ri5
[44%0]) ( +1.1 m)
10 3]1250%4 A<t K 2 (REdE-5E)12.27
2[ 6] 91T ik # 0>3 (FHEAT-5%)12.37
3[ 5] 1543 K BiA 3 (HES—-F-#%)12.38
41 8] 883 (L A &K 2 (KA -#%%E)12. 66
50 4114144 R EH &3 (KAnt-#5%)12. 70
6 2] 42200 gkt = 3 (JIOfERH-5%E)12. 81
T0 1] 4245 R 0 22 (InEZH-5%)12. 81
[ 71194285 1w A1 2 (RMAT-HE) RiH

(4678] (  -0.1 m)
1081 933/ 1wk 2 (FHEAS-5%)12. 58
20 2] 687K 1L & M 2 OVEIRES-5E)12. 85
3L 7)1 1738 A WE3 (IntFAT4E)12. 86
41 17350415 gk 7 W1 (RREREH-&E5)12.89
5[ 6] 601 J & A3 (RERKT-5E)13.15
60 5] T il 3 (@A R ) 14.12
[ 4] 441K )11 [E A2 (RES-HE) R5
[ 3] 7L &2 Jlpsd-5E) R



[4748]) (
10 611203/~ Ak
20 8] 21246 A
3[ 4] 21/ #
41 7111095 &
5[ 3] 47978 4%

6[ 1] 84387 H JII

7[ 2]6133 1. Ji
[ 5] 4134 K
(49481 (
10 7]1944F |
2[ 5] 71485 K
3[ 4] 43415 15
[ 1]12360
[ 2]1205 )]
[ 3] 578 K
[ 6]1437 /]~ 1%
[ 86135~ |
(51481 (  +1.
10 7J1167)11 [
2[ 1114098 A&

+1.5

-0.2

m)
EORE3 (&2 1T H)12.48
Z B2 (I _d-%E)12. 64
=K GGURHER- #) 12. 98
o A2 (FRE-HE)12.99
A3 (ERF-5E)13.03
1 (FhEyAACHE)13.05
A3 CRdbeE - #5£)13.97
FOK 2 (FEFNT-5E) KI5

m)
FHA 2 (RFAH-5%)12. 63
#LFFF 2 (FHERY-%%)13.03
— 3 (FEFNT-5%)13. 84
okt 3 G 5% %) Ri5
3 (&2 17 )RS
Hi 1= 3 OUHREH-5E) Ri5
WA 2 (Kpod-5E) Ri5
K 2 GRdbaE-#E) Ri5

m)
Mk 2 (InEEAT5E)12. 64
BE gL 3 (KAn-5E)12. 81

3[ 3]11654E A B K 2 (IntEAT%%)12. 85
AL 6] 419 0 @& e 2 JlnmEd-5%)12.85
5[ 8] 435LbBEM &K 3 (FEFNH5E)12.97
6 5] 4114 fE K2 GiEFNd-5%)13.09
T 4] VI3 LA 2 (&RTH-3) 13,98
[ 2161229 1L 1 3% 3 GRdbE -8 E) Rig
[53%8) (  +1.0 m)
1[ 8] 381 % M F2 (HE-F-5%)13.14
2[ 2] 185%E jH 5 3 (HES 1 5%%)13.20
3[ 3] 384fv A 2 R H)13.22
41 6] 192j# H B /E 3 (F-AmEY5E)13. 44
5[ 4146667 BF Ey —  (HEvAf-2HR)13. 54
6 119416 M # th 2 (BREAD-%E)13.60
70 7] 847 F — fit 1 (Fh%yAACHE)13. 81
8[ 5126267 25 fL 3% 3 (Hirh -8B $)14.03
[55%8)] (  +1.0 m)
10 2] 430K F % 13 @FEEms7%)13. 23

20 3] 8855 M
36171 K
41 712671+ 4
5[ 8] 220 A
6[ 4112537 &

FE 2 CRIFfA-#%)13. 24
2 (lnEEk4E)13. 24
Mt B2 (A -8 $)13. 29
Fj 22 2 (B~ d-%%)13. 38
B 22 (lngfh%%)13. 61

70 5] 8464~ K JuiE 1 (Fh¥yAAC%%E)14.00

[ 111166 L J5

[57#8]) (
10 2] 4725 H
20 4] 38214 ik
3[ 7] 23R
41 1] 4371 Ht
5[ 5] 553{F i
6[ 8] 5557 jiE
7[ 3] 7047 K

+2.5

— B 2 (lnkEAH5E) KI5

m)

g 2 (FRAP-5E)13.37
fBEoK2 (ff MR H1)13.40
K—2 GEARF-£E)13.55
TEFH 2 GREFEN+-5%)13. 58
5L BE 2 CRHSET-5E)14.12
& 52 2 (RS ET-5E)14. 27
kit 3 (FHERT-HE)14. 43

81 6] 117371 ki —BB 2 (N LFAT5E) 14. 54

(48%0] (  +1.
10 5] 8747 i%
2[ 4] 831 & 1&
3[ 8] 1024% R%&
4[ 2] 6485
5[ 7] 8534 I
6[ 6] 383th Af
[ 1] 414 8%
[ 3151397 Bf
(5048) (  +1.
10 7] 2154 &
2[ 1] 291350
3[ 4] 40585 A
41 6] 3563% N
5[ 5] 144fh#,
60 8111944 #+

5 m)
K B2 (KIFHH-5£)12. 39
G P 2 (FA%yAAC5E)12. 91
% 2 Corierh-#%)12. 95
st K 2 GREfF-5%)13. 00
KA1 FhrxyrAC5E)13.03
H O 2 FiE=5%)13.18
B N 2 (HEFENH-%E) Ri5
32 (InEEE-%E) Ri5
5 m)
R A3 (& 17 H)12.94
Rt 2 (LE/ET-5%)13.14
% HE 2 GIEFNS-5%)13. 30
B B2 (i -5 E)13. 48
< &3 FEp-5E)13.53
i N 3 (+ZAEF-5%)13.59

[ 215138 =/Afr 1KE 2 (INFER &L Ri5

[ 3] 3554 &

(5248] (  +1.
10 311929/ A
2[ 2112353 H
3[ 11 2934 )1
A[ 511168+ i
5[ 81266011 &F
6[ 6] 852 fif
70 4] 2065 &

[ 711940— #2

(54#8] (  +1.
1[ 3119435 R
2[ 2] 2144 B
3[ 6] 46775 ik
4[ 8] 47142 H
5[ 1]11256#k

6[ 711255%% F
70 5] 45 H
8[ 4] 441 H

(565H] (  +1.
10 3] 61074 £
2[ 7112167 &
3[ 2] 20454 M

Hi 2 (B -H-5HE) RiG

8§ m)
B I 3 (BRIAH-#HE)12. 54
& Bh 3 (R - 5E)12. 82
J)EE2 (ERFEY-5%)12. 92
% 2 (InkEAH-%%)13. 05
H9R2 (HEd- B E)13. 24
MK 1 (Fh¥yAAC5%)13. 44
BE —  CRRbEE- 500 14. 02
IRk 2 (REAH-BTE) Rig

1 m)
Ze k2 (BFAT-%%)12.76
& A= 2 (s - £%) 13. 33
oK 2 GRlfnd-5%)13. 38
ZER2 (HRP-HE)13.48
2 (InERT-%%)13. 60
552 (JInERd-%E)13. 71
O 2 (Il0mEH-5$5)13. 77
2 (lopd-5E)14.18

9 m)
Kb 3 -5 E)13. 14
e 2 (&2 17 H)13.19
2 (e 5E)13.53

40 4] ATTHES ERER 2 (G5 RH-5$)13.72

5[ 6] 17548 &
6[ 5] 2214 #k
70 8] 6441l 1

[ 171237 &

(58#8] (  +2.
1[0 7] 39344 K
2[ 6] 935/ B
3[ 1] 7163 (L
41 4] 6TFE A+
5[ 8126721 )1
6[ 3] 94848 (L

710 211432k )1

[ 5]4437/)~ ¥

B4R 3 (IinkEAH-5%)13. 79
— K2 (B _h5%E)13. 87
KHE 2 GRiff-#%%)14.15
HEE 3 (T E) RIS
1 m)
g2 (ff R H1)13.54
f K 2 (FHERT-%%)13. 68
B 1 2 (FRERY-%E)13.97
kA 2 O\BKREH-5%E) 14. 04
T2 (e -£5E)14. 14
LG 2 (FHERT-%E)14.19
= 2 (kpnd-5E)14. 67
(HR A=A HH) Ri5

o5



[5948] ( +2.0 m)
10 51031 AR Fish 2 GEARH-H%£)13. 51
2[ 6111693 g 00 2 (loEEAD4E)13. 91
3[ 4] MM710 1 %2 (FHERT-%%)13. 92
A4 3] 21880 ¥ IE 2 (BE_H-5¥E)14. 46
5[ 2] 72585 A 5 1E 2 (FHERT-#%)14.53
6 1] 93247 JIl M2 (FHEEY-5E)14. 53
70 8J1172)1 1 & & 2 (InkEAT5E) 14. 87
[ 712679 W 222 (H#Ed -5 E) RiG

N AN
e

1538617 2
2 4706+
3 469570 H
4 6246 H
56184 )1 Ji
6 T4%k 1L
7 1007 H n
8 4533 1 # A

BZ 200m R (Q2548)
[1£#8] ( +0.9
1[0 8] 893 Kk %
2[ 5]62464h H

(V 1

m)
it N 2 GRRF=ARRR) 21. 31
BE A 2 (BERER-5E)21. 51
3[ 111804 = BE Jfk th 4 CEEK-5E)21.55
AL 4] MMTEEE & 1 GAERKE-5TE)21. 62
5[0 6] 100/ H  Ff1 (VI D A)21.70
6[ 714466 K B it K Gt Tt hjutdd) 21. 76
70 2118344 7 fd X3 CEEKX-#£5)21. 86
8[ 3] 2419 & B} (UNITE-%%)21.90

[3#8] (  -0.8 m)
102176867 M % ik 2 CRRERK 7H)21. 96
2[ 6112208 H & & 2 (IlaifivE %E)22. 03
3[ 4147034 » K &4 (WEFKHE)22.57
A[ 5] 4215 &K HE  (JAWS-HE)22. 62
5[ 3]1039 (LM I 3 (k= - Hy £)22. 94
[ 113891/)v [ % A 3 (RREBK-&#E) Ri5H
[ 715289 F A+ JZn fE 4 (HRERA-%h) Ri5
[ 814706+ 5 P 3} 4 (MEFK-HE) RiG
[6#] (  -1.1 m)
10 1M4d I K3 (REm-HE)22.82
2[ 3] 440% H  H£2 (KEmE-57%)22.90
3[ 5]3591 (L o 4 H 2 (BN -5 E)23. 02
41 2]472045 i FHAE 2 (MEFR-5E)23. 14
5[ 8] 445/ FF 22 (KEH-£5%)23.29
[ 4]15273fT sz KES (V 1 D A)Ri5
[ 6112197k M #5 B 2 (IlniivE &%) Rig
[ 7] 2764F #  BE4 (HERK-HE) R

#hE 3 (AR K- E ) 10.64 +0.
P34 (MEFR-5E)10.72 +1.
LB 4 (WMEFR-HE)10. 77 +0.
B AR 2 (BEEERER-HE)10. 81 +1.
& W 2 CRER AR #4)11)10. 88 +1.

F2 3 (CHRRE K - B 5) 10. 89 +0.
D A)10.90 +1.
Greak Throvga Project ) 10, 92 +1.

~N J © OO~ 0 d 0o

[60#8] ( +1.9 m)
10 3]133824  #1 *F (JTF-#&))12. 51

20 2]2237T &= A R %2 (ot -BE)13.32
30 812227)11 B Ha K 3 (Rt # 1) 14.00
40 4] 160 jE B2 HEE-T-5%)14.36
5[ 5] 64977k AR 2 GRififnt-5E)14. 84
60 1126760 B (& A5 2 (Hafep -5 %) 15.18
70 6] 383 #5222 (fh AR H1)15.76

[ 71 20240 )11 %k 2 G5 5 Ri5

(2#8] ¢ -0.6
1[ 6]4695%n H

m)
L4 (MEFRHE)21.74
2[ 7] 283%F B B X 4 (@ERK-#HE))21.93
3[ 5] 245K ¥ A 5 (UNITE-#%)22.07
4[ 4]60521%2 % K FHid 4 (BFEK-£5E)22.17
5[ 81256275 j# #& F 3 CARERA-EH)22.19
6[ 2] 247=H HEH (UNITE %%)22.32
70 3] 85600 fik {7 fk 1 GUrF=Ak-#H) 22. 61
8[ 1162441 41 & 2 (HERK-5E)22. 65
[4%8] ( -2.5 m)
1[0 6]1206/N % K 3 (JlnfivsE-%%)22. 58
20 4] 7952%-72-4 fA 2 (Efm-£5E)22. 76
3[ 8] 4328 M f¥ /A3 (KEH- £%)23.04
40 1] 7685 K KA1 GREsEk-TH)23. 05
50 711126748 1 &t (VW= X HEN) 23. 56
6[ 214015/ & H) K2 (fde-5E)23. 87
70 3152882 B £ & 4 (GHREMK #7)23. 88

[ 6] 668M Jfn-vii} 1 CEERX-&E)Ri5
(6#8] ( 0.0 m)
106] 12588 1 v K GRORREd - 700 22. 47

2[ 411T18KE H 6 K 3 (R M- £)22. 58
3L 72124k 1 ¥t 3 (ffnmm - % %) 22. 97
4 5150224 % b HE 2 (BRUHE-%E)23. 06
5[ 111222  #f 42 (Inthivg5%)23.13
6[ 3] 27 @ 223 (HfiE-5E)23.20
70 2] 7845 M K ¥E 3 (BM&-5%)23. 26
8[ 8J11058 [} =4 (NNC- i) 23. 61



[74#8] (
10 3] 108 &
2[ 511305+ #f
3[ 21468475 £~
4[ 7] 43545 AR

5[ 41447345 H

6[ 614702 L
7[ 8131517k E

-1.3

m)
fdt X 2 (Hifnm -5 ) 22. 69
P K4 (TER-TH)22. 87
et 3 (BReaE-#E)23. 21
WK 3 (R'Em -5 E)23. 26

& Qe Toogt Pojeet i) 23. 39
KB4 (FEFR-HE)23. 39
ol g 3 ks -5 ) 23. 41

[ 1140135 I KA 2 (ks 5 1) Ri5

[9%8] ( 0.0
1[0 5] 1125
2[ 6] 15%
3[ 2] 197/ &
4 31109485 A

m)

& A2 (g %% 22. 88
3 (Gl - # %) 22. 95
20 2 (B g - ¥ ) 23,18
MR2 (LE&E-£%)23.29

5[ 411202 Af & 98 3 (AL 5E)23. 37

6[ 8]25564nAC Kt AR
6141E<F H2F 3 OVl T-5E)24. 38

10 7]
[ 114683 jik

(11481 ¢ -1

10 51171175
2[ 1112144 7
3[ 715015 A
4[ 4]14016/% H
5[ 8140061 74
6[ 6]54391F K
10 31627317 &

[ 216249\

(13#8]1 ¢ -1

1[ 51546544 3
2[ 8]
3[ 3] 42 If
41 6]1205+ =
5[ 1111221 A

6[ 7] 7831k JiE

[ 2] 79311 Wi
[ 41171985 (L

(15481 (-3

1[ 615021 ¥
2[ 7]1240% H
3[ 2] 2133 E

(STAC-T%)23.39

e f1 3 (BRAER-HE) RiF
1 m)
K3 (Rrge-#5%)22.79
E 22 (lomvg-5E)23.09
B2 3 (BRUER-HE)23. 39
JE & 2 (ffls -5 E) 23. 62
vt 3 (ffidts -5 ) 23. 71
m & 3 (WEhA 5E)23. 85
MR 2 (EFRER-HE)24.12
— B3 (BF¥RA-HE) RiF
0 m)
O 8 3 (tERE %) 23. 61

3HE4 MUK 3 GiTAn e - 55 1) 23. 66

I E 3 (R 5 %) 23. 90
K3 (lnfiiE-%E) 24. 05
J iR 3 (e -%E) 24. 35
fi 3 (B - B E)24. 68
B2 (BE -5 E) Rig
B3 (REGE-HE) RS
9 m)
— & 2 (AR UERE5E)23. 96
5 A3 (BB A5 ) 24,12
B3 (& 4T )24.71

41 112881 Eff B AHR 3 (BEHLER-%E) 24. 84

50 8] 7967 H
6[ 3]1249)5 M
[ 4] 5114%& ik
[ 5]3585M K&

(17481 ¢ -1

10 3]56117AK A4
2[ 1]2148%% i

bz A 2 (Ef - 55 %) 24. 88
e P 3 G - %%) 25. 30

P 3 (R La- 5L R FEHE

KOHE 2 (EhR -5 E) RI5
5 m)

5 # 2 (RUN. j p-#%)23. 63

PBF A7 2 (Rat=n) 24. 46

3[ 415489 W & BLEAE 2 (MLERR &E) 24. 61

Al 7]27734 +
5[ 8]3171 7 )]
6[ 5] 436j% K
[ 2] 514/ K
[ 6] 43275

N2 (FRH -5 %) 25. 03
il 42 (llpdes-51%)25. 25
O3 (BEgNd-5%5)25. 25
FA1 I0LaE%E) Ri5
7 92 3 (RIEHNT-5%E) Ri5

(8%8] (  +0.4 m
10 6]1237& Wofk 3 (KEL&E-%%)22. 70
20 2] 17165 J5 8 PE 3 (R -5 )23. 15
30 51123100 55 M A 3 (k1L %5)23. 37
4T 11470705 K e — 3 (HE%k-4E)23. 47
5[ 311238/ F {5 -3 (kEif5E)23. 65
6[ 4170895 (1 ifF 3+ 2 (M- #E)23.90
70 7112455% H  #£ 7 3 (KEIE-%E)23. 99
81 8] 16K 1AES 2 (Hif -5 E)24. 45
(10481 ( -0.4 m)

10 5112574 35 iR ¥ 3 (IR 5E)23. 33
2[ 2J1211 & B — &= 2 (IInmvE-%E) 23. 40

~

3L 7] 22/ B B (ERFEH- #2349
4] 8]50164 & % 3 (R OUEE 5 E) 23. 52
5[0 6]2103%% %L B 2 (e - %) 23. 56

6 3] 15/ Ak 5 J 2 (R KMH-E5E)23. 84
[ 11313948 A 1% B 3 (HEK-HiA) KRG
[ 4] 5344 R T (BRTC-HE)RIG

[1248] ¢  -0.1 m)

102] 1WEE Bdk2 Gifng-#E)23. 63

2[ 6135924 i K OBE 2 (BNFimE- 5% E)23. 85

3[ 5] 296 fH ¥F th (Fv/A—2-1)23. 94

4 8]3178 1L #2 # K2 (0l &%) 24.12

50 4] 701 K 98 (Fh*yAACHE) 24. 51

6 112883 7k K ik 3 (BiSEER5E)24. 94
[ 3] 305fx K — 1 (ASEACHE) RIG
[ 7]12026%k 3£ H 3% 2 Gk & - B £) Ri5

[14#8] (  -2.7 m)

10 314304k J&  fd2 (k- HE)24.01

2[ 6110977k 8k BEBG 3 (ER&E-#E)24.37

3[ 1146977 Iy & K2 (FRAmE HE)24. 69

4[ 2]469674 B B 2 (BRAR-WE)24.71

5[ 8135881 16 4= A 2 (RNFim-%%)25.19

2 6F 35 Y

\

m N A

60 7] 128 A 22 (HfE- 5 E)25. 39
[ 4]5463F jiE = A 3 (MtERA &) Ri5

[ 5] 787%F & i 3 (B 5E) Ri5
[16%8] ( 0.0 m)
10 714051 8% 3+ & #0 2 (EREhiE-5E) 23. 52
2[ 5] 840 KMT BEZA 2 (Fh%yAACHT)24. 32
3[ 814078)% M £k /£ 2 (ifEhis 5E)24. 59
4 4] 515¥ B ®K g1 (InTRE-%5%)24.77
506] 1145)11 & 812 (0E$-5&E)24. 93
6[ 1] 81675 jiE 18 K 3 (Fh¥yAAC4%E)25.02
70 2110902 78 & 3} 3 (B2m-5E)25.24
8[ 3] 81010 A H A 2 (Fh%yAAC43E)25. 55

[18%H]) ( 0.0 m)
1[0 211401 H F %3 (RADH-5E)24. 52
2[ 3J1107T KR #k — Gk 2 (LE®-5E)24. 89
3[ 7116834 & = #2 (WThE-5E)25.44
40 5] 211/ KIRER 3 (&2 47 H)25.47
50 4116820 &+ B K3 (\WTAmE-5E)25.53
6[ 1] 372% A ¥ GRIKRCHE)26. 11
70 8]1240% & & 3 (KElA-%E)26. 44
[ 6] 8357 H & # 2 (FhxyrACHE) Ri5



[1948] (0.2
11 31325078 £
20 5] 8307 j%
3[ 4] 842K [
41 8]468277
5[ 7]12505% Ji
6[ 1]40584 i
70 2] 70Kk
[ 6] 4427 B
[2148) (  +1.4
1[ 6]12548% N
2[ 4]1245%5 H
3[ 2]17304k
41 3121478 F
5[ 8] 4563 |-
60 7] 83371
70 5] 4587 i
8[ 1]1489+ By

(23#8] (  -2.2
10 5] 6484 Hf
2[ 4] 61074 AF
3[ 6] 430K T
40 7] T537% K
5[ 3]2764H ¥

m)

1h g

m)

K By

m)

70 2] 65311 A
(25481 ( +0.7
10 412734k 1%
2[ 6]2740%H %

m)

41 712769/~ #k
5[ 8127111 & K
6[ 2]2772FF %
1[ 3]2762%% Jik

BF 400m £ (1340)

(1#8)
10 5] 245K WE Wl 5§

5[ 2]1M24Em f&F
60 7] 4334F (i Fn R
[ 1118727% i
[ 4113814011 BE KRR

%% 2 (RERRR T 24.

B 2 (Fh*yrACHE) 24.
B2 (Fh¥yRAC5HE) 24,
KR 3 (MRBR-&HE)25.
16 K3 G -5 %) 25.
& A 3 (ifshis- L) 25.
(BRI 26.
i K 2 (ORE - B E) Ri5

RS 2 (it 5E) 25.
B K3 (HE_H-5BE) 26.
e ;e 2 (R B E) 26.
B A3 (Rarf=hHK) 26.
BE A 2 (FiRmbH -5 %) 26.
4 2 (Th¥yAACHE) 26.
= & 2 (R %E) 26.
CRUR Bt ) 27.

so K 2 G- 5 1) 26.
K3 G- &%) 27.
B+ 3 (HEENH-5%)27.
78R 1 (RERT-5E) 29.
BN 2 (HJEP-5T) 30.
60 8] 64974%7K HCAER 2 Gijiifnt- &%) 30.
& A 2 G- 5 %) 33.

B 3 (EEP-5E)23.

23 (B -5mE) 27
3[ 512735 ey b5 1 3 (& -#iE) 27.
— 2 (Fp-5E)28.
N2 (BRP-H%£)29.
2 (BEF-5E) 29,
BE K2 (Bl -5%) 30,

(UNITE-%%)48.
2[ 6]624415 A AR A2 (EFRK-5HE)49.
3[ 3160524« K Fifd 4 (FEK-#HE£)50.
41 8]3225)5 #4 JH 4 (BEK - B 55)50.
(VY= 2451 50.
(ADLER-%%)50.
& 2F 2 CEER B E) Rig
(Accel T8 Riz

44
81
95
33
36
42
10

13
17
19
46
67
16
86
23

94
00
96
01
09
99
09

69
20
03
34
57
16

[2048] ¢ 0.0 m)

10 6112548 & % 2 (REdta-5E) 24
2[ 1] 602(L H  #& L 3 HERKF-HTE)24.
3[ 6]35897E S — FH 2 (EhmmE-%E)24.
41 41266965 A Ik 2 (AEH-HE)25.
5[0 3] 213/ B #h &k 2 o _f-#5E)25.
6[ 213166 4K FEANEA 2 (llndeE-5E)26.
70 811109 & Ui 77 2 (EE& ¥ E)26.
8[ 7127391 ¢ 5 i 3 (H R -5 ) 26.

(2248] (. -1.1
10 4112414 %
2[ 5] 687K (L
3[ 6] 852/ i
41 2] 46775 i
5[ 7] 220% A&
6 8112564

[ 3] 4414 )]

m)
ME FH 3 CHrJE — -5 E) 26.
&= M2 OREHR-5%E) 26.
&K1 (Fh%yAACHE) 27,
oK 2 (B % E) 27.
Fi 22 2 o —d-5E)27.
gl 2 (InERT5E) 28.

(2478 (  -2.2
1[ 313242111 Rf
2[ 8]2660)1 B
3[ 2]2733 = %
4[ 7]2650% Jik
5[ 5] 553 3
6[ 4] 64205 H

m)

12 3 (RERKkRHTE) 24.
B9 2 (A#Ed-5E)27.
B K 3 (BR9 -5 E) 27.
P HE 2 (HEEF -5 E)28.
5L WE 2 (BESET5E)29.
R K 2GR -5 %) 29.

4> O

] PTIRY mm|

1 893 K 2
2 6246 b, H
3 1804 (& B¥
4 T174E #E
5 100% H ooV 1
6 4695F1 H 2 &4 (MEFK-HE)21.
74466 K B fd K Gret Thoough Project i) 21.
818344 1 fi: K3 CEEK-HEE)21.

B N 2 GRAEZ KRB 50 21. 31
e A 2 (BERER -5 5) 21, 51

[24H]
10 2110948 A<
2[ 4162524 IR
3[ 6] 785+ =
41 5] 2937 &
5[ 31184875 &
6 711868 By
7[ 8] 1203 M
[ 1]1869% %

oK 2 (BRE&E-5E)50.
5 B 3 (EFPEA-%E)50.
F w3 (B & - 5 ) 51.
# %2 (Hfim A C)51.
A2 CEEK- E#)51.
fie K2 CEEX-#E)52.
F 13 (lniE-5E)53.

67
14
96
33
81
22
35
53

16
19
50
60
97
45

fit 2 CK'E - J ) R35

51
13
98
59
63
"

+0.
+0.
I 4 CEE K - £ £)21.55 +0.
M 1 (B EKRPL-HE)21.62 +0.
D A)21.70 +0.
74 0.
76 +0.
86 +0.

65
19
37
83
90
47
57

B oF 2 CREX-5T) Ri5

© © OO © © © © ©



(3#8]

10 811861/ #k
2[ 411128 #f
3[ 511121 3
4[ 3] 1978/ K
5[ 6] 435fF A
6 114707 & #F

7[ 711000 K J7
8[ 2] 53K R
[548)

1[ 2] 1853k A
2[ 6112115 %
3[ 7]4057'F H
4[ 3] 4387E %y
5[ 4]4473%¢ EE]
6[ 111222
70 811044 7K JH
[ 5]1205+ =
(7#8]
1[ 2]1086 /7 2
2[ 1154464

i B2 2 (CEEK-#E)50. 91
£ 1 2 (hififg %%)51. 72
%u |3 (hufiifig %E)51. 95
S 2 (BN & - B3 ) 52. 08
WK 3 (KREm-#E)53. 10
* — 3 (MEFK-HE)D3. 43
PEA (SKD-T3£)53. 60
£t 3 (Giifne-#%)57. 43

L2 2 (EEK- ) 52. 83
B2 (JlomveE-5E)53. 32
M 3 GAfFJef-)53. 66
E2 (KReEE-8%E)H3. 88
i) 54. 34

&w» | ‘Dﬂ%

= (il

A2 (JHDﬁﬁ%-iﬁE)M. 67

ik e 3 (i = - B ) 55. 63
K 3 (IlAfiLRE-5E) Ri5

K3 (ERm-FE)b2. 51
g =F 3 (REdhs-5E)54. 01

3[ 3] 461Kk Fisk 3 (5 R -551)54. 49

4[ 716126HT [H

5[ 6] 676%F Ji

6[ 5110354k

7[ 811033/ B
[ 41468845 K

[(948]

10 4]111294% 1

B3 k& e

FK 3 CRAtm -5 %) 54. 69
g S (SO e RR) 55. 89
i 1) 56. 11
fii 23 Ok JF 79 1) 56. 38
e K3 (MHBE T Rig

&K 2 (fivifg 5%E)53. 69

2[ 5]61311&£ 4 R B~ 2 GRdtm -4 %) 54. 51

3[ 3]1097 7k #k
41 214691%0 H
5[ 7161254% Jk
6[ 1146987 K
70 8]61223 7.

[ 6] 798/) %

[1148]

1[0 8]32421L1 s
2[ 5132597 &
3[ 7121495 5k
A[ 4] 6034 F
5[ 6] 191uh H
6[ 3] 6435 i1
70 2] 17% JE
[1348)

1[ 6] 8534 JI|
2[ 7] 5514 =
3[ 2126570 fE
4[ 5] 2144 B
[ 3]16123)1] H

B3 (LREm-&HE)54. 84
e A 3 (MRAm-5E)54. 85
%3 Cidbm - 7 E) 55,17
Al 2 (BRAE-5E)56. 52
N3 G- 551) 58. 46
fE 2 (B &5 5 Ri5

& 3 (REAKR 51E)54.10
%% 2 (WEAKH %%)56.13
Bi gk 2 (Ry+=9-450) 57. 07
7% Fn 3 (HERET &E)57. 37
B3 (FZAmD-5%%)57.55
2% e 3 (REFEAT 5E)58. 17

¥ (RTS-3Hix)1:01.78

1 (Fr¥yAAC5%)1:00. 44

N

P 3 (BHHED5E)1:02.
R 2 (HEr -85 %)1:03.
& A2 G5 %) 1:03.
b5 2 3 Cidir - B 5) Rig

[ 4]6121 Re#t 2.0 3 Gt -5 E) Rig
[ 8] 5540l ba—=2 (BRFEEDHE) Ri5

[4%H]
10 3746844 &
20 5] 4 H

3[ 211236 IRf
4 4]2884H: J
5[ 6]61237% 11
6[ 8]5016 A 1%
T[ 7]4686 5 %

[ 115465

(648]

1[ 8] 42 Iif
2[ 2] 796 H
3[ 4112565 15

40 7] 783 jk

B3 (BB HE)51.52
WE A 3 (Hifnes - 55 1) 52. 64
B K3 (REfm-5E)53. 12
W E 3 (BhsER-4E5)53. 43
B K 3 CRAbm - £ %) 53. 57
B P 3 (BRI 5% %) 53. 72
H ¢ 3 (MRAm-#1E)54. 25
O 4 3 (MtERG 55 Ri5

M E 3 (rRmEET-%%)52. 10
B2 A 2 (Ef s -5 )53, 79
HE A= 3 (IR H -5 %) 54. 50

fifi 3 (5 - 55 %) 54. T1

5[ 1]13577°R%y EAy=F 3 (K& 5 E)54. 74

6[ 5]448871L i
[ 3]4053(1 F
[ 616249\ &

(84

1[ 5]4487Hi I

2[ 41543937 K

3[ 6] 4067

41 3]1254)8 &

5[ 8]3156¢ A

6[ 1151417k Ji

10 7140624 #
[ 2]13373 %% %

(10#8]

1[ 616485111 H

50 Gt Thrag Poject ) 55. 22
# 3 (lifFhim 5% Rig
— B3 (BFRKHE) RiF

ol Gt Tiog njend)) 53. 08
B oE 3 (WEIHA 5E)54. 46
L (7V A4 -H5%E)54. 83
2 (KEdte-%E)56. 67
B K3 (JIlndts-%%)57. 08
B th 2 (IInFEa-5%%)57. 39

i EX 2 (ifkis-%%)1:00. 19

Z5n (JTF-#ME)) R

B OFE 3 EKR-HE)52.53

20 7] 1054k A8 A K 2 CorEH -5 E)56. 92

3[ 51317157 )11
41 2] 26272

5[ 41202544 Ji
6[ 3]46824 i
T[ 8] 83814 Jik

[1248]
1[ 5] 405% B
20 6] 71225 H
3[ 8] 8323 %
41 7]11253F8 +&
5[ 215406t 1&
6 4] 6%k [#]
[ 311415k fE
0N AN

(] [TIANY |

1 245K WE ¥R

fi 45 2 (llndtm-%1)57.75
FE K2 (LREET-5%)57. 92
A FF 2 (k& - & £)58. 43
K #E3 (MRAm- %) 59. 28

B &k 2 (Fh%yAACHE)1:01. 69

#wak (724 5%)55. 31

&2 (FHERT5%)1:00. 82

A2 (FhFyAACEE)1:01. 01

B 2F 2 (InERT-5%)1:03. 06
AR 2 (BWSOEE - 5E)1:04.13

#k A 2 (FrikpERET - 5%)1:07. 02
N3 (REDT-5RT) Rig

B (UNITE-%%)48.69

26244 1 R A2 (BFEFR-HT)49. 20
3 6062~ A FFfc 4 (B £ K - & 1) 50. 03
4 3225)5 @ JE °F- 4 (BE K - BE §5)50. 34

511224 & H
6 1094 5 A
7 A433FF 1L
8 6252 1 Ik

& ¥
K2 (ER& - £)50. 65
5
fE¢ W 3 (BB K- 7 £)50. 79

(VY= 2 #7))50. 57

(ADLER-#%)50.76



BF 800m R (1548)
51[,%7]]1207?; 5%

I Py

22 3 (JIATHE-H5) 1

5[ 2] 91K B
6[ 4] 54/ #k
70 313083# » B %%
8[ 1]17819)11 £ 4% & 2 (BEpK-5%E)2
[3#8]
1[ 511230/ &
2[ 8]12364% I
[ 2]17224k ¥ K BA 3 (Rmge 55 E)2
Al 6] L2NHE &2 GEEHHE?2
5[ 715103 /&  F| J& 1 (BRIUHERF-HE)2
6[ 414057 H P& {3 GifEhisa 5% 2
70 315101 K ¥H B &k 2 (BRUEA 5E) 2
[ 1]468848% A ¥t K3 (FRAR-HE) RiG
[(548]

B A

1[0 4] A3TEARRAT Y X8 3 (IlpfEZH5E)2:01.
:02.
:02.
:02.
:03.
:06.
:07.
8[ 114698%F A jliE 2 (AAF-#HE)2:10.

2[ 7154291 R wE 1 (PRERA T2
3[ 6154314 A #h 3F 3 WELEH HE)2
40 8]3161 1L 0 K3 (ndtmE-&E)2
5[ 315119k & HE 11 (PRFhs T#)2
6[ 516251/ £  FE I 3 (BFEHK-HE)2
70 2]1739k2 2 1 (RE S B E)2

[7#8]
10 7114064 J& H 5% 3 (RANH-5E) 2
2[ 1]6245%8 1 2 (EEREKHE)2
3L 3] W/ # 1H (F7RLABAER) 2
41 8]1723 = HKAF 3 (R 55 E)2
5[ 5] 437/ M A3 (KEmE-HE)2
6[ 6] 23K H Hmiti (+H&SCHN2
[ 2110897 16 £ K3 (LRS- -HE) Xi5
[ 4] 793 A ¥R Z& 3 (IIERET 5E) Ri5
[948]
10 6]2730% =
2[ 8]5488(L O

5[ 413796 B
6[ 2]1253 K R 522 (KELE-HE)2:16
705] 24 M EH (F£SCHEHR2:17

[ 3] 2035 H &3k 3 (K J R-HR) KRi5

:54.
2[ 5] 263 A& #F K4 (HEFK- HR)1:55.
3[ 81721 #F K23 (RFdm -5 %) 1:56.
A[ 6] 2877 [ £ ik 4 (HEKK-#Z)1:56.
(VI D A)1:56.
i3 R HA)1:57.
(b PR -5 £) 1:57.
:06.

1T # 1 (e -5%)2:01.
B K3 (KEm-&E)2:01.
:02.
:02.
:02.
:03.
:03.

:03.
:06.
:07.
:07.
:08.
:09.

K3 (-5 1) 2:06.
2 (MtERE %%)2:07.
3[ 114235%% j& 3w ff 2 CREMA & E)2:09.
40 71172000 % £ 3 (RpEm - E)2:14.
i K2 (RHSREHE)2:16.

68
317
10
14
94
59
96
317

38
92
13
28
36
32
84

84
34
57
57
26
09
66
10

15
88
06
82
11
45

63
08
58
56
29
.98
.22

(2%8]

1[ 2] 7818
2[ 4] 11224 E H
3[ 3] 22/ fE
4 1]1227K K

f& ¥
5 #

70 6] 6155 Sy b=k 3 (PhFhis- TH) 2
8[ 8176974 i
(4%8]
10 3] 444)\ K
2[ 214236 = i
3[ 8] 69[4 R
40 6] 18L%
5[ 515438 5 15
[ 111044 K 4@
[ 41564145 /A
[ 71359347 I
(648]
10 2137948 &
2[ 4] 2484 H
3[ 1] 40k p
41 7171584 g

KA Olntied 5E) 2
tHhar  (EERER- 5 E) 2
ol Ik 3 RELHR-HE)2
ik B3 (R 5 - B ) RiG
AR 1 (IlRmE-5E) Ri5

fi 2 (i & - 5 %) R 35

# 9k

6[ 8] 60mk #  JE
70 61316970 K
[ 3] 6269 M K& 2 (PhEhed T Ri5
(8#H]
10 6] 8617 Hi
2[ 411099 |11 Iif
3[ 2]31564K A
4[ 3]21517% 5t
5[ 5] 372 A #H
6[ 1]3165K 43
70 7] 823 A s%—AR
[ 8117334 Wi i 2 (RFm -3 £) Ri5
[1048]
10 4] 461/ 7

3[ 114009 3
4[ 8]3598%%

[ 311416 K fE
[ 5]11110%% &
[ 61379374 &

N3 (RERH-5E) Ri5
HE & 2 (ERm-HE) Ri5
K= 2 RAIMHE &E) Ri5

B BBk 3 (BN - ) 1:55.
(VYz v AHWAEN)1:56.
(+%S C-Hm)1:57.
oK 2 (Iamig-5%)1:58.
50 715102/ &  H 4 1 (BRICEA %) 1:58.
6[ 514696 X H K & 4 (MEFK-HE)1:59.
:00.
B A7 2 GiER K- 5E)2:01.

KRB 2 (RE®-RE)1:58.
Kol 2 (RERRE HE)2:01.
:02.
:05.
:06.

fdt K 2 (RAMRA %%)2:03.
(UNITE-%%)2:04.
B OER 3 (iRl %%) 2 06.
B S 1 (Pihis- TE) 2:06.
5[ 5]3164= i # /E 2 (lodtE-%E)2:07.
BERER-5E)2:07.
H 2 JIlndteE-5%)2:07.

i E 3 ORFR -5 %) 2:06.
Bk (BRm-5E)2:07.
B K3 (JIlndts-%%)2:07.
RN 2 (Eart=m 55 2:09.
GURHTHR C-5 %) 2:10.
B2 (lndes-#E)2:12.
(5 ERe -5 E)2:13.

{5 %% 2 (FriREk %% 2:10.
2[ 713595H)) i 1% B2 2 (BMERE-&E)2:10.
HE 3 (fndts - HE)2:11.
PR A 2k 2 (BNm&-HE)2:13.
5[ 2]5403 1 bAs #hifE 2 (BWHOLR 4E)2:16.

60
69
03
32
10
03
18
82

98
00
10
12
39

57
96
92
93
28
59
91

94
66
13
07
99
24
09

08
32
18
68
94



(1148]

10 5] 818% i
2[ 411091 4 45
3[ 2] 5134 4
4[ 11400248 A
5[ 7] 20137 JF
6 31289244 Hh
70 8] 203K Hi
[ 6111084 45

(13#8]

10 411208 7
2[ 3] 607P8 A
3[ 2] 9K
4[ 8] 608K 7

4= 2 (FRAICHET-5%)2:10.10
fit 23 (LRm-HE)2:11.68
it s 2 U0 Te-5 %) 2:14. 61
K3 (e %%)2:17. 05
i 2 O 5 E)2:19. 45
R 2 (RS TR 5%)2:21.08
B A€ 2 CHrE_ -5 %)2:34. 14
KK 2 (LRm-HE) Rig

A2 (&2 11 H)2:18.54
& K 3 CRffnp-5£) 2:20. 82
B N2 (Indd-5E)2:27. 51
72 3 (Rifff-5%)2:36. 34
5[ 5] 955H A — & 2 (BRAHET-5E)2:44. 66
[ 6] 64685 A F& B 2 CGRRfI-&E) Ri5
[ 7] 64582 N F=E 2 GRlifid -5 %) Ri5
[1548)
1[ 8]2651 7 J&
2[ 3]2765%k (L
3[ 212774+ #¢

A2 (Bt -5E)2:36. 80
PR32 (HRH-5%)2:38.73
R 2 (e leip - 55 5)2:42. 07
AL 6] 1743 Mg St v 2 (JIEF - #5)2:46.28
50 7] 1580 ik #& P 2 (FI&E%—15%)3:00. 04
[ 4]2897H % %2 BEFER HE) Rig
[ 51125011 #ic — M 2 (IngRT-5E) Ri5

BF 1500m HRE 0140

(1#8]

10 2] 37T o g (QUrEifilER 55) 3:56. 44
2[ 5]1207+ ¥ 223 (IlAs-5%)3:59. 81
3[ 1]5108%n M % 2 (ARUHH%E)4:00.20
AT11] 7818 b % 3 (-8 5)4:03. 22
5[ 8]31632 B ®¢ i 3 (Ilndtsm-%%)4:03.40
6[17]16247 =45 i & 2 (EFkA-5E)4:04. 64
70 911209/ o {£ 7% 3 (IIRMLE %E)4:04. 76
8[ 6]12084F [l 3k #Acd 3 (IIAMivE %) 4:04. 76
9[ 7]12272R A % K 2 (IR -4%%)4:05.50
10[14]1510448 1 4% °F 3 (BRI 5%)4:06. 63
110161 68/ AF B (Al 55)4:07. 74
12[22]5642% M 42 fn 1 (IIAfLE-5%)4:08. 96

[1248]

10 4] 8841l 1 7 BE 2 ORI -5 E)2:08. 50
20 2]2803 2% By #: H 2 (Bl&LER-%5%)2:10.26
3L 7111883 (i & # 3 (+AHT-%%)2:16. 34
40 5J1106 Rk Lzdh 2 (LR -BE)2:16. 56
5[ 8] 8144L)Il #EHE 3 (Fh%yAACHE)2:25. 91
60 3] 823v& Il 1w W 2 (BRIHP-5E)2:32. 33

[ 614068 T+ & 2 (WfEhis - 5%) Ri5

(1458)

1[0 3] 456 I
2[ 61120977 H
3[ 4] 55171 =
41 5] 38611 S
5[0 8] 819l Ik}
6[ 7] 206 = L
[ 2] 8227 H

4N AN
e 3

11207
2 263K Ff
3 181
41721 1 #F
511224 & H
6 287 F [
7 91K ¥
8 22/ ik

B =) 2 (FREWT-%%)2:16.15
miEg2 (& 17 1)2:23.22
P 3 (RHSET 5E)2:26. 28
A2 (R $)2:34.91
i A 2 (BRWCHT-55)2:37.13
RIFL(KJR-HER)2:39. 42
KR 2 (BRIGE-5HE) Ri5

72 3 (JIIAmAiE-HE)1:54. 68
&K 4 (BE2BER - Hx) 1:55. 37
JEt Bk 3 ([ = - #y ) 1:55. 60
KFE3 (B - £)1:56.10
&S (Lyzy A #%)1)1:56. 69
ik 4 (BEFK-#&)1)1:56. 74
BA (V I D A)1:56.94
BB (+4SC-#Hm)1:57.03

13[15151055% {8 K 2 (B (Ha- &%) 4:09.27
14[12]15106 11 A+ 4% 5 1 (BRUEE5%)4:09. 53
15[ 4123401 1 ®H H  (BRAAC-%E)4:10. 45
16 (1314701 8 (FEAEE 4 (MEFK-HE)4:13. 21
17020146904 11 & &3 (BRAE -#HE)4:14.26
18[2114699L i i % 2 (FRAR-HE)4:14.59
19[23]5646 5 7. 1% & 1 (Il0ifivig-%%)4:15. 71
20 3]160935F A 1E th 2 (MEFA-HE)4:16.54
21[18146924% A B K4 (MEFK-$E)4:28.35
2201914689+ &  H 3 (ARAER-%E)4:28.89
[10] 14140 11 — B 3 (UHHEE-5E) Ri5



(2%8]

1012] 79900 f A2 K 2 (B - 5 F) 4:
BE)4:
3[15]1228 1 &  #h #8f 2 (Il0Hivs -%E) 4:
4[2513152 % B2 3 (lolE-HE)4:
£ N3 (RKIFE-HE)4:
TR 1 (IoHvE-5E)4:
B2 N3 (MEFRHE4:
A1 (lntiszg %) 4:
(IO %E) 4
g 2 (Iniizg-5E)4:

¥ 3 RELKRFHE)4:
& 3 (TRmER-%E) 4.
KA 2 RElhs-%E)4:

20 2] 7824 v ¥ H.3 (BE-

5[ 6] 12HT H
61411230/ &
70 4147115 B
8[ 115643
9[11] 7450 jE
10[ 711226 R
111715436/~ (L
12[23] 46/ #F
13[20] 543740 i

[3#8])

10 6] 444\ K
20 11316114 1
3[14] 141675 2
4[ 3] 790%& H
5[ 91316914 KR
6[17] 2121l KN

SN

701011279)11 W i (REESRHR-5E)4:
8[19] 607PVjik (KRR 3 CRiffH-5iE)4:
9l12] 1/ # 7 UFIRLHERER) 4

10[ 5]2882/ %
11[22] 3789+ H
12[20] 867 =F

(4%8]

10 5]3173M #F i K2 (IlndteE-5HE)4:
2[ 4114158745 FERER 2 CIEHEE BHE)4:
3[ 213794 A fiE K2 RRHERHE)4:

2 (RANER-HE)4:

%2 (WThE it 4.
— ¥E 3 (REFRAHE)4:
A2 (lnlE &%) 4:
smdE 2 JlndE-5%E) 4.
(A0E TR 5E) 4

2 (BEREA-HE)4:
f& B2 2 (B R - E)4:
k2 (ERE-#E)4:
HE3 (R )4

41 61379555 JI|
5[ 811685 JI|
6[12]3241 4 &
702313164%= H
8[ 713172H &
9[25] 1M1 KA KRR
10[15] 624548 1
110 1135954 &
12207 1099 (L1 1RF
13[14] 392 52
[548)

1[ 115108 5 1
2[ 3] 251t 4
3[ 71526142 K

5[ 4119244 &
6[22] 281 A H
701013165k &
8[ 8110914 &
9[19] 1613F &2
10[1211098 Kk %
11[20] 546141 &

KA 2 (REE-HE)4:
R 3 JIlnkE-HE)4:
KW 2 CiEmEs %54
o 3 (B E) 4
H2 JlndtE-%E)4:
b5 3 (K J R-Hn0)4:

O3 (R ER-5E)4:
& 3 (RHBHE 55 4:
Bk 3 (KAC-HE)4:

BN (ARG T 4:
B3 (JInEZE-5E)4:
4 3 (RLBEESE) 4
4[ 513584 b Bl A 2 (ENfEE -5 E)4:

B3 (RHAT-HE)4:
WO\ 3 (RRET-5E)4:
B2 (IlndsE- k) 4:
i3 (EREE-HBE)4:
B2 A 3 (InkEAh5E)4:
ks (EEE-HE)4:
K% 3 (tEEE5E) 4

12.
14.
16.
16.
17.
17.
19.
20.
20.
20.
21.
23.
23.

17.
17.
21.
21.
22.
23.
23.
25.
25.
26.
26.
26.

19.
19.
20.
22.
24.
25.
25.
26.
29.
29.
29.
29.
33.

25.
25.
21.
29.
30.
32.
36.
36.
37.
38.
38.

25
59
34
97
63
14
98
20
42
51
11
31
83

14
23
49
62
65
55
11
54
87
08
54
69

18
80
14
92
12
39
87
47
26
47
56
66
82

29
99
55
19
83
32
09
95
96
07
66

14[ 512783 — &=
15[ 8] 1411 & &
16 [19] 1048 i ji&
17[21] 794%8 N
18[ 9] 51074 J
19[1814074 H
20[ 311255+ 1%

1B bR 55 4.
3= K3 (VHFER-HE)4:
7’ %2 (e - 54
Hi 2 2 (Bl E-HE)4:
w1 (BRER 5 E) 4
2 (FiEhis 55 4.
F 2 Relke-w54:
21[24] 40K PR H EA 3 (rRpET-%5E)4:

[10] 1% R K4 EEH70CEE) RiG

[13] 56450 ==K 1 (II0ME-HE) Ri5

[16] 6251 5% 4 FE It 3 (EEHRK-HTE) Rig

[22] 564445 7k ¥R K 1 (II0HLE-HE) Ri%

13[16] 15%¢ #
14[18] 437% H
15[11] 1087 H
16 (231262412 1F
17[21]2898 % 4
18[ 7]408344 K

[ 2]548185 K

[ 4]5641 4% /A

Ak A 2 (FOtEERRE 5 Ri5
K1 (IIAmiE-5E) Ri5
[ 811089 1 1 K3 (LEm-HE) RiG
(131122942 B2 & Jr 2 (IAfivE-HE) Ri5
[15] 203tk H &Ik 3 (K J R+ HH) Ri5

14[ 315109 £ #4161 (BRIUHERF-HE)4:
15[22]3162 10 A K3 (i@ -#%E)4:
160 9] 202 K2 (K JR-HR)4:
17[24] 15274 M P2 th 3 (SRS 5E) 4
18[16]12514: + 2 (KEdLE-HE)4:
19[11]3258 K46 =28 3 (BEAKRE -HE)4:

21 [13]1 31544 & & X3 (IlndE &%) 4:
22211104985 K & 2 (Gt = - B £)4:
(10154667548 KkEH 3 (FtERE %% Ki5
(18135934 JII  féh 2 (Ehmm-5E) Ri5
(1913597 AR &% A #f 2 (Ehmm- &%) Ki5

120 2] 5% 1 #k2
13[11] 700M0 % = ¥4 3
14[15]1252 %, (L1 K #1 2
15018] 100 ik A3
16[14] 1325
17017146875 B
18131192875 7k
[ 6]21058% A ¥R A 2 (A - F) Ri5
[911110R A& BEE 2 (LE&-BE) RIS
[16] 40764~ K FEEL 2 (FEkE -5 E) Ri5
[21]379378 & 15 &= 2 (RAWERHF) Ri5

25.
26.
2].
28.
30.
32.
35.
38.

1% 4% 3 (FriRpERET -5 %) 4:26.
A3 (RE R ) 4:32.
TR 3 (RIFRR-#i%)4:32.
b 3 (HiErh - fr 1) 4:32.
R 2 (BlELER-%E)4:40.
TR 2 (RfEhis - %E) 4:44.

35.
35.
35.
36.
37.
39.
20 [17]40724k iy A b 2 (iifihes -5 %) 4161,
96.
99.

(FrikmlE -5 5) 41 39.
(LA 5 5) 4 40.
(RE R -5 E)4:44.
(EHTH - HOR0) 4:47.
Bk 2 (R 1) 4147,
M3 (BRHER %) 4:47.

A3 (BRAT-5E)4:49.

17
67
47
13
65
58
54
93

A
09
69
87
90
14

45
46
12
44
64
05
63
97
25

05
59
62
15
53
63
07



(648]
10 716124%% W 4 B3 CRALm -5 ) 4:
20 91548810 1 A 2 (RLEEA-HD)4A:

3L 6]2151 8k ot K| 2 (Rait=if 5 4:
K 2 (e 55 4:
5017] 7064 A K FH 3 (rEis &%) 4:
ML 3 CRBDH-Hi %) 4:
2 (Fh%yXAC-HE)4:
71 % 3 (LEMET 5E)4:
e 52 G- By ) 4:

A3 (ME=F-5E)4:
OAdem &%) 4:
B3 (B4

4[ 5]5263 5% & )l

6[ 2114127k %
7[24] 80645 il |5 &
8[16] 702%% H
9[ 8] 1014 i
10[14] 376 Kk fE
11[22]316848 H ) 3L 2
12[ 3] 3754 1L

[7#8]

1[ 8]3598%%
2[12] 513 4
3[13]14125 1%
41 2] 2014 #
5[17] 216%& A
6[ 91315940 4
7[14]11261% 1
8[ 4]4063 E I
9[15] 607(9 A&
100 311191 32
11[18] 139K H
12[2171947 )11 #F

[8#H]

10 1] 1034 K
2[ 91316075 Jit
3[ 5] 21644 i
41 21141848 F:
5[10] 132K 15
6131143348 Ht
70161 1074 A&
814112414 ji%
9[15] 1001 A&
10[12] 48%E [
11024] T13% I
1207 9k + )&

[(94H]
10 611208 5
2[19] 740%4 3
3[ 8] 2963 JI|
41 2]

B & 2 (Whghke

B 72 2 GRIE—

ME 33 ChiE

6[21] 6055 (i ¥l K2 (RERKPHE)S
TL 11144136 K %P2 (REDH-5E)D
80 5] 104kfa & BB 2 (EAH-HE)D
9[13] 9473 Mm% FRZ2 2 (FHfEHT-HE)S
100 4] Tk BEAR 2 LAt 55) 5
11023] 17T % Foff2 JIRgd-HE)5

120 7114317 H H—81 2 (RAERf-5E)5:

Bk A cb 2 (BENfEE-5E)4:
ik 2 JIDTE-BE)4:
B b3 CIEdEs- 5T 4
FEIR 2 (K] R-HR)4:
PRAT3 (& 17 )4
B H3 (IndE - HE)4:
B e 2 (RRGH-5E)4:
BE)4:
%K 3 (R -%%)4:
K3 (FCAER-5E) 4
2R 3 -5 ) 4:
B ME2 (BRREIAT-5E)4:

2 GOt -£55E)4:
HAE S (llndeE -5 E) 4
heE) 4
JE &2 CIEHEE-5E)4:
B3 (e 4

2 (REpoH-5E)4:

K2 CGHEEF-£5E)4:
heE) 4
HEth 2 CHrEH-E ) 4!
R 2 (InEd-E) 4
A2 CIEHET-5%) 4
— 2 (FiRmET-5%) 4

i (&2 17 4
bi v 2 (IRAR-BE)4:
1 A2 (EEAP-5HE)4:
TN B A2 (JIIDEH-HE)4:
5[16] 468%r St KB 3 (F R -HE)4:

33.
34.
35.
36.
38.
39.
41.
41.
41.
42.
43.
43.

34.
39.
39.
46.
47.
48.
48.
49.
49.
50.
52.
94.

36.
45.
47.
48.
50.
51,
92.
94.
99.
96.
96.
57.

93.
96.
97.
57.
99.
:00.
:02.
:03.
:04.
:06.
:07.
12.

92
09
21
97
08
88
08
10
49
90
08
53

44
13
817
23
02
2]
40
41
92
13
52
28

93
81
40
16
12
16
45
36
60
17
85
14

31
60
17
93
55
85
15
82
02
13
97
43

13[19] 1415017 8 K3 e - -5E)4:46.
T4TI5] 1M TEE B 6 K 2 CLigEs &%) 4:417.
1501071258 (LA P ARHR 2 (KEE -5 k)4:48.
(GEAT-BT)4:51.

& 2 (FrRER-%%)4:53.
B A 3 (KJR-HR)4:56.
19[20] 1106 K& L2 Bh 2 (FRE-5%E)4:509.

16[21] 152 B Z2{=2
17[18] 121 M
18[ 4] 209 I B

[ 1]358374 % 1A Ay 2 (EhifmE- -3 E) Rig
(11111084 & 1% K2 (LE&-BE) RiG
(1213176 F% 2 &2 JlodtE 5% Ri5
[13] 17T/ %k 4 & 3 (InEEAT5E) Ri5
[23] 1067 FH & & 2 GHEH -5 1) Ri5

130 113174 &
14[16] 2013 #
15[19] 1256 3¢ &=

i 2 (B

1701115469+ B % A7 3 (MtERA
18[20] 421/ 1 Fk A 2 (II0fEFH-5E)5
19[ 514060°K /& i 2 (Efdhis-#E)5:
20[23] 2074 ~» K 1 (KJR-HH)5:
21[ 71445278 KB (F-L%ME-EH) 5

[ 614068 F+36 43 2 (hfishis &%) Ri5

[10]1445 5 M F 2 (kAN -5E) Ri5G

130 4] 141388 WA Mt o2 3 (VAHER-%E)4:
14[17]26273 H {83 (HEP-HE)D
15[21]1238)11 = B A4 3 CRE -5 %)5
16[11] 148 Hth 3 GEAP-5HE)D
170 6] 43118k BF  4£ 3} 3 (FEFNF-5E)5
18[23] 253%H1FPE PN 3 (InEHF-5E)5
19[1811419/s A& B 1 CifhiER-%%)5:
200221 1% k2 (REEHE)S:

22[ 8] MM E @ i k2 (FREET-HE)5
[ 3] 8477 s SKER (IOl &%) Ri5
[19] 608K v 22 3 (RiifiH- 5% Ri5

13[12] 946% = B2 (FEEEY-#E)5:
14[20]1209%] |11 Fn i 2 (%2 17 H)b:
15[11] 937 K1 3E & 2 (FEHERT-HE)S:
16[10] 921 %% ¥ BE ¥ 3 (FHEAF-HE)5:
17015] 2584 H B 1 (IAERT-HE)5:
18 [22] 14T 4T FBiER  (Fivas-21H)5:
190 3] 40445 Hh  FEBE 2 CGREENT-5E)5:
20(18] 7Ty idy w22 (rREET-5HE)5:

[ 9] NT&ALR KHE S (FHERY &F) Ri5

[1413042)1] |5 1E K (FERER HE) Ri5H

(1711233 (F+H0A ANEE 3 (B -5 E) Ri5

B A2 (llndtsE-5E) 4:56.
Hek5E) 4:57.
ZA2 KEke 55457
16[22] 208 & R fE3 (K J R-#)4:57.
%) 4:57.
:03.
18.
22.
44,

59.
:00.
:00.
:06.
:07.
:09.
14.
37.
21[20] 130~ K 12K 2 (FifEs B E)5:41.
:46.

14.
17.
18.
18.
22.
23.
33.
39.

60
11
35
68
49
20
55

21
15
33
45
55
28
19
58
36

33
14
96
10
06
90
06
67
93
17

68
90
22
62
18
12
35
07



[10%8)

10 2128964k ¢ 5% 7= 2 (WthtEf 5%E)4:58. 32
2[ 1] 203K H E € 2 CBrE - #%)5:02. 60
3[ 5] b2~ R, HEE 2 (hfHEd %%)5:03. 82
4[10] 6102  fr K2 (WEAET-#5%)5:04.01
501519484 M < ik 2 (BMAH -#E)5:05. 23
6[ 6]1214K % HE M2 (& 17 H)5:05.69
70 7] 35947 H 3= k2 (W@ =% %)5:06. 43
8[ 9] 606 (LI} JFAHS 2 (BEARD %E)5:07. 57
9[18]1950 7k & =2 (BEAH -%%E)5:09.77
100 3] 1045+ %= =} 2 CGHrEth-#%E)5:10. 49
11[2112666/5% )11 Kk 2 (B -£5%)5:12. 28

(1148])
10221265141 & 22402 (HiEP-HE)5:16.19

20 6] 228w — 2 (EAH-5%)5:21.48
3[ 3]19497 L & 2 (RRAH-5E)5:26. 41
4L 6] 164 I #fE M 2 GEARH-5%)5:29. 05
5[ 7] 939~ = 72 (FH#EAT-5%)5:34.47

6[ 1] 298I % BL&E 2 (LEMF-#%)5:38.76
7[20] 20K Bft 4 K2 GEARH-HE)5:44.06
8[12] 25/L1H BEF K 2 (EAH-HE)b:44. 82
9[14] 955 AF — E 2 (ERAHEH-%E)5:45. 62
10[21] 19& & B K52 (EAH-5%)5:45.93
11[1514059 1 k5% Ay 2 (fehis-5%) 5:45. 96

4 AN
i 3

1 370 Y (SnrEdilk5E)3:56. 44
212077 ¥ 223 (IlnmiE-&E)3:59. 81
35108Fn M 2 (FRXHE&5HE)4:00.20
4 7813t k3 (B - 5 £)4:03.22
531532 ¥ W 3 (JIlAdbs -5 %)4:03. 40
6 6247 = %2 il & 2 (BEFEFEK-5E)4:04. 64
71200/ & (223 (IOiviE-5%)4:04. 76
8 12084+ ]  Fx A 3 (IO ig-%E)4:04.76

BF 3000m REGH)
[1#8]

10 4]5108Fn WM % 2 (FR{UHEH %%)8:36. 45
2[ 1] 61557 EF db=) 3 (Phihia T%)8:46. 68
3[ 9156427 M P& Fn 1 (IIAiviE &%) 8:53. 03
41141510448 10 % 3 (BRUHE %%)8:53. 11
5018] 35 M FI  (WERERELDE) 8:53. 67
6[ 615111 K 7% K3 (ARHE %%)8:54. 39
7016]1208%F [ 3% # 3 (JIlniveE-%%)8:58. 09
8[26] 68 A Bk =f (kR %%)8:58. 96
9[13]5106 [ #F 1% B 1 (R CHA-%%)8:58. 97
10[25] 824/ BE=Z 4 3 (Fh%yAACH%E)8:59. 37
1[0 2] 616)I1 & 15 F] 3 (he¥ha-T4)8:59. 93
12[22]1 31532 B 3 (IlndL@-#%%)9:01. 64
13[ 3] 618RF 1 & th 3 (ks T#)9:06. 35
14[ 8] 628Kk EL.L=F 2 (heihs-T8)9:10. 62

1216126594 (11
13[ 4110056 M
142211252/
15[ 8] 14351 &
16[11] 65 &5
17019119304 H

M 2 (A -#E)5:12. 54
BE £ 3 (GEARH-£5%)5:19. 96
B2 (Ingah-5%)5:21. 48
oK 2 (KpanH-5E)5:21.74
5O 2 (JUBRRH-5%)5:23. 52
AR b3 (RREIAH-HE)5:25. 26
18[13] 423t K {152 (InfEZ$ 4%%)5:26. 56
19014] T84 B # 42 3 (IHAHET-5%)5:30. 67
[12] 4694 2 K #EFH 2 (F R -55E) Ri5
[17] 29945 K ¥R H 2 (LEFET -5 F) Ri5
[20] 645 2N SEE 2 GRIfIH-5E) Ri5

120 9] 941%% v 3 2 (FREEF-5%)5:46. 59
13[ 4] 381R  5E F2 (f R )5:46.89
14[ 8] 940#k Jii 2 (FHEAD-%E)5:46. 90
15[1812629 4. A %3 (Hith-#¥E)5:52. 68
161311246 5 #& 72 28 3 (B - £%)5:59. 63
[ 2]19517Fi ¥ & 47 2 (RREIAT -5 E) Ri5
[10] 8804k & 1f 91 2 (KHHH-HE) Ri5
(11112434 B 1= %2 3 (B —d -5 E) Ri5
[16]1251)11 s — #E 2 (I0EHT-5F) RIS
[17] 390/ H ¥R A2 (fh AR H)RIH
(1911170 K fE 1% 82 2 (llp L&A 5F) Ri5

15[2114237 = 4F 7&K 2 (KEHE-%%)9:12.52
16[11] 624/ M 2 K 2 (he#ka-TE)9:14. 55
17[27]15646 5 71 1% & 1 (Il0fvE-5%£)9:17. 32
18[10] 6177 P8 i Av 3 (k- T4)9:18. 08
19[28] 437HAEATY L83 (INfEZH-%%)9:18. 48
20[24] 60w &  HE (R ERER-5E)9:20. 41
21 (15151055 ¢ f& K 2 (FRUEE %%)9:23.03
22 515110— / #f 18K 3 (FR A %E)9:24. 34
23 [19] 4701 E 87 (FFEABE 4 (MEFK-5%)9:29. 44
241717912/ NEFg BRAS 1 (kZhid- T4)9:31. 06
25[12] 62574 & Ot A 2 (hhihiE-T3)9:31. 28
[ 7142327 #  BE3 (KEHE -H ) RiH
[20] 7285 K #hidlH (IOWER ) Ri5
[23] 6269 W i & 2 (hedha TH) Ki5



[248]

1[14]6247 = %=
20 11 73/~ #f
3[12] 1228 1 &
4119] 7990 ji
5[2313789 [
6[11]35517 F
7[ 5]4690%% (L
8[ 2]2783 " =
9[ 4]1255 i3
10[25] 543740 i

fil] & 2 (EFEHKA-HE)9:06. 06
Wi oA (IlaikER -5 %) 9:06. 08
oA 2 (llpmvgE-5E)9:14.72
fie K2 (B&E-#%5)9:14. 96
& 3 (RBERA-%%)9:20. T
Bl (77vh704%)9:21.90
B R3 (FERAE-5E)9:22.23
15 (EmbER-5%)9:23. 90
2l 2 (KElE-5%)9:24. 89
KA 2 RElhR-%%)9:26. 82
11[20] 7824 v g H 3 (BN -$%E)9:27.70
12[22]3152 %% B4 3 (0d@E -#%)9:29. 84
13[10] 60087 & I =} 1 (hhFhiE-T3)9:31. 31
14[18] 28820 & 7 %E 3 (B ER-%%)9:34. 09
[3#H]
1091 38k H
2[18]3173H #+
3[ 613241 %8
41 1] 731K H
5[ 8] 251t 4
6[16]3795%% )l
70 4] 21210 KN
8[19]5461+H
9[14]3172H
10[17] 2054 A<

BEH (RETO-#)9:28.49
g oK 2 JRdm-5%)9:32. 74
— fE 3 (REAEE 5E)9:40. 38
B M 2 (huhEpis- TE)9:41. 60
B3 (ks %%)9:49. 50
2 (BREHE%%)9:54.90
B 3 (K J R-#30)9:57. 06
K 3 (MtEER%%)10:03. 13
el 2 (o #%%)10:03. 45
b2 % 2 (K J R-#¥x)10:06. 56
1101214074 W 52 Fn 2 GEfebia-%%) 10:06. 90
12[2574239 8 5 R0 ffE 1 (KEH&E-£%)10:09. 15
13[1314231 K& 24 3 (KE#E-£%)10:12. 53
141111 39290 A 3 (b B H1)10:12.65
[448]
101612557 J =2 72 3 (MATEE 5%)9:53. 11
20 7] 76 H B (oG- 5%)9:54. 02
3[ 51511288 A # 2 (BRIUAE %E)9:54.98
4[ 1] 609PNFE f@tkHD 3 (GRUifid-%%)9:55. 02
5[ 4] 2021 #RAKER 2 (K J R-#5)9:55.20
6[22]112514 + By 2 (KEIRE-%%)10:03.19
70 314233 K & HFH 2 (KEHE-%TE)10:06. 75
8[10] 2014 Hf =ik 2 (KJR-H#)10:09. 16
9[26]17247% 1 W& #H 3 (REm-#%)10:13.86
10013] 12w A F& 2 (FrREkEd-%%)10:16. 39
11[23]1252% (L1 K #H 2 (KElLmE-5%)10:17.55
12[12]84277% Iy B —  CRAbEd- 50 10:19. 28
130 9114127k B9 4 B2 3 (RAQH-5%)10:22. 97

15[27] 79448 0 &Hi 2 2 (BE-5H%E)9:
16 [13] 5643 %5 4t & 4 1 (IIAHE-5E)9:
170 9] 623)11 A £/ #F 2 (Phim- )9
18[24] 158 1% 24 3 (rREET-%%)9
190 3] 62THIH:-H Z248 2 (TRERA-TH9
20(21] 46H A & W3 (FrREET-%E)9
21 [17] 7904 W & 523 (B -5HE)9:
22[ 714234/ FK BG AR 2 (RERE-BE)9:
232611257 J1|

[ 6] 67 RHYE BB OlnfikE &%) Ri5
[ 8] 6297 3 i K2 (PhEhs TH Ri5
[15] 56458 =2 KB 1 (IIATiE-FE) Ri%
(28] 564442 7k R K 1 (IATiE &E) Rig

151518255 )1 E2MEAR 1 (hdbis- T3)10:22.
5ORF 3 (BRHERE-5E)10:24.
17[2014070 7 #F £ A7 2 (ff#his-5%) 10:26.
18[ 7]1098 K &% {F f% 3 (LEm-#£)10:29.
19[ 513258 %%#K &2 Bh 3 (WEAKA %%)10:31.
1 (REHEE %E)10:36.
B 5%)10:43.

%2 (R %%)10:45.
1 2 (HNEm-#%)10:51.
B3 (o %E) 11:36.
¥R 2 (HfFhiE-%E) 11:54.

16[28]3790 — &

20[24]4238 % 2
21[22]40724k Wy A&t 2 (ifsd:
22[10] 53 &
23231358374 &
24 (271 31544 4
25211407145 [
[ 2]12294% )2
[ 3] 231& %
[26] 1048 il ji&

ok

O
e

2 (i 5E) Rig
3 (HERER 8E) Ri5
2 (ks - B £) Ri5

¥ R
W=

14718] 408 H
15[17] 2164& A
16[ 21548185 &

21[24] 4687 5k B
22[ 6] 21644 jifi
23[11] 806 fi
24[25] 4554x B
(1413176 3% #%
[20] 12381 =

w2 (it &5 Rig
b5 2 3 CBriE -5 ) Ri5

J\ G 2 (REFMF-#%%)10:23.
P47 3 (&2 47 H)10:24.
Ak N 2 (tERR-5%)10:28.
17021711258 (LA P&EKER 2 (REdheE-5%)10:34.
18[ 8120924 ik fih 8 2 (RHMA %%)10:36.
19019] 2043 A #AH 2 (K J R-H5)10:37.
20 [15] 2554 F K ER=F 3 (BiAT -5 %) 10:43.
e 3 (BRBE-5E)10:45.
T 72 2 (B b 5%)10:45.
By 5% 2 (Fh¥yAAC5E)10:47.
Oy 2 (FrRmpH-5E)10:57.

36.75
38. 81
:42.92
:43. 15
:44.05
:47.37
51.46
57.91
BE K1 (hshim- 74 10:02.
24[16] 62275 M K Fn 2 (hRifbis- 75 10:25.

57
84

44
81
86
15
49
A
16
38
04
26
22

51
20
97
47
15
66
44
21
92
62
58



[54H]
1[21] 3548 # &
2[11]4017 = 5% A 2 (fdtem-
3[13]1316075 it 1f &
4[12]13159% & & &
5[16] 6055 (L & K
6[ 4]3168% H

70 1] 8631 %
8[ 8] 132)K
9[ 3] 823 K A
10[ 2]11256°F &
110 5131741k &5
120 9] 132K &

D AN
e A

15108F0 W 5% 2 (MR- £1)8:36. 45
2 6157 b 3 (PR T3) 8:46. 68
356427 M P& Fn 1 (IIALE- % E)8:53. 03
4510448 1 45 ¥ 3 (MRS 5 £)8:63. 11
5 3% W A (WERERELD ) 8:53. 67
6 5111k ¥ st K3 (BRI R #E)8:54. 39
7 12084F [l %% kd 3 (Il A -#%)8:58. 09
8 68H AF Bk} (AR5 1)8:58. 96

GIUTEPIIT % %) 9:45. 93
2 %%)10:26.
3 (NP ALe-#%)10:29.
3 UEdem-#%)10:35.
2 (EFRAP-%E)10:37.
P2 Olades-%%)10:39.
R PR3 R £575) 10:42.
Ak 2 (P 5 5) 10:44.
B 3 (Fh%yXAC5E) 10:49.
oA 2 (REIRE %%)10:57.
= A2 Olla -5 1) 11:05.
W3 (-1,

33
23
51
52
32
21
92
15
68
47
93

13[23]2767 H #F M #B 2 (& - E) 1
142212766 A% M HE} 2 (=R - £) 1
15[1014060°K /& i 2 (ifsbis &%) 1
16[ 6] 837H 11 1 H 2 (Fh*yAACHE) 11
1702011252/ /1 B # 2 (Ilngfd-5E) 1
18[ 7] 253%#EFye R A 3 (InERs &%) 1
19 (1912770 KT 2FE 2 (R -5 %) 1
[15] 6104
[14] 607 (L3568 RFAER 2 (REFES 5 E) RiG
(1711233 0% ANBE 3 (B -5 E) Ri5
(1811246 #& 7= 22 3 (B 15 E) Ri5

hEEF 11 0mHI0.914m/9. 14m] Bk (348)

(1#8] ¢ +1.3
1[0 3] 815%

20 7]1419 L1 IRf
3[ 2] 1417 H

m)
B K2 (FhryAACHE)15. 90
WON3 (Rend-%E)17.71
L 3 (RANd-5E)18. 31

410 5] 2@ HUHES (@ETH- 5 20. 01
50 8] 5B Wl K3 (@) 31. 44

[ 6] 3% A B3 (@550 RE
(3] (  +1.2 m)

1[0 4] 831 & B BHi {8 2 (Fh¥yAAC%E)18.10
2[ 5] 189 (L W& K 2 (HEE—F-5%)19. 46
3[ 81410 M fE AN 3 (RADH-5%)19.90
41 6] 144fh& v < & 3 (e -£E)20.08
50 3] 215558 % K A3 (& 17 H)20.25
6 7] 409 4y 1% P2 GREFNT-HE)21. 43

[ 20123718 A H 523 G —H-5%) Ri5

(2#8] (. +1.1
10 8] 8764 1
2[ 6] 2133 E
3[ 7] M4+ By
4[ 2] 2040 H
5[ 3121495 &

m)
BE ik 2 CRIEMP-5%)18.05
WIR3 (& 117 +)18.68
BN 2 (FEFNY-5%)18.70
2 (e —pe5E)19. 88
Bk 2 (Rut=4%%)19.93

6[ 4]  1HH{E BEZIT 3 (@HTH - BN) 20. 78
[ 5]  8E A — ¥l 3 (&R HUR) K&

4N AN

ey 3

1 8154 B K2 (Fh¥yXACH%TE)15.90 +1.
AEN3 CREDH-FHF)T.7T +1.
HE ik 2 (RKIFHEF-55£)18.05 +1.
Bi M 2 GA%yAACH5E)18.10 +1.
HO o 3 (RO -2E)18. 31 +1.
1)18. 68 +1.
BN 2 CHIEEE NP -55E)18. 70 +1.
g oK 2 (IS —H-55)19.46 +1.

2 1419 (L1 g
3 8761 1
4 831 1
514171k H
6 2133 L
7 414+ 55
8 189 (L

S| 3 (&2 AT

BF 110mHI[1.067m/9. 14m] Rp% (3%48)

(1#] ¢ +0.4 m)

10 41182815 i & <7 3 (CFEXR-%E)14. 58
2[ 5]5427THH HUKER 3 (BiEER £E)15. 32
3[ 61180700 )11 i1 B 4 CEER-%E)15. 66
A0 7] 439K M B k2 (RE & -#E)15. 80
503] 23H & B Ok 5 15. 80
60 2]1093)7%  1IE &3 (LM -%E)15.97
70 81212552 (L Sz #f 3 (HifiE & -5 ) 16. 03

[248] ( +0.9 m)
1041110278 &k # 4 BFEK-£E)16.12
2[ 21125055 A& Mt K2 (KELE-#E)16.58
3[ 6]5464 Kk X KRE 3 (MtEER %%)16.65
40 511041 F S+ # B 3 (W& - 5 £)16.87
5[ 7154010 & & K3 (BWHEEE %E)16.99
6[ 3] 79285 A JE 3 (B - £5%£)19.00
[ 8] 1100 H K 2k 2 (LEH 5E) K%

16. 82
:22. 81
:22. 87
:27.23
:45. 57
:53.50
:55. 34
oK 2 (RERRT5E) R EE

N — = CLON == W W



(3% ¢ +0.9 m)

1[0 2150135 ¥ fd plk 3 (HROCER-5%) 15. 65
20 411223 pfler KRR 2 (I AHLE5E) 16. 97
30 5] Tk HE & 223 (HfE-®E)17. 64
AL 6121029 J  fd2 Glifife-5E)17. 86
5[ 7]4685%n A £ A3 (FRnm -HE)19.11
6[ 81469170 M 4y 3 (MHm-%$)19.48
70 315020 | % AE 2 (BRIUHE-%E)20. 07

4> AN

e 3

118284 i 1B <7 3 (CE[E A - £ £)14.58 +
2 5427 I HUKER 3 (B EEK-HiE)15.32 +
350135 i fad pk 3 (PR CHE -5 £)15. 65 +
4180780 )11 1 B 4 (CFE K- £ £)15.66 +
5 439k W B HE2 (KE & -5 £)15.80 +
6 23H B B GEaPER- #7)15. 80 +
7100350  IF B3 (kR & - & £)15.97 +0.
8 2125% (LI 37 #f 3 GHFIRE R - B £)16.03 +0.4

0.4
0.4
0.9
0.4
0.4
0.4
4

BF 400mHI0.914m] R (448)

[1#8] [248]

10 3]1093J% E 183 (FR&-#E)5S. 81 106] 1T K2 (FXRF-HE)59. 31
20 7J1210Kk A+ & A 2 (IlniveE-%E)55. 85 2[ 713578/ (B 3 (EMIEE-BE)D9. 90
3[ 4]16485(L H A HE 3 (B EK-#E)5T. 47 3[ 5]  A¥RH  WEAL3 (lFIE-5HE)1:00.53
41 814702 E K M4 (MEFK-HE)ST. 70 4] 314686/ B EH 3 (BRAE -HE)1:04. 32
50 5]1041F H & 5= 3 (k= - & £)58. 11 [ 4118207 1L Y4 CEEK-#E) Ri5

B e 3 (BRIUHRA-5E)59. 16
F 3 (IlpmE-%%)1:00. 57

6 2]5013 )% %
7[ 6] 12037 M

[348]

1[ 512106+ 4 ¥t K 2 GlififEe -5 %) 59. 28
2[ 4112234 B RES 2 (llnmiazg-#%)59. 93
3[ 6]1088%il 5t BH 3 (LRS- -%E)1:01.52
41 81468585 A # A3 (FRAm %E)1:03.20
50 7131801k 4 &K Bk 2 (N -%E)1:04. 15
6[ 3] 79245 A R HE 3 (B M- E)1:05.02

4 AN
i 3

1 1093 it

2 1210 K #F
3 6485 (11 H
4 47029 |
51041 % F
6 5013 /% ¢

1IE 153 (R & - & £)5b5. 81
N2 (lATE-%E)55. 85
B3 (B E K-8 E)57.47
KA 4 (FFEFR-5%)57.70
8 13 (B & - B )58 11
B B 3 (B CF s -5 E)59. 16
72106 -4 Bt K2 G m -5 E)59. 28
8 1T# R #E &2 (FKI[A - 5 £)59. 31

BF 3000mS Cl0.914m]
[1%8]

101723400 1 g B (BRAAC#%)9:30.36
2[ 516040k ¥ EH i 2 BHEK-HE)9:36. 89
3[ 4]13072k W & 5 4 (BEREWH-5%)9:48.59
41 2] 62110 & 53 (ThFhE T#)9:54.92
5[0 711209 £ 72 3 (I0iiE %%)9:55. 59
6[ 3] 6197712 > & 3 (T¥kE T#)10:20. 03
7[ 6] 6207 BF  J@& 3 (FRFEhRETE)10:24. 22
8[ 811226 R #h g 2 (IloHhivE -%%)10:29. 12
9011146994k i Bi & 2 (BARBE-#E)10:42. 80
10[12]11734 %% B # 2% 2 (e 55 %) 10:54. 93
11[14]13786%f & A& ¥R 3 CREHKE#E)11:12.78
12[13]21161L & & K 2 (HfimEeE-5HE)11:14. 74
13[ 915440 =+ BE—BR 2 (AELEH %) 11:15.80
14[1014689 A  H 3 (HlGm-#HE)11:17.88

[ 814062 Hc  #j EA 2 (Hfhim &%) Ri5H
(4%8]
10 3]1100f% H Rz 2 (EREE-5%)1:00.72
2[ 7154870 B B2 (MtEEE 5E)1:02. 46
3[ 8]3577T K% HEAv} 3 (HnEim #%%)1:03.58
4[ 51548278 W 2 (FtEEH-%%)1:04. 88
5[ 4150117k & L LA3 (BR#E %%)1:07.08
[ 6]3244 = #f ZE M2 (BEAKE HF) Ri5

iR R (248)
(24)

1041168577 JIl %2 (WT'4hE-£E)10:36. 42
2[ 5]3791HF & & % 2 (RHEMA%%)10:36. 53
3[ 6]359TAR ¥ A At 2 (RnEE-%E)10:41. 42
4 713584k B AN 2 (BANEE B E)11:01.75
5[ 913163F% ¥ 4 &%k 2 (lndtE-#%E)11:09. 97
6[ 81316211 A ¥ K3 (IlpdeE-#%E)11:24. 69
701315113/ £ {= #1 3 (AR UHs-45%)11:33.36
81413788 AN FHE 3 (RHHHRF %) 11:36.18
9[ 3]40834% K & K2 (ke -%%)11:37.58

1001011732 H Ak 2 (mEE- % E)11:46. 38
11[11]
120121105087 = & K2 (s - 8 £)12:05. 44

MKfE MEA (TEvas-27%)11:58. 92
(2] 394 A& JAH (RETO-#7)@hEiE

[ 115466357 KRR 3 (MEERE &) Ri5



4> AN
i 3

123400 | 5] H

(HRBAC-5%)9:30. 36

2 6040 KX ¥ IE A 2 (B K- B ) 9:36. 89

3 3072k Hﬂ

4 62111 =

5 1209 | EP

6 61977 &

7 6209 ¥

83 (hhFhiem

N

A 72 3 JIAhE-5

Ji& 3 (P

15 5 4 (g bietis - 55 ) 9:48. 59
- T3)9:54. 92
%) 9:55. 59
L B 3 (FEhim - 728 10:20. 03
- T4#)10:24.22

81226 1 IR #h g 2 (Nl Ainze-£1)10:29. 12

BF 4x100mR REET4E)

(1#8]

1[5 B RHR K (768675 1 2% 3k 2-
2[3])lomE-wE(12208 H L 22
JII(6668:Hi fHli—Hi2-
i E (40061F 75 % th 3
(
(
(

3 [ATHFEBKE WA
A7) -
S5[BIKEIE-HE(231HH G A
(2 Jf s e 5 (21033 £L
(6] B - LAY
[24H]
1[5] K=& iTE(
2[4 fnE - EC 27 5
38R - h£(5024¥ (L
4[6]8ME ABE( 1894 &
(
F(
(

6558 i Bk2

5[2];-%%1 hf 35801 i
6 [3]9% & 202145 K
7[7]*4% iﬂz 6121k 77

(3#8]

1[5 A E - B (642200 2 AT fE2-
2041 0 b - B E (31582 i i kE 3
Rl 3RS 2
g:{ﬁg.
JEL e 3

(
(
3[R - 57 K (430142
A2 RHAY A-B5E (19228 F
5[7]18ME B-WE( 79285 K
(3]t E R 5 E (
(6 1M e m - 5 (
[4%4H]
1[4]&mmd AfR(  5F 8
281Kk I ¥ (1031 A
3[6]7 0%y AAC AA( 8381k ik
A (5] 8 - 8 E (12455 H
5[2] B+ =1 Hr (214955 &
671 EEFE-HE(
[3]7 0%y AAC BB(
[54H]
1611 DERERE-&HE(
2 [5]8EF— -5 ( 155541 55
33V HE - HiE (16847 K B H2
4[] FHERT-HE( 7034 A
5418 =rh-EE( 380 #F
6 [2]&0TH B-HUR( 9Lk
T7INnfEZ T 5E( 42200 %

%1%2

4407 H  H2:

723
KHE2
KT 3
I NER
fis K2
— K3

o K 3
s
B2
B K3
ik 2
262 R K2

KAl
16834 If
kAR 3
= Ik 3
K3
HES

3891/ 11 A3
1206/ FH K K3
7536 K B Ik 2
-4016/i% H

4013F )1 K52

3-1238/N - & 43
- 21261 %
[Z=RE

21150 & K2
T4%K 1

43278 B FEAS
HofEKRe
50135 % MR Ak 3
7957F—F -4 A2

108

31 E2
61307 #*

64115 %

78314 ik

3%
10348 &
81011 A
1249)5 H
21455 )1

286/ & WA A

1794 v FH

S
7057 %
379K #

1HEE 23

438HL (11 5L 3

- 3592 i
10415 H EES:
M A 2

H 53
SI5THE A 33
429600 i 0 fi 3 -
19268 B FE H.3-
fifi 3

B PR3-

IZ 3
HA2
%P3
fL RS
3+ 291757

- 15430 K

Bt B33
% K3

256275 ik ®EF23-
122140 R 2
I 2
JE B2
TR
753
N

6184)1] JiL

12375
1iie 1%

439k H
13 JF

50224 %
1978 K

~ =

2026Fk 1
61237 371

6408(F i
317811 #2
430611 f#
19254 A
786 - f”fé'

AR HY T K3
1036 H K3
815 R K2
213/ 1 FHik2:
fil A= 3
K2

21467 JE

16824]) 4+
318H k

42455 1R

B2
s
Fih 2
2
K2
g2
BE K3

53
K2
B2
oA
- 7967 M OB A

B
BE K3
1021 H v 13-
M3
8E K — Ul 3
2

42. 00
/ﬂé % 2)42.50
5K 1)42.80

528842 By 4)
)
)
) K2)43. 86
)
)
)

12144 +
666147
4015H &
12457 H
2124 K ¥y

258 &

#EF-3)44.13
DEF3) K&
1) K48
4351 A
191 1L
50158 K
78415 H
3578/)~ 111
10391l H fEZ ST
61311 % K B3

WK 3)43.18
1 #%2)43. 31
Jif 523) 43. 85
KHE3)43. 92
g #73) 44. 37

3)45.09

3)45.73

44. 56
44.75
45. 40
45.73
46. 55
R 35

R 15

6418
3151k = ¥R Ar
430K JH - fE

H2)

3)

2)

19231 87 5L 4 3)
2)

)

)

2 H R HE3) 45.55
1033/)N Bk =.3)46. 30

840 KHT HEZSr2)46.82
1240%E H
2148% i Rf A 2) 47. 41

)
)
2)
Bt 71 3) 46. 88
)
2851 A& {71k 3) 48. 94
) Ri5
)46. 01
1672 4k E il ) 46. 68
1681111 A& 3)47.02
1008 R A3)47.19
384111 K & A 2)47. 60
64 7 SCAL3)49. 24
A3TENAT Y 1B 3)49. 4T



[648]

T8I RFH - H £ ( 8741 3%

2[4]FE R - E( 47978 4K

3] RANH-BE (14015

4[TIRMAT B-E (19435 3R

5[2] W& - 5% £ (54044 1
17 H (120378 #K

AR B (

6 [5]%
(6]
[74#8]
1[7T]HEEmS AE(

2[6])InE kA %E (22437 &

SL2]HHFIH A-A(

4[5]7 /%y ZAC C0( 852/ i

50810 R H(
[SIMEHENs B-HE(
(415 /8 - 85 7 (

4 AN
e

1T 2 B A K 42.00
2 )1l 1 S & 42. 50
K = S N 42. 80
4K B & 43.18
59 & 43. 31

6 18 & X B & 43. 85
TH fnodb & 43. 86
8B M & A 43.92
BFZ 4x400mR
[148])

171 FnE - & A o WE 3

2[01]) umjﬁ iﬁ 12108 /7 R A2
A354F A WK 3
61254k ik

(2] K=

4[8]7|<3't|—1

5 [3]AneE i - fo
(4] FHEKR- T
[M*%m R
[6]0

lz%ﬂl
141 BFHER-HE
2[1%ItEmB-HE
6]t rhim - E
4 (5] I iﬂt
5[3]WVT B 5
6[7]+_HmHF- iﬁ
T[2]# i+ E-E
[8] & AH DD

%E

= (
(
(
(61311~ K B2
(
(
(
fi(

\]t T

62484% A
6122 37
4062 B
5401 &
(16834 %=

= 33

RED

46775 BE
61075 Ff

/\/-\/-\/\/-\/-\/\/-\

N PA
B3
T 523
Ze k2
B ik 2 -
[N R

430K T & 13-
723
46777 R K2
JE K1
3938n K BRh2:
40585 K FEHE2-
1444 » < L3

21161t A K2

W B 3
o UNEE
FiE 2
JE K3

K2
UNERE

8825 M [ K2
461K kM FjJ3-
fE N3
KF3
JE K3

141911 g
1920/) &
5401+ %
ARSI

4367 K
125458 N
648 5 B
8430H H I

R B (248)

b & &3
12208 1 L 22
KE2

%3

444\ K

21150 & K2

6247 = 4=

613071 #¢
4078+ M £k 42
54035 L AR HRIfE2

168111 A& {53

64205 H il K2
609 fEERER 3

w3
HEFG 2
K2
w1
383 A EH =2
43855 R T R2
13716 ERES:

i) & 2
fE A2
4057 M PE i3
54044 1 B2
BE K3

862f (L A 13

4661 A
14144 3
19448 I

540351 L7 HhifE2-

i3 2155 B A A3

A35LLHA B ORS
12567% L2
649747k WUKRR2-
847 F — i1
/A A A2
4005 H 2
10244 #E BE2-

23T i R 2
12018 8 — 2
22
6126HT 1 K3
210337 %

A45H HE

6251 R 4 RT3
6129°F & h2:

168247) 4+

6531 A & A2
60703 A f&5 K3

YA 3
2
A2

%1%2

- 873Fm

473K
140987 A
19216 &
5406 +- 1%

46. 69
*5”%2 48. 38
fE J13)48. 44

A K 2)48. 81

21188 RIRER3) 48. 91

43475 1
125625 -
644111 11
8442E I
382{7% i
40875 11

3)
)

)
#3015 3) 48. 47
)

)

) R15

— %£3)50. 02

5 % 2)50. 55

K #E2)53.76

Wk KX 1)53. 89

8 X 2)55.33

UNUAES
)

1056F R A K 2) K&

105 &
1203 H
4385E By
61237 31
2106+ 4%

-624548 1
612147
4053111
5406 - 1
16847 K

608K 74
648 2 Wy

fidt X 2)3:26.85
FA3)3:27.17
#E%52)3:30.70
%k3)3:34.40
HE K 2)3:38.07

) R 35

) Ri5

) Ri5
2)3:37.28
—1K3)3:42.65
#4%3)3:44.60
B K 2)3: 52 57
& £2)3:53.59
)3:57.02
723)4:50. 46

K 2) K&



B¥ 5 148

1 7 fn s
2 Il @ S &
3 K = =
4 % it =
58 F Bt K
6 1 oM &
7% Jb & B
8l fn % P &

[12] 211745 jig
[ 611242/~
[ 9] 4134 &%
[ 2] 276048
[ 7] 41145 jE
[11]12354 H
[ 4] 2213 #k
[ 5] 205/)~ %
[ 8] 70& &
[ 1]273240 B
[ 3] 21840 ¥
[10] 8664

:26. 85
:27.17
:30. 70
:34. 40
:37.28
:38. 07
:42. 65
:44. 60

RS
42 (R aE - BE)
K 3 GBI -1 E)
K2 (GFrEgEmt - %E)
H 3 (B - E)
R 2 GEFENd%E)
& B 3 CHrIE 5 E)
— K2 CGHrE_-5%E)
RO 2 GHE 5 E)
3E A 2 QUK+ -5E)
W 4G 3 (& - 57 %)
e 2 CRIE—w5%E)
ME N 2 (KI5 E)

WWWWWwWwwow

BF E=Bk 28 R

[13] 522 J&
[12] 1225482 )11
[ 9] 239F [d
[ 5] 800TF &
[ 8114098k A
[11]5020 |- &
[ 715019 H 1%
[ 1] 203 #+
[ 2] 487#h H
[ 6]316714 ji
[ 4] 798/)~ #&

e A 3 (&L BT
£ 2 (Ilntive &%)

3 FREGHT-5HE)
K OWE 2 (Bl - B )
BE 3 (KAOH-HE)

FE 2 (BRHEEHE)
HE 3 (AR IHE - E)
5t th 2 (iFne - % &)

(THEMAC-TH)
2 (i@ -%E)
2 (BMm-HE)

==

e

JC
HE

1m60
1mb2
1mb2
1m49
1m49
1m46
1m43
1m35
1m35
1m30
Ri5
Ri5

1m82
1m76
1m64
1m61
1m61
1m61
1mb8
1mb5
1mb5
1mb5
1m50

[ 3] 815648  FE K2 (Fh%yAAC-H5T) 50874 L
[10]5018 i .2 3 (AR UHRA HE) Ri5
(14111052 By #h K2 (LEG B E) KRG

BF EEBt 3 R

(1117738 &
[ 8] 39%% H
[10] 5183 i
[ 3135797 ji#
[ 7] 283 N
[ 1]11304% jig

% 72 (SUNPRIDE-%H)
K 4 CGRGRER - 350
ik GKRTC-#HE)
K3 (FEEE-5HE)
CEVECT INRE I
KNG 2 (Fiffg-swE)

[ 5] 112678 FfkLRR 2 (g 5E)

[ 4712245 #5

e Lt

B 2 (IamsE-%E)

2m06
2m00
1m95
1m90
1m85
1m80
1m75
RCERAR L

[ 21174044 ERER 1 (R & -5 E) RiG

[ 6]2541% IR}
[ 912538%% Ji&

Wl (STAC-T#)
B (STAC-HER)

R iz
Ri5

BF EmEsk

1[781305371 &

"R

iR B

(G Lkl %) Tm02 +1.7

2[77]18354 H = A 3 CEEK-%E) 6m63 +0.9



3[74]
40611 212 H
5[65] 514/ #k
6[71]4714)\ K
7048] 19 L
8[50] 14 K
9[55] 4051 % #
10 [63] 50215 B
11[62] 12321 H
12 [64] 1047 [if] A<
13[70] 12205 H
14[73] 27 &
15[59] 2885 B
16[75] 29644 ik
175611095 FH il
18[52] 4p B
19[45] 1375 1%
20[53] 23T %
2166112043 4
22 [68] 6248 4% A
23 (371502914

60 =% WLKRR 2 CRE R - TR

fo B2 (HfngE -5 %)
FL1 (IDLE &%E)
&3 3 (MEFK-HE)
A2 (hfneE -5 E)
K (RMAC-HR)
= 2 (FREhis 5E)
— BE 2 (BRUERHE)
&3 (KEla %HE)
Bt 2 G s - B E)
+ &2 2 (lndig%E)
Fe M 2 CRFEK -5
B 3 (BHEEs%E)
=3 (AfIM A C)
A2 (LEE BT
K3 (BT ER)
52 I 3 CoE - B &)
KA 2 Gl - 5 %)
S 3 (IaHESE)
BB 3 (BFR -5 E)
B 51 (FRUER 5 E)

24 [44]3599 F)I| jRAKHR 2 (FMmEs -5 %)

25 [58] 5028 14 ik
26 [60] 5709 3 ik
274313580011 Ji%
284611042 |-
29[36] 826 +
30[34] 209 ;N

31[40] 5486 /\ 1|

32[26] 1242/~ #k

e g 1 (FREE 5 E)
H M 4 GERER KA
i N3 (FEhE & HE)
B FH 3 (bR & - B F)
HOER 3 (FhEyAACKE)
BE St 2 R _H-5E)

B 2 (FtERE-HE)
MR K 3 (R F-5%E)

33[8113175 HELBF Rk 2 (Il0dtE -&F)

342912104 &
35[28] 98 H

35[35]1034f &

37[47]5467 & #
38[32]16834 3
388313155/ &
40[33] 30/ #&
41[31] 8087 H
42821317911 F
43[18] 1717 %
44[80] 3003LF &
45[30] 3513% i
46[27] 809K *f

& 2 (s -5 %)
72 51 (BE=H-5T)

3 CK 78 H)
K A 3 FEEREHE)
82 (WThEHE)
Be g 3 (lnde-5E)
B2 (HEERER)
B (RERER-HE)
2 Jlntke-%E)
FIK2 @EE-T5HF)
Bt (R ERER-EE)
A AN 2 (IR =H-5%E)
N 3 (B %E)

AT[41]3590 oAl HREME 2 (BN R -5 E)
48[ 8] 843°7 W JII P 1 (Fh*yAACHE)
49[23] 1014 A k2 (ZH -/ E)
50[19] 81387 M JIl & 3 (Fh*yAACHE)
51 (2011419111 s #5 AN 3 (REAH-HE)
52[ 1114144 & EH ik 3 (RAOH-5%E)
53 [79] 3166 AT FEAREA 2 (IOt -%E)

5412111420/ H
55[13] 67#& +f
56 [17] 7057 %
57[11] 434 15

22 R 3 (REpf-5E)
kA 2 O\BIRRS -5 E)
BE B 3 (FHERT-HE)
— B3 (WAL 5E)

6m47
6m41
6m30
6m27
6m19
6m17
6m16
6m14
6m13
6m12
6m09
6m03
6m02
5m98
5m92
5m84
5m81
5m79
5m78
5m74
5m64
5m63
5m62
5m60
5mb4
5m41
5m38
5m35
5m34
5m29
5m28
5m17
5m12
5m12
5m06
5m03
5m03
5m02
4m95
4m87
4m85
4m77
4m76
4m74
4m71
4m66
4m64
4m60
4mb9
4m58
4mb7
4mb3
4m50
4m49
4ma1

=+
o

+ 4+ 4+ + +
cooo ~

X

+ + +
N oo

LA

=+
i

+
—_
O JOCITOOMNNWPAEROOITWOOWOOMIOODOOW—-=OCTIWW—=JW—-0O0ONOOODOD—-OD0IToOODOPL,r—-NWODWODHOLOLUTIOUOIJd—P~O W

+0.

+1.

+0.

+0.

+1.

+0.

2FR 5m20 +1.1



4ma41 +
4m38 +
4m27 +
4m23 +
4m17 +
dm14 +
4m00 +
3m71 -
3m67 +

57014] 212f& A F B2 FE_F-5%E)
50[ 7122435 A& 223 (InEih-5%E)
60[12] 7163% L F 2 (FHERY-&HE)
61[22] 122€ K 2 (&M )
62[15] 1% 18 3 (&M HUR)
63 [10] 5805 & Hf 2 (F M H)
64 211255%% + 2% % 2 (JIAZHP-5E)
65 411014% H & 75 2 (EARF-HE)
66 6] 717/ 1 %2 (FHERT-HE)
670 3] 653111 A &K A4 2 GEjEfh-%E) 3m65 +
68[16] 1173 B 2 (&RTH - HR) 3m61

o

%m&w
%@@EH

.3
T
.0
)
.9
.8
.6
4
4
4
8

+0.

[ 9] 1904 &%
[54]  15%

[72]1201 11 17
[84] 315844 i

b 2 (8% 55 RLEka L
3 (e fr =) BRgka L
Bi Al 3 (A s 5% E) Ge ke L
FoogE 3 (Il pdte &%) RBEgka L

[ 5] 3&E K2 (TREET5E) Ri5
[24]10137% K & + 2 (EARP-HE) Rig
[25] 8451l H 2 # 1 Fh*yAACHE) Ri5
[38] 8027  fd# K2 (FhxryrACHE) RiG
[39] 24/ M2 2K 2 (HFnE -85 E) Ri5
(42154685 (L [ £t 3 (Mt & E) Rim
[49] 1634 4% jik % B3 (LRlER-%E) Ri5
(511121735 7k % 2 (Mumjﬁ k) Ri5
[57] 4334 A 3 (KEm -HE) R
(671 1% H HA (RMAC H) R35
[69] 6250 /L 75 1H K 3 CEERK-HE) Ri5
[76]6510°F A [=4 BEEK-HE) RiH

BF =Bk RES

10317181775 A% 5 4 CEEK-¥E)14m79
2[30] 604k M oRRR 2 CREEA- Ha0) 14m21
3[27]4T14)\ K 1% 3} 3 (MEFK-BE) 13m65
4[2916250 /L £  1H K 3 (HEpA-£E) 13m63
52011572 # ¥ 3 (FEINE-HE)13m35
6[1811104)1] % ¥ K 2 (B & - E)13m06
702611212 = 8 & 2 (Jlniivg-%%) 13m05
8[25] 27 Hx % WH 2 CRGRRK- #18) 13m01
9[23]17354 1+ k£ 4d 2 (R -5 E) 12m95
10[35] 31584 & Fin & 3 (0 - %E) 12m82
11[22]5017F 7 %0 K 3 (it CHs &%) 12m60
12[19]5014 = = #f P4 3 (BRUEE-%E) 12mb4
13[11] 8264 j&= 5 FA 3 (Fh%yAAC-5E) 12mb1
1421154685 111 [ A 3 (FtEEE %E) 12m47
15 [15] 1047 [ A Bik *F- 2 (5 /& - B ) 12m45
16 [34]1 315742 A M v 3 (JIlndbd-#%) 12m39
1701711092 /1 1% Fn 3 (ERE & -HE) 12m29
18[16] 288518 BF = ME 3 (BHHER-HE) 11m94
190 5] 7894w & K 3 (B E)11m90
190 81221 =k R 2 (IlAmiE-5%%) 11m90
210 3111332H W &4 K 2 (HvifE %E) 11m84
220 1] 7888kAK R KEF 3 (& - ¥ E) 11m79
23[ 7116847 K & B2 (\WTAHEHE) 11m76
2411411042 = [ #H 3 (k& - 85 5) 11m71
25[12]168111 A &3 (WTHE-HE) 11m66
2613154677k H K A7 3 (FtEEH 5% 11m27

1 f><r

H_

+0.

+0.

-0.

+0.

-0.

-0.5

+2. 52881 1mb8 +0. 7
+0. 1

+1.3

+
; e
O B 00 —d 00 dON AN WD W= =N W



270101358000 % i A 3 (Bl % E) 11m20 —0.5
283213155/ 4+ BE & 3 (JIlndt&-#E) 11m14 -0.4
[ 2] 786 F M #5283 (&[5 %5 E) L84 L
[ 6] 821E ¥ #h# 3 (Fh¥yAAC4T) 508k L
[ 911580 il & ME2 (BIng - % )4 L
(331317911 5% # 2 (JlndE-%E) gL
[36] 220 W #LE2 (lfns %5 R L
[ 416248 7% A BE 3 (HERA-5HE) Ri5
[24] 4334 3A B2 K3 (KREm-HE) R
[28] 7850 0 A #fi ¥ 4 (RED=)AAKETH) R 35

hEF R[5 000ke] Hebk

1013] 867+ % 3 (KJFH-£E) 10m39
2[ 7] 64685 K B H 2 CREfH-HE) 8mld
3[10] 64 7 SCAHS 3 (@lTH-FUL) Tm37
4 8] 918K F  #I3 (FmEHHD %E) Tm3b
5011 9Lk % K3 (&H-Hx) Tml6
6[16] 217FKER 129 3 (% 1T ) 6m82
7[12] 952%  f& & 3 (BRAHET-HE) 6m74
8[ 2126284~ A& & 223 (HEH -HE) 6m73
9[ 3] 9367wA HhAKH 2 (FHIEEF-%E) 6m30
10[ 5] 2024 )11 ‘& jek 2 GBE_H-5%) 5m67
111712625 HF HE K 3 (HiEp-£5E) 5mb3
120 1] 9384 A v #E 2 (FHERF-HE) 5mb1
13[ 4] 2980%F 3% BE &2 (BRA-%HE) 5ml7
14[ 9] 9544 F & + 2 (BREHET-%E) 4m66

[ 6]1166 it — & 2 (I0EEAT5E) Ri5

(141123600 W #4523 CHIE —H -5 F) Ri5

[156]1933 =7 ¢ #E 3 (RMAH-HE) Rim

=SREBF @iLx[6.000kg] RAEH

101114681/ FH M 3} 3 (BRAE-HE) 14m75
2[ 714700/F 7+ m 1 (FRAR-HE) 13m61
3[10] 4693011 FERKEH 2 (AR % E) 12m91
41 8]4701 v # K1 (BREF HE) 11mI1
505] M E #ES3 EMS-HE)1In2
6[ 6]5441i+ A& U K5 3 (RELKH %E) 10m89
7012131774/ W B2 2 (Ilpdts-5E) 10m29
8[ 9]104642 T Y3 (k& - & £)10m11
9[ 1]11096)11 & — .0»3 (LR&E -5%E) Tm67
10[ 2]43057& H 4 i 2 (e -5 %) 6mbb

[ 3140193 (LI K FF 2 (ifdd %) RiG

[ 415141%k i 48 th 3 (InEke & F) Ri5

[13]1218%k K T2 (IAMviE-HE) Ri5

BF fahix[]. 260kg] REs

10 3] 424% 8 K (I0mkE# %% 12mb8
20 2]15139% M B = (ombeth-7m) 9m30
[ 1] 4365 H ¥ R (ADLER-HE) Ri5

e BT AR [1. 500kg] Bk

1010] 739h (1 B K 2 (REBEHT 5E) 32m65
20 7] 601 ¥ & N3 (RERET-HE)22m21
3[ 81119844 [ PR — 3 (FZAET-HE) 19m93
41 9] 9524 1K & 3 (HRAHED 5HL) 19m84
5[ 612661k i Bt S 2 (AEH -5 E) 19m12



60 312738% Ji  # 3 ()P -5E)16m80
70 11266275 bt £ 4 2 (H P -5 E) 14m85
80 2]2761 = i 2 (g HE)14m02
9[ 4] 9544 + & £ 2 (BlaHED-%E)13m18

[ 5] 554#fIlI ba—=2 (BRFEEDHE) Ri5

=SB F B [1. 750kg] RS
1022146934 1L FEKEA 2 (ARAE-HE)41m19
2[2311709 & W P 1 (#EI5E 5%) 3Tm36
3[21]4681 4 H  fk =k 3 (FRAE-HE)36m87
4118146924 H K #\ 2 (FRAE 5 E)36md7
501712157 ¥ &E A 2 (II0HvE-5E) 35m35
6[ 5]4700/E 1+ @& ok 1 (ARARE-HE) 34md0
7019] 791# & & 5 3 (B & -5 E)32m62
81315433 22 ™ 2 3 WELKF 5 E) 30m32
9[2011046% F &3 (§k & - B ) 2Tm97
10[14] 5135 &5 — i 3 (InEREH 5E) 26m62
11016] 512k AN B2 (0 LE-5E)26mb2
12[10] 110145 . 7& 4 2 (LR 55 E) 26m22
13[ 6]4701/E 7T % K1 (FREE-%E)23m85
140 81317748 W H 2 (JIlndLE-#%%E)23m76
15[ 3]11096)11 & — 0> 3 (LE&-HE)23m72
16 9]4003%E iU #fi =F 3 (Hfla- &%) 22m11
170 713175 B ey K 2 (Il ndksE -5 E) 20mb0
18[ 2]2893% H == 3 (BEHER-HE)17Tm86
19[ 415138 =A% &5 2 (Il0&EE %) 1Tm70
20 [ 115034 7] FEARER 1 (BRCHEE %E) 15m06
[15]5025/)s & Ot & 1 (BAXHA5E) GedkiE L
[11]1737F | IE #2 (REe- 55 Ri5
[12]12182k K F 2 (Ilnfig-&%) Ri&

B+ FA#Eix[2. 000kg] RA

10 511903/)~ (L #f g 3 (E K- 5 £) 44m65
20 3] 1M10%%k 1 = (BEKTC-HE)3Tm23
3L 2] 2761 1 HE M (OGS -KiE)20m84
AL 1111768 M £ 8] (AKER 7x) 20m40

[ 4151397 M B = (GREbEN- K9 RI5

BF ©U([800g] RAE

1[20] 50# A4 # K (etEE7)-87) 54m03
2[18] 30f& BF SC#Hk 3 BFEEK-HE)53mT6
3[19112157k ¥ #E A 2 (A %) 50m12
AL16] 11240 5 K¥ A 3 (Mg -%E) 43m90
5[ 21641141 ELKER 2 CHA & - #UR) 43m03
611015025/ B Ot # 1 (BRCEA%E)41m00
7014740038 J5U  #h b 3 (Rifndts - £ %) 40m79
8[ 71502914 Bk & B 1 (AR XER-HE)38m72
O[11]ATISER)I &3 3 (HEFK-HE)35ma2
10[ 5]4053(L F =3 (¥ -HE) 34m92
11[ 9]15140%k A 7% ik 2 (II0EESHE) 34m81
12[ 6183874F bt 35 2 (MEFK-HE)34m30
13[12] 27611 H e (OGS -HiE)34m1b
14[13]50304% )11 K ¥ 1 (BRIUER-%E) 29m86
15[ 4]15142)¢ 52 ¥ E 2 (lnElEg %%)27m78
16[ 31114747 EHES  (FEvay-2-18) 24m16

[ 116410k L ffi 2 CaaE - Hn) Ri5

53



[ 8135821 + &, #F 3 (EipEmE k) Ri5
[15] 54K %% HesL (AHAAC -TE) R
(171183905 i 15 A 3 CEE K -&HE) Ri5

ZTF 100m RE(3240)
[1#8] (. +1.1 m)

1[0 7] 25578 & %% (UNITE-%%)12.60
2[ 513033 b BA Kk 3 (FERE-HE)12.65
3[ 113055+ B B 3 1 FEFm-HE)12.75
41 3116297 7k 8 453 (s - £)12.77
5[ 8]9303 B H iy~ 4b 4 (FFEKR-ZKH)13.02

[ 61626479 M L 3% 2 (BFRK-5HE) RPEHE

[ 2]5461H Ak 8 & 4 (BFEK-5E) Ri5
[ 4] 51 &M (JAL-HR)RIS
[3%8) (  +1.1 m)
1[ 3]30457% /1 ZL 2 (BEXE-%E)13. 04
2[ 4]11038%8%F M 2 (9= - £ £)13.25
3[ 6] 3944 ik A w3 (R H)13.27
4[ 2]30577% H ] &1 (F5ERE-5E)13. 34
5[ 7126217 ik Bl 3 (HEP-#5%)13.38
6[ 51303447 - BE R 3 (EXE-£E)13.43
70 1] 876K £ H 45 3 (JIlAmivg-#%%)13. 58
8[ 8]647082 3 ZE w1 CHAM - #HR)13.75
[5#8] (  +0.8 m)
105] 1MKH HIHAE 3 (RKFA-HE)13.06
2[ 1] 83915 B BH HL 2 (Fh%yAAC$TE)13.33
3[ 4] 2670 W 48 (UNITE-%%)13.44
AL 7] 44)il o HEAFE3 JIlOmH-5%)13.65
5[ 8130384 M AL Jv 3 (HE¥m-#E)13.74
6[ 2] 42faH WH3 (IAFET-%E)13.78
[ 3] 6304 H 5 48 3 (HEFAT-HE) RiF
[ 6]1634E M 15 A 2 (G % E) Ri5
(748 ¢ +1.1  m)
1[0 4] 99K Baks2 MRAC-#%%)13.10
20 712121 (bW EREAR 3 (Rut=4-#xK)13. 21
3[ 1164660 B & K2 CHE®- - Hi)13.57
40 3] 14#8 85 R %3 (&MTH-H)13.72
5[0 8] 112583 30 % & (VWWz=vAHEIN13. 74
6[ 5] 691K B FH#ks (BMm-¥E)13.76
70 213157%H O kv 2 (JlpdtE-%E)13.76
[ 6] 4198k 7 U 9 3 (HEFNT-5F) Ri5
[9#48] (  +1.4 m)
10 616467 FHH M)yE 2 CEAAR- - Hx)13.35
20 2] 256==> mA 22 (lnEHH-£5%)13. 64
3[ 8]3049%#k L = B 2 (FE¥E -5¥E)13.67
4[ 3] SFEBSH HBES (Bh—4m 55 13.77
50 1] 64k 2 #E3I3 (h—&E %) 13.96
6 4] 61048 )1l X we2 (g d-5E)13.99
70 5]30564% By ¥51 (BEXE-HF)14.06
8[ 7]1248/m ik FE F 3 (IIDEHT-5E)14.29

[2#48] (  +0.9 m)

10 1] 91385 A & Fn 3 (huffifgE-%%)12. 87
2[ 3] 3T A 3 (FKF-HTE)12.88
3L 4]44725 48 A6 Gt g dujand) 13. 06
AL 711031 H H £ we 3 (k& - B £)13. 06
5[ 6] 695/ 5% # Jh 2 (B -H£)13.06
6[ 8] 84HE LAFxib1 (Fh¥yAACHE)13.07
70 5130464 K #f A6 2 (E%m-#E)13.08
8[ 2] 821/ A Hi% 3 (Fh*yAACHE)13. 11

[448) (  +1.2 m)
10 6] 92275 )11 b Kt 2 (g 5% 13.12
2[ 813054(F jE  1E 1 (FERE-HE)13.13
3L 1] 8811 #F BAEE 2 (IAMvfE-%%)13.15
4[ 4] 26272-) 7477 3 (IR +-5%£)13.19
5[ 5]50134a0 Z 0 A 2 (ARG %E)13.19
6[ 2] 356%F 3= 4L 3 (FFE - -£E)13.37
70 3] 358H #E R ¥E 3 (HE-H-#5%)13.54
[ 713053 E H A& 1 BEFE-5E) Ri5
(648 ( 0.0 m)
108] 2% K¥E3 (ki HE)13.29
2[ 6] 2093 JII 2 (HE_d-£%E)13.33
3[ 413037 K& M 13 (FE¥E 51E)13.43
4[ 5] 8483 N ¥ J) 3 (Fh¥yAACHE)13. 53
50 11124748 (L #% 4K 3 (II0ZHH-5E)13. 66
6[ 712889 H  HMEA 2 (BHSER%E)13.69
7[ 213047 £ P2 GEEFRE-5%)13.93
[ 3] 13KR%E J4n 3 (& HR) Ri5
[8%48) (  +0.5 m)
1[0 4] 42210 B %= 22 (Il0fEFS-5%) 13. 46
2[ 8] 2650 ik #E 42 (MRAC-#%)13.50
3[ 615012 KAT A 2 (BRICHEA 5%)13. 74
40 71646811 H i % 2 CHAm-H)13.78
50 5] 461 H & 3 (llnpd-#%%)13.97
6[ 1] Mg K FH3 UloH-HE)14.03
70 2]1037% it H K 2 GGk - 35 £)14. 20
[ 3] 696311 E£EF 2 (BE-HE) Ri5
[10%H]) ( +0.8 m)
10 612119 B HEAR AhE 3 (Raut=H-47%)13.78
2[ 3]213378 % FZ AL 2 (Ry+=F-#x)13. 81
3[ 815464/ Hfix7- 3 (FtERH %) 13. 87
A0 2] 819+ AF  # & 1 (Fh*yAACHE)13. 90
5[ 4]30590% Bt & 3 1 (FE¥E-HE)14. 42
6[ 1] 3684 JII A2 (FE-H-5E)14.45
10 7] 414 B # 72 (lloEh-5%%)14.70
B 72

8[ 5] 22=F i 2 (T 550 14. 80



[1148] (
10 71130285 K
2[ 3]2120K g
3[ 813155 =
4[ 2] 706 M
50 4] 6261 # &
6[ 6]507009 1R

70 1] 365H0 i & 3
8[ 5] 11O

(13481 (

+1.3 m)

+1.7 m)

1[0 8]21321 J Al 2= 2 (R +=h#50 13.
8 #E 3 (Rut=300) 14.

v 4 2 OUERES-5%5) 14,
i) 14,

2[ 612122 %
3[ 3] 65U —
41 5] 6607 H4F) =2 3 (IBRAE S
5[ 1J1241F H  #5 &K 3 (FE_f-%E) 14,
6[ 4] 3540 P kg 3 (HE=H-5E)14.
[ 21124230 (L %% & 3 (B

D AE 2 (IR -5 %) 13.
O3 (R =) 13.
¥ 3 Jlodea-fE)13.
B A3 (FHERR-HE)13.

S 3 (FEgEAT-HE) 14,
4 1 (KEFREHE) 14.

2 (ME=H-5HE)14.
B H 2 (FREET-%E) 14

35
61
89
97
23
30
34
47

86
01
13
32
45
63

bR Rig

[ 714719F 8 51% ?fi 3 (MEFR-HE) Ri5

[15#8]) (
1[ 2] 2064

+0.6 m)
5 %2

3[ 4] 205avh=b V747 2 CBiEE—
4[ 3] 869+ JI|
5[ 1110032 & ZE 3 3 (&
6[ 6]2135% I

708] 17T#H &
8[ 511001 T % |5 £&53 (&

[1748] ( +1.1  m)

1041192244 ¥ = & 3 (BRAF-HE)13.

20 8]21390 7+ % H 2 (Ra+=rf 450 14.
3[ 5]2652 Kk & w2 (R -5 E) 14
40 2] 10678 & 3F 2 CHrEd-Br )14,
50 3] 16720 W #F & 2 (HEA 7% 14,
60 1] 36177 )1l By %k 2 (FE=th-55) 14,
70 612658 = i i ¢ 2 (HiEP-RE)14.

8L 71 M7k wg 23 (REENT-HE) 14,

(19%8) ¢ +1.7 m)

10 71192045 &8 =5 3 (BREIAH-HE)13.
GRf g #%E) 14.
3[ 3] 264K5%; =50 2 (LEAH-#%HE)14.
4[ 51262218 A F A 3 (HEH-HE)14.
%) 14.
7 3 GEARH-£HE)14.
O B3 (BT H ) 14,
17E B = E3 (&3 m)15.

20 4] 621 & Ay 3¢ 2

5[0 6] 9924 kg 2F LL2 (KEi&E-
6 8] 9
70 2] 15%
8[ 1]
[2148]) (  +1.4 m)
10 7119238 i 1%
2[ 2110533 A
3[ 412624 (L
4[ 5] 21527
5[ 6] 135 &K
6[ 1] 1723 i
[ 3]1011Hhn j#
[ 8]50177% jiE

ek E)13.
20 71 1014 1 Fn ME 3 CorE - Fr X)) 14.
-5 %) 14,
B3 s 5 5) 14,
A B E) 14,
B 2 (Ra+=r 5 14.
Bi 2 GEART -5 E) 14,
A5 E)15.

% 3 (RREAT-HE)13.
% B2 (FRE-HE) 14

%€ 3 (AP &E) 14,
76 3 GEARM-5E) 14,
A5 F0 2 (rRmEER5HE) 15.
& 79 2 (I bERHET) 15,

W3 (EAN B E) RIS
B 96 1 (BRIES 5T RIS

89
12
19
41
51
95
62
24

57
21
68
10
12
81
84
99

95
30
96
12
94
95
97
92

88
06
33
41
21
21

[12#0]) ( +0.9 m)
10 6] 203K #F A% £ 2 (Bl —d-#%)13.76
2[ 4]39954% 75 f FL 3 (i -5 %) 13. 84
3[ 8]2123FH{# #ife i 3 (Ryu+=4-#%x)13.85
AL 11212487 3R ok 3 (Rut=f-%x)14.19
5[ 513993 % JII  #F AL 3 (it -%E)14.28
6[ 3] 63277 & #E JB 3 (HEFAH-5E) 14,55
7021 193 {8 P2 (&ETH-HR)14. 86
8[ 71 16/ H H Fn2 (REE+d-5E)14.92
[14#8]) ( +1.2 m)
10 4] 8087t 0 #F H 2 (Fh%yAACHE)13.73
20 5] 211 v = 3 (LRHETR-%%E)13. 84
3L 2] 49/ g FE2 (llnEp-%EE)14.12
A0 7] 421 1L0H = 2 (InfEZH-5%) 14. 30
5[ 8] 437 % it Fn3 (IOmET-#%E)14.50
6[ 11 508 B #& 4K 3 (llHpd- %) 14. 88
70 6]4059-/7 H k£ 2 (ifEbis-5%) 15. 52
[ 3113778 B # 32  (TRAINIHik) Ri5
[16%H]) ( +1.3 m)
10 2] 402 53 #BEHE 2 GEFNT-5%)14.13
2[ 6] 8495 B H 1 (FhFyAACHE)14.30
3[ 312134j# A IR % 2 (Ry+=rHx) 14. 41
4[ 5]2619# (L Zs 8 3 (HHEP-55E)14. 54
5[ 7] 484G 13722 2 (IlNmH-5%E)14.55
6[ 8] 167% # P & 3 (IntEAT-5%)14.73
T 4] 25510 A& FHAE 2 (JI0ZEH-5%E)14. 91
8[ 1] 10350 EE =3 (FiiEd-5%)14.97

[1848) ( +2.2 m)
10 1] 6097 #E 2 % 3 (Hififuh-#T)14.15
20 6] 60845HL < > 2 (BEARH-HE)14. 29
30 2] 20111 # 42 (%2 17 T)14.46
30 8126684 &% F 2 (1 #5) 14. 46
5[ 7]28887F B 5 fE 2 (BH&TA 5)14.50
6[ 41 641 x A& B2 (VKRS 5%)14. 59
[ 3] 60774 H 3 % 3 G4 E) &8
[ 5] 61001 %= 4L fE 3 Gilifuh 5F) K15
[2048) ( +0.5 m)
10 5] 38337 /L FEL2 (b AR 1442
2[ 813185+ 4§ B 2 (+ A4 H%)14. 49
3[ 3112337 #0  #% 4< 3 (L~ H-4T) 14. 68
41 611192 A1 . 3 3 (RESEH-47%)14. 75
5[ 7] 865/ K £ 2 CRIFHP-HE) 14. 86
60 1] 441/ A2 % 2 (HENT5E)15.00
7041 209 W % 4L 2 (AW 55 15. 39
8[ 2] 165K 5 % % 3 (InL#At5%)16.03

[2248) (  +1.2 m)
1[ 312190k ®  Z=3 (+-HAmT-%%)14. 36
2[ 8] 84 B3 GEAT-HE)14. 44
3[ 5] 127HE HAR 3 GEAT-HE)14.54
40 7] 204 FHHR3 (& 1T +)14.58
5[ 21214045 1% 0 22 2 (Ryu+=d 450 14, 71
6 412625 N & A& 3 (HiEH-HE)14.77
70 1311739 52 & 2 (RiEG%R-5E) 14. 98
[ 6] 194X & = £ 2 FES 745 Ri5



[23%H] (  +1.2
10 1161228 1L
2[ 2] 195 &
3[ 8] 152} &
41 6] 42285 H
5[ 3]2138% By
6[ 5] 8511 O
7[ 411185k (L
[ 715401 (L1 15

[25#8] ( +1.3 m)
101 51% R &2 JIlnmd-5E) 14. 91
2[ 4] AT BAEFL 2 (FEFNT-57%)14.97
3[ 6] 261%k v = 32 (LER+H-%E)15.25
41 5] 204/ Ak f Sk 2 CHEE -5 %) 15.29
50 8] 23/ 4L 2 (&M -Hn)15. 38
6 71 16 bk 1% B 3 (&HETH-HR)15. 67
70 3] 262Kk 6 FEBE2 (LERT -#E)15.85
[ 2] 6245 H A4 AL 2 CREfT-5E) Ri5
[27#8) (  -0.2 m)
10 3]19255E J/U w] i, 3 (BHIAH-%HE)14. T
20 2] IR H A 55 2 (RESHR-5E)14.77
3L 7IN12E A FF 2 (EGHE5F) 14. 82
4 5] 392 KA FxFE3 (H R H)15.38
5[0 8] 6238 - BH #j 3 (HEFAT-#7%)16.08
[ 4] 384BF IR H IR 2 (i R F)Ki5
[ 6] 100K, = &4a 3 G- 5iE) Rig
[20%#8) (  +2.3 m)
10 6] 3R A £ 2 GEKRF-HE)15.00
20 412137H#8 A # 32 2 (Ryi+=d3fx) 15. 40
3[ 5] 421 5 fh 2= 3 (WEgmT-5%)15. 45
4[ 8] 381BW 1 A2 R H)15.66
5[ 311007 H £ 4d 2 GEAH-HE)15. 81
6[ 711186/ & v BE 3 (REHHE %E)15.92
[ 2] 620Kk ¥ 1A 2 CRERT-5E) Ri5
[31#8] ( +1.6 m)
03] 1A B2 GERF-£5E)15.50
2[ 5] 382RMK AT 2 (B AR H)15.59
20 6] 5510 38 TS e 3 (BEET5%)15. 59
40 7121275 B B3 323 (Rut=hHx)16.02
5[ 2] 55242 1% 52 (BHmER%%)16.13
[ 4] 708/)s #k 3£ 3% 2 (FHERT-HE) Ri5

[ 8] 4dbHn =R 2 (EART-HE)RiG
4> O

[] LRy |

1 25578 Ff
2 30337 _E
3 3055 1 HL
4162975 K B &
5 9138 K

6 371 A&
79303 B H Ay~ 46 4 (5 £ K- K13
8 3045 7% 1 2 (BmEEE-HE)1S.

m)

33 CGdbm- % $)13. 85
B 2 (FEF—T-5%)14. 30
K 2 (HEF—1-5E)14. 68
MEFE 3 GREFNH-5E) 14. 81
B8 2 (Rart=h5x) 14. 86
B8 1 1 Gh¥yAAC5E)15. 08
[ 45 3 (RiEG%E %E)15. 11
Wk 2 GHEE BE) Ri5

ZEE (UNITE-#%)12.
Bk 3 (BER

60 +1.
B E)12.65 +1.
B 3% 1 (B ERE - E)12.75 +1.
s 3 GHANEEE -8 E)12. 77 +1.
g ﬂl 3 (icififne - # %) 12. 87 +0.

ZH 3 (R K[E B FE)12. 88 +0.
02 +1.
04 +1.

_ e O O =

[24%8) (  +1.3 m)
1[0 5] 923H @ HAAE 2 (FHEAT &) 14.17
2[ 211008 £ #b Ay 2 (GEAH-HiE)14.55
3[ 8] 20948 A FL.v2 (2 47 H)14.89
AL 4121 K 78 H 2k 2 (Rut=4-#1)15. 25
50 1] 10593 ASktv 2 G- ¥ %) 15. 68
6[ 3] 9282 A& i A2 (FHEAF-HE)15.T1
70 6] 924 /& ME A 2 (FHEEY-%E)15. T
[ 7] 49075 £ k2 (REm-#E)Ri5H
[264H]) ( +2.0 m)
10 7J1010 R & )11 #5 2 GEARH-£5E)14. 88
2[ 4] 703/ F B Hx 3 (PHERT-HE)15. 29
3[ 5] 841MR &= FE &1 (Fh*yAACHE)15. 31
4[ 3] 2548 4% A bk 2 (InEEd-5%%)15. 32
5[ 6]54020% & # §F 2 BHEKEHE)15. 57
6 8] 4184% i ¢ Jh 3 (WEFMN+-%%E)15. 61
70 2] 637/ %y 2 2 (FEFAH%%£)15.70
[ 112626/ 3¢ fb 3 (HEEH-HE) Ri5
(28%0] (  +1.4
1[ 6] 8504 JiL
2[ 7121448 K
3[ 5] 11878 K
41 2119240 K

m)

51 GhdyAAC5%)15. 06
%02 (Rat=h57) 15. 51
ﬁ\ 8 3 (M55 5 5%%)15. 64
B 7 3 (REAH-#%)16. 33
it 2

\

[ 3] 61[ I (FEARD HE) Ri5

[ 41266912 [ 22 (R -HE) Ri5

[ 8] 629°FH Wik 3 (FEHAT-HE) R
(3048] (  +1.3
1[ 411180 F #f
2[ 6]19414% ji
3[ 8] 9944F K

%ﬁ# Fﬁ E“

m)

28 (K 3 (RE5%E-%E)15. 33
S 2 (REAH-5E)15. 40
By 322 (KEe-5$)15.52
A0 2] 2118 0 o #k2 (%2 17 +H)15.83
50 3] 62241 JIl T #k 2 CEHfIH-5%%)15.93
6[ 7] 5744k  fE H (I0TkER-%%)16. 31

[ 5]501844 A #k 1 (BRIUERE-HE) Ri5

[32#H] ( +1.2 m)

10 6] 2671LA ¥ 52 (ERAET-5%)14.70

2[ 8122264 v FERL3 (Fem-Hi£)14.93

3[ 7] 213pk W HJh12 (% 41 H)16.51

41 3] 8713k W # & 3 (KIMF-HE)17. 26

5[ 4] b4tk ¢ Ay P 2 (BEHER-HE)17.57
[ 2] 25000 & O % 2 (IInERA-5E) Ri5
[ 51194027r N 0 & 2 (REAT-HE) Ri5



ZF 200m REEO14R)
[1#8] (  -1.5 m)
1[ 5] 5378 Hi £ 3 (H&lihK-#E)25. 44
20 21136814 [l %8 % 3 (H A&k #)25. 67
3[ 41453757/ O LD 3 (Hklkk-#E)26. 01
A7 613055F1 B B 3% 1 (B5ERA-5F)26.29
5[ 3] 6039F=z7F 77+F4v 3 (MRAC %%)26. 65
6 7] 887TH B B Jh 1 (InivE-%E)26. 83
[ 8180861 5 i (TRAINI-Iik) &Ri5

[3#8] ( +0.1 m)
1[ 5]13046 A A i #F 2 GhEXmE-5E)26.57
2[ 8] 3944 ik A WE3 (M AR H1)26. 84
3[ 2] 821/mpk AH(% 3 (Fh¥yAACHE)26.99
4[ 4] 876K A w1 £33 (IlAfiE 5E)27. 31
5[ 6] 87589 O #& 74 3 (nffivE-5%)27. 44
6[ 7]3057% B HjE 1 GGERE-HE)28.35
[ 11040555 7 U A7 4 2 (k& - By B) Ri5
[ 3] 4814F &= I &F 3 (REm-&HE) Rig
[5#8] (  +1.1 m)
1[ 415067 i1 & B 1 (KEFREF-HE)27. 03
20 1] 44)iio HEAE3 JlomH-5%)27.93
3[ 6]506648 A 1 HEFRF-HE)27.97
AL 2] 1187 3§ 3% 2 (ff—khe-5%)28. 15
5[ 7] 42 \Whb»3 (IlnEH-5E)28. 26
6[ 3] 691K By FF Ak 3 (B 5 E)28.29
[ 5] 419Fgk 77 U 3 GREFNS-&E) Ri5
[ 812889<F - HMt ¥l 2 (BHsEa &E) R
[7#8] (  -1.8 m)
1[ 3130494k J/U 5 B 2 GhEXmE- &%) 27.88
2[ 1] 738%% fie W& Ay 2 (RRHEHT-HE)28. 57
3[ 413155 =4 ¥ 3 (lodts -%=E)28. 92
4[ 5] 438HE BF = 1 (LEMER 5E)29. 32
5[ 8] 255(L A& E 2 (II0EHH-5%%)30. 82
[ 2] 256= mAf A2 (I0EHT-5E) Ri5
[ 611191 2832 3 (Rs%e & F) Ri5
[ 714058 M HI 32 2 (HR¥heE-5E) Ri5
(948 (  +0.1 m)
1031 64k 2 3 (k5529 1
2[ 41451/ B v (FRLC-HK)29. 74
3[ 2] 8719 jiE Mk & 3 CKJFHH-5%)29. 98
AL 7] 62155 B A % 2 GRIfis-5%)30. 90
50 5] MThih  BF = 3 GHEFNH-5%)31.12
[ 1121427 K Bk B 2 (Ry+=985) RIS
[ 6] 61011 )& #L {3 CRilifnh %) Ri5
[ 8] 609% ik % & 3 GHilif+-HE) Ri5

(248 ( -0.8 m)
10 6]30457% 3/ 222 (BEXmE-%E)25. 67
2[ 5] 914 5 £ A 3 (HullifE-5E)26. 42
3[ 812798/ HIl = I 3 (B Fm-HiE)26. 61
40 2] 99KE AL 2 MRAC-¥E)26. 71
5[ 1] 695/ 7= g Jh 2 (B 5E)27. 22
6 3] 75341 B 5 2 GBIk %) 27. 63
[ 414673 A1 £ B 3 (ASLACHE) RIG
[ 7] 31# A 3 (RKF-HE) Ri5
[4%8] ( +0.5 m)
10 4128147 & Z=#03 (BFm-5%£)26. 17
2[ 3]10767& 1 FH &2 (R -5E)27. 1
3[ 2]13157&M O &V 2 (lndeE %%E)27. 33
4[ 5]1650 H  FE 2 (HfimEm-5wE)27. 11
5[ 8]32504 & #hAl 2 (HEARKRE #E)27.98
6 715012 KA HARIF 2 (BRUERE %F)28. 23
70 6]2133A8 ¥ 4L 2 (Rut=H-#%)28. 32
8[ 1] 808 4m {8 A 2 (Fh%yAAC4TE)28. 63
(648 (  -0.8 m)
104] 2% KRE3 (ih—4F5E5)27. 42
2[ 8]1247#2 (L #h 2 3 (II0EHF-%%)28.10
3[ 6] 723K B H B3 (RRHEHT-5%)28. 28
4[ 5] SFEHBI BERE 3 (Fi—ka%E)28. 36
5[ 1110738%iA 373 (LRERE-HE)28. 68
6L 71 46 H W3 (IlOmEF-5E)28. 91
70 32119 BLHEAR A=K 3 (Rt = 47%) 29. 05
[ 2]1248m i B8 3 3 (II0EHT-5E) Ri5

[8%8] ( -1.4 m)
10 6] 203K #F % £ 2 (BfE -5 F)28. 62
2[ 415464/t HERT- 3 (MrEEE5E)28. 90
3[ 8] 21341 A AR Jx 2 (Ryit+=h1Hx)29. 34
40 1] 65U — 7 ¢ 2 (JUHKREH-5%%)29. 35
5[0 7131587 it M AR 2 (llodts-&E)29. 39
6[ 2] 20534 —b V747 2 (HJE_d-5%)30. 78
[ 3] 6074 H =K & 3 GRffIT -5 %) Ri5
[ 5]1241 % W fE 4K 3 G _-5F) Ri5
[10#8] (  -0.1 m)
10 5] 2061 & ¥ 2 (B _+-5E)28. 69
2[ 41262040 [ Fj#E 3 (AP -5 E)30. 65
3[ 712617 hn%E €58 3 (HEF-55E) 30. 88
4[ 3] 25448 & HMh b2 (Ingkd-5E)31.25
5[ 2121378 A #0322 (Ry+=-Hx) 32. 31
[ 6]2708R5 4R H 43 (HHHP-HE) Ri5
[ 8] 876/N% #fF 43 (KFEHT-5E) Ri5



[(11#8) ¢  -1.2 m)

1[ 5]2650#K & B Z<2 (HiEH-£5%)31.34

2[ 71276845 K HE2 (FHET-HE)3.T5

3[ 2]27624m  BE AL 2 (HEH-#£)32.33

4[ 3] 5517 & A W 3 (RS EH5E)32. 58

5[ 812663 M L2 (Bt -5 E)34. 96
[ 4] 620Kk ¥ W 2 Gl 5% Ki5
[ 6] 630K ¥ #h 2 CRHFIT-5E) Ri%

TF 400m RS GHE)
[148]

10 2] 9168k Bf
20 4] TIARLh

) 5 3 (g -%%)59. 15
B =1 sk KRR 1:00. 74
3[ 7] 539z i Bl X3 (ALK -%%£)1:01.12
4[ 8] 884%k (LI H fH 1 (II0HivaA-5%)1:02. 58
5[ 6] 753418 5 2 CURHEBL-F)1:04. 10
[ 3]10405cHF 7 U A7 4 2 (k& - B B) Ri5
[ 515461 Ak 8 & 4 (FFEK-55E) Ri5
[3#8]
103] 3K
2[ 4] 693K (L

B G 3 (B EEK-#%)1:02. 96
W %53 (B &%) 1:02.98
3[ 5] 694 LA LiE2 (BiM&-#%)1:03.05
41 6] 483 N & 3 (KEmE-HE)1:03.49
5[ 2]3037 K= # 13 (BExRE-%%)1:03.80
6[ 7] 20°F# £ 723 (RKF-HE)1:04.49
7081 699/ b 32 (Effm-#E)1:05. 65

(5%8]
10 513998% W 4F fn 2 (Efdbe-%%)1:07.14
2[ 2]6123)11 1 B % 3 CRALE-FE)1:11. 46
3[ 8111794bJF 1ZD A~ 3 (REGER %E)1:12. 84
4[ 6131524 F£MFEF 3 (llRdbs-5HE)1:13.35
5[ 3] 625m#E U7z 2 GRIfifd-5E)1:15.22
[ 4] 489 & %= 7 2 (REm|-HE)Ri5
[ 7] 630k & Ah 2 CEERIH -5 %) Rig

ZF 80 0m REE(1048)
[148)
10 5128063 B 106 3 (B £E)2:19. 44
2[ 6]2809/NF I 1E3E 2 (BFs-£5)2:19. 78
3[ 112816 =7# #jF 1 (B¥E -%E)2:19.84
40 21281710 [ Bk 1 (B -£%)2:19. 97
5[ 7] 884%k 1L = FE 1 (lofivE -%E)2:22.14
6 81626853 £ 3 (WEpk-HE)2:22. 59
[ 31626285 & B ¥ 2 (BBA-HE) KI5
[ 4] 8723 [ 26 w6 3 (INmvE-HE) Ri5

17

%/
iy

1 5378

A
(=]

¢

163 (H&lhR-555)25.44 1.
213680 (L % A& 3 (H&RK- i) 25. 67 1.
230450 i EE2 (W ESem-#5E)25.67 -0.
4 4537504 O LD 3 (HRIEKR-5%)26.01 -1.
528147 i =AM 3 (B V- 5 £)26.17 +0.
6 3055 HL 5 32 1 (B RO - 55 5)26.29 -1
7 9140 % kA3 (MffE %) 26. 42 0.
8 3046 A K i i 2 (B ERE -5 E)26.57 +0.

[248])
1[ 3] 9204 £/ |5 & 2 (iviffig-%%)1:00. 77
2[ 5] MKH BHHEFEF 3 (RKFE-HE)1:00.99
3[ 213048 A HET 2 BEXRE -HE)1:01.98
A1 7]11038%8%F M E 2 (ks - B £)1:02. 03
5[ 8] 875 1 #% 4 3 (A& %%)1:02.16
6[ 6] 481K I W F 3 (KEm-H1£)1:02. 46
70 4130475 £ £ 2 BEXE-H%)1:02.59
[4%8])
10 61103248 J 2 B 3 (3% & - B 1) 1:06. 46
20 413247 =18 1&HE 2 (REAkE-%E)1:07.28
3[ 3130588 ULV 1 (BFERE -HE)1:12.69

[ 5] ML F 5 2 (Ei—%E-5HE) Ri5

[ TI0T3A 31 3 (ERA-HE) Ri5

[ 811191 %% 3¢ 3 (RlE5HE-5E) Ri5

i)

=)

e/

916 sk ¥ ) 2R 3 (i Ciffim - %)59. 15
TIARY & 21 GRYERERS)1:00. 74
9201 £ 5 A& 2 (e -¥%)1:00. 77
ML BIHAE 3 (B KA - 5 %) 1:00. 99
539 /U B 3¢ 3 (A&kK-£%)1:01.12

6 3048 A HE 12 (BiExm-5%)1:01.98

7 1038%&4F #i 3k 2 (b & - & $£)1:02.03

8 875FH M A& 3 (llOiii&-#E)1:02.16

w ——
&~ N 54

(5]

[248]
1L7] IR b
2[ 5128150 Z#2 &
3[ 3] 4837 N &
40 1] 12% ) 5=
5[ 811474 K iU %k
6[ 211713k H

10 4127973 JFH: o5
8[ 616267 {RFn3E

R ERR) 2:
B i E)2:
Rem-&E)2:
WR—heE HE)2:

1 ( 20. 22
1 (
3 (
2 (
3 (FHEH-HE)2:
3 (
1(
3 (

24. 36
24. 84
26. 80
26. 94
30. 47
33. 43
39. 66

N

e

& 3 KA 5 2
BT ) 2:
WK HE)2:

— 00 1 O1 O1 ©© C1 O



[3#8]

10 6] 21042 J
2[ 7]12709=F ¥t
3[ 5]1072~7 )1
41 2] 618 A
5[ 3116397 k
6[ 4]54627% &
7[ 8] 8864% i
8[ 11270748k it
[(548]

1[ 612764/~ #k

3[ 1] 2064 i
41 7] 8747 &

50 8] 2014 EHJN5E 2 G

6[ 4]2701 5
T[ 3]5104(F ik
[ 2]1718 K K

(7%8]

10 12791 K5 1L AR50 3 (B Ve
X B TE 3 (Biut=mHx)2:38.
42.
43.
49.
53.
7?2 (B - B E) Ri5
3 (InERT-%%) Ri5%

2[ 3]2128 %
3[ 7127658 0
4[ 812763 /%
5[ 2] 804+ %y
6[ 412700/ H
[ 512761%% /K
[ 6]12505 K
[9#H]
10 3] 4873 75
20 4] 21036 %

72 1 (K JR-HR)2:
(FJRH -5 E)2:
i s 3 (LRS- E)2:
%o 1 (g 5%) 2:
(Z=h-BE)2:
# 3 (MtEREHE)2:

T 3

3 LL2

P

L

7‘1 (H[:]mirj %E)2:
A3 (FRH -5 E)2:

Fi 4 2 (FR-fi ) 2:
2[ 51315691l Hfkss 2 (Ilndes &%) 2:
w2 (& A1 H)2:

4 L

&3 (IAmE-5E)2:

B E) 2
23 (R E) 2

e 1 (BRI HE)2:
B E) Ri%

&2 (-

B2 (BRP-HE)2:
5% 5'%2 (R - E)2:
75553 (BRUHEFR5E)2:
5?][]2 (FRH-HE)2:

«

\._

_H
4um

P
%HF

2 (REm-8%E)2:
%2(71 ﬁ H)2:

==

ES

\

3L 712770/ LR M2 (HEP-HE)2:

41 5]16371% B
50 8] 611°F [

Bii A 2 (HfR - HE)3:
W B3 G- 5E)3

BE)2:

21.
28.
30.
31.
31.
33.
34.
34.

34.
36.
36.
36.
:40.
148.
92.

18.

44
48.
92.
01.
:03.

[ 2128864 J+ 1B Fn2 <%f£§h£ﬁ HE) Ri5

[ 6]

/\A
s 3

8511 A

12791 BRI AR SRR 3 (B -
Fwe 3 (B
3 2809 /NI FE3E 2 (B -
42816 = jiti #1711 (B¥m
B 4 1 (B P
6 TIKY HZ
7 884%k 1L EFE 1 (OG-
8 6268 TH £ 3 (HFIK-HE)2:

2 2806 1] B

5 2817 (11 [i]

M 2 (D&

B E)2:
By E)2:
By E)2:
B E)2:
B E)2:
1 GRRFERERE) 2
k) 2:

Hik) Rig

82
84
60
58
81
03
51
91

95
41
44
89
82
42
16

45
34
68
39
97
17

66
29
23
01
08

18. 45
19. 44
19.78
19. 84
19.97
:20. 22
22.14
22. 59

[448]
1071 TXkE
2[ 5]  THEM

3[ 8]2702%%
4 215103 #
5[ 6]27047% fi%
60 4] 211K %
70 311042 8

8[ 1]5468H H

(6#8]

10 3] 24855 #f
2[ 61318875 /K
3[ 412766 1L &
41 8126684 [H
5[ 2] 253+ #f

6[ 7]31521Ff S

[ 1] 489f% 4%
[ 5] 956% H

(8%8]

10 3]1051/hvpk =02 (BRm-RiE)2:37.
L3 (FHERT-H%)2:

2[ 2] 1014% A&
3[ 4112364 +
4[ 5128865k I
5[ 7]1052 &
[ 1127935 ZH
[ 6] 252+ =

[ 8] 625E#E O7e7- 2

[104E]
10 5] 62748 H
2[ 7] 107/ =
3[ 4]26647F %
41 3] 6261H =
5[ 8]12513F #
6[ 212767/ H
[ 61103677 #k

HE RS JlnEP-HE)2:
& FE 3 (if—%m 55 2:
BRAE 3 (B - E)2:
We Fi 3 (BRIUER-HE)2:
3 (ERH-BE)2:
B2 (KJR-HH)2:
B E)2:
(tERR-#E) 2:

e 22

w42
A2

CIER

ﬂ

D2 (JIDERY5E) 2
AE B2 (F2AER-HE)2
a2 (BRP-5HE)2
& Fj 2 (Bl -5E)2
(JIOEERHE) 2

;E%Wﬂ 2
91 4

f}

e

Al

{H

Gl
~7
H
*
+
B

DD DN W DN

& %3 G —h-5E)2

% & 2 BHHER-HE)2:
ODH 2 (FRE-HE)2:
i 1) Ri5

923 (B

Ot -5 %) 2:
(K'E - B 5 Rig
(FRBHED L) Ri5

27,
28.
29.
31.
33.
36.
36.
37.

141,
142.
143.
145,
146.
52.

38.
144,
52.
94,

252 (InER-5E) Rig

W FE 2 GRiffn -5 %) 2:
KAy 2 (FRERT-HE)2:
fit <2 (A5 %) 2:
R 2 G- £%)2:
0 3 (IR 5E)3:
B2 (HEh-5E)3:
5 5 Ri5

B3 Gk -

2 R &%) Ri5

94,
56.
58.
99.
16.
17.

A
81
04
41
34
52
96
66

52
10
44
30
08
46

97
66
317
11
21

19
42
43
12
39
10



ZF 1500m R ULA)

(1#8]

10 3]27945% W #5 ¥ 3 (B -5E)4:33.90 12[21]27987% /K J#k J 1 (B -#E)4:58. 60
20 2] 811'E H # L3 (InHviE-5%)4:42.11  13[12] 8853 i & 3% 1 (Jlnivg-#%)5:01. 29
3[ 412793/ 76 L IE3 (BVE-BF)4:45.12  14[19]6266%E M 1% 72 3 (¥ k- -#%)5:05. 74
4[13] 8737 A & = 3 (IIAhivgE-%E)4:49.07  15[20]1639% L 3 DL 2 (==h-#%)5:10.00
501511474 K i 7 3 (FHET-£5F)4:49.28  16[17] 164 H I ¥ 2 (R KF-#7F)5:18.24
6[ 6128120 25 W B2 (B V- -8E)4:49.36 17[18]  9Rb JIE B 4 2 (ff—kE%%)5:34.15
70 916268581 H F£Fn3E 3 (EFFA-5E)4:51.07 [ 1] 8724 B 3€ we 3 (Mg 5%E) Ri5

8[11]5101 J H{E#] 3 (BX AR %%)4:52. 94 [ 5] 2791 Rl AR5EMR 3 (B -5 E) Ri5
9[1611070~7 )11 48 2 3 (LE&-#E)4:53.90 [ 8]62628% A 5 ¥ 2 (HERK-HE) Ri5
100 7128073 F E &2 (B¥m-BE)4:55.24 [14]6267%1H fRFnE 3 (EEREK-&E) Ri5
1101012810k = 50 2 (B -#%F)4:58.03

[248]

1010] 21042 1 (KJR-#HZ)5:01.20 120 9] 211Kk B B #H 2 (KJR-#¥%)5:17.76
2[ 8] 12% % 2 (Wf—%E-5%)5:01.24  13[ 411035 K 485 BB 2 3 (i - 5 £)5:18.75
3[16] 4825 1% F3 (KEM-BE)5:02.06 14[15] 173} ¥  #E 2 HEF—P%%)5:19.01
411711062 F'Eﬁ *2 (s 5%%)5:02. 67 15[ 1] 8864 15 %51 (lnffivg-%%)5:21. 51
5[ 5]1072~7 )1 fii 3 (FEE-%%)5:03.90  16[20] 37 fE & M3 (Hf—%E-5%)5:22. 38
6[12] 1080 (L El 2 (FRE-%E)5:10.67  17[19] 151 5L M/ 2 (#EE—-5%)5:23. 08
7[14] 7Kk 2 EFE3 QIpfEt-%E)5:11.78  18[ 6]10208% 722k Gtk - #x)5:23. 80
8[ 21510274 & & A0 3 (BRUEE-5F)5:12.44  19[21] 18 % L RL3 (SHTH-H50)5:26.75
9[11]4683%2f #jx % 3 (HRAE -%5%)5:14.20 20[ 71195345 A B 2 (AAELLE #1)5:28. 44
10[18] 6088 (LI ] |z 3 CHjEfF-%¥E)5:15.17 [13] 1043 Fit-Jal EfE 2 (R =1 - #r ) Rig
11[ 3710423 b 4<2 (¥R - 85 £)5:15. 24

[3#H]

103] 7MW f&KIE3 (if—k&%%E)5:17.29 12[18] 488fH H ?H%W (RE -5 £)5:35. 81
2[14] 102°F [l &5 & 3 G+ -£1£)5:18.03 13[ 7110022 I $5 & 3 (EAH-£%)5:37. 49
3[11] 8747 & T3 (JInmvE-%%)5:21.12  14[13]10711 H ¥ ,%KB (FR2E-¥E)5:40.08
40 1] 212850 O 72 (%2 17 H)5:21.86  15[20] 14ZE A% K B 2 (FREED-5%)5:44.13
501711051 /h#k &0 2 (FEE - #E)5:21.93  16[12] 423 57 # % 2 (lnkEzf-4%)5:44. 20
6[ 2]3156 /91 M4 2 JndE-%%)5:22.52 170 911052 & O & 2 (LRS- 5 E)5:45. 96
70 5] 248%= %t FrJh 2 (Insad-4%)5:28.72  18[15] 201 K5H ELAREE 2 (FE —rh-%%)5:46. 59
8119110064+ 87 0o B2 3 (BAP-#%)5:30.35  19[16] 1704 | #j £ 2 @EFE—1#%)5:48. 30
o[ 8] 2085 A 52 (&MTH-#50)5:31.73 20[22] 2768 & i 353 (FRFAET-5F)6:12. 48
10[ 6] 253 & 38 & 2 (JIDEHH-5%)5:33. 24 [10] 252+ = K &% 2 (IpZHH-&%E) R
110 4112502 & T = 3 (lpEad-%%)5:33. 85 [21] 102)2 H & & 2 (RE5HE-5E) Ri5H

[44H]

10 112128% & & 463 (Rut=#-#3)5:34.14  12[16] 927 L H 5!%5*;2 (FHfEEH%%)6:15. 58
2[ 2] 265%% F M2 (LRET-£%)5:35.26  13[ 6] 553°&WF E(ESE 2 (BHLET 5E)6:24. 85
3[ 3140528 H 2 (ERFkE-5%)5:39.29  14[20] 193%F B w2 (HEFE-T-%5%)6:33.18
A[ 4] 2087 )il & L2 (& 47 H)5:40.16 15[ 5] 1014R & # B 2 (5% 5 %5%)6:33. 41
50 7] 4873 H ZE ¥ 2 (KEE-%%)5:40.94  16[19] 18 ER)I| Zik 2 WEE—1%%)6:37. 65
6[ 8] 13FE M 1B ZF=3 (FEAH-£%)5:53.85 170131125190 S & 03 (lnEfH-5%)7:06. 21
70 9] 52/ Ak fEE2 (loEd-#%%)5:56.58  18[12]13611 4% JII & = 2 (BHEHE %%)7:16.69
8[10] 58fx A Fldr2 (JIIAET-5%E)6:03.53 [14] 53&% O K2 (uuﬁt{: tﬁ)ﬁzi@—
9[18] 190°E [d #V Wl 2 (FEF—h-5%)6:11.98 [15] 8685 A 5 2 (I0EER &E) RiG
10[21] 26338 H #5 K2 (LEAT-%%)6:12.90 [17] 956 H 3§ 2 @Jiu#ﬂiq] fiE) Rigz
11[11] 27248 & #t Jh 3 (LRWEJ-£E)6:12.99 [22] 10011 WH & 2 3 (RESHE-HF) Rig

it M 5E
oF O H

it
7

%

S tb:lﬂ R#



i AN

1w,

—

ZF 3000m R

101] 87ME | # W3 Jlnmig5%E)10:

2[ 2] 873¥F /K “E 7 3 (IlRiE-%%)10:

3[ 3]1070~7 )11 & 3 3 (J:J?%,—J W) 10!
4[12] 482 B = 4E3 (RE®-&E)10:

5[10]10624 M =F2 U@Wqﬂ BE)1T:
6[ 5] 885iT fiE b = 1 (lnmvgswE)11:
70 81080/ [ H X2 (ER&E-HE)11:
8131424055 il K H 2 (KE#HE HE)11
9[ 9J1035 K #& B 4 3 (k= - B £) 11
10[ 712557k A 3% £ 3 (MAME-HE) 11
11[ 4]6266%E H r;r 7o 3 (BERAHE):

(1#] ¢ +0.9 m)

1[ 6] 6037771 77+#1v 3 (MRAC -5 %) 15.
2[ 5] 839 P8 B H 2 (Fh¥yAACHE)16.
3[ 4] 1445 B F 33 (BRI HE)16.
40 T12120K Mg 3 B2 3 (Ryf=h-#5%) 16.
5[ 8] 35574 A AL 3 @E=rp-HE)17.
6[ 3]1459 LA HWD 3 (KAHH-HE)1T.
70 2] 15/ o0 BE 3 (&ETH - H R 20.

(3%#H] (  +1.4 m)

1[ 3] 4385 B Z= ¥ 1 (LREMIER 5%)18.
2[ 4A11409FEE #Jh%E 2 (KADH-#$)19.
3L 7] 1935 & 2 (&R - H R0 20.
41 6]2135%F #I 2 (Rut=F-Hr)21.
50 8] 100K . Z &42 3 CHrEH - E)21.
6 5] 12T /% & 2 (FiREER%E)23.

L\I:I

2794 5% W A5 % 3 (B iE - B £)4:33.
2 8T1E H AL 3 (llOmiE-5E)4:42.
32793/ H L HE3 (B ¥ - & £)4:45.
4 8737 K B =3 (IOME-wE)4:49.
51474 K J7 2/ 3 (P -HE)4:49.
6 2812F 55 % B 2 (B & - 85 £)4:49.
7 6268 %1 LR 3 (R R -HyE)4:51.
8 5101z HIfEFH] 3 (BRCHE -HE)4:52.

90
11
12
07
28
36
07
94

15.
24.
47.
99.
08.
08.
14.

:15.
:16.
:21.

30.

02
20
12
80
03
84
19

41
93
20
29
34
05

[ 2] 438H1 & =K H 2 (HEFNT 5E) Ri5

/\A
s 3

1 6037Fz71 J71F4v 3 (MR A C - %)15.02 +0.
2 8391 B8 BHE 2 (FA¥yAACHE)16.20 +0.
3 14 Ey A3 (EHTH - ) 16. 72 +0.
4 2120 K g 0 B3 (Rt =H- 550 16. 80 +0.
5 3558 K A3 (B =P -#F)17.03 +0.
6 1459 (L H\0 3 (RADH-HE)17.84 +0.
7 438AE B Z= g 1 (BRETRER-5E)18.41 +1,
8 604)7 M H X3 (BEARP-H%)18.65 +0.

19
95
05
54
16
19
88
97
15
59
99

W O© © © © © ©

121614683 °2[if] #ij~ 3 3 (A& &%) 11:33.
130 6136108 H & & 2 (REMHA HE)11:35.

14[17]4241 7 H

15 (181324142 If

16 [15]
17[21]
18[14]

37 R
4887 H
9fib JiE

192011071 H
20 [22] 2559 ¢ H
[1115469)11 1
(1911043 H A+ ?%2 (Bt & - 7 ) Ri5

hEZF 10 0mHI[0.762m/8. 00m] Mk (448)

(2#8]

( +0.3

K1 (REAR &) 11:54.

i 3 (FERKR HE)11:59.
B W3 (k& 55)12:04.
T 2 ORE&E-RE)12:19.
B A2 (ke 5E5)12:24.
¥ a3 (LEm-5HE)12:34.
ﬁfZ (BATEE -5 ) 13:59.

2y 2 (tERR -5 %) Ri5

m)

10 3] 604) 0 b X3 (FEART%E)18.65

2[ 8]
3[ 2]

6k )11
157 H

41 61213938 &

5[ 5]
[ 4]
[ 7]
(48]
1[ 4]
2[ 7]
3[ 6]
4[ 5]

2158 ™
877 54
706 /% H

( +0.7

155 &) 1
8601z H
1955 1

10678 %

# B2 (ke -%%)18. 83
B 7= 2 (MEF—h%%)19.16
W OB 2 (R f=HH3)20. 15
¥ k2 (&N HR) 20. 23
F ARG 3 CRIFRH -5 ) Ri5
B 4 3 (FHERT-HE) RI5
m)
M P2 (WEF—H%%)19. 85
%ol 2 (KA 5%)20. 13
me 2 2 (fEH—-5%%)20. 58
3 2 CErE - 8 %) 20. 65

5[0 2] 26572!7)3%% 27z 2 (R -5 E)22. 06

6[ 8]

3854 T

fii %€ 2 (fh R th)22.65

70 3]1405H & ME2 (KBAH-5E)23.09

68
02
32
10
48
07
90
85
00



ZF 100mHI[0.838m/8.50m] &A% (340)

[1#8) (  +0.7 m)
1[ 4127977 &K 2 43 <E.ﬂ?%}-i%§£)14. 46
2[ 3]4472% #& AE (et TughInjefi) 15. 82

3[ 716263 K Hiia2 (Hﬂ%ﬁmk ii}f)15 87
4 213051 g A fE 2 (BFERE HE)16.73
5[ 1]5465 EHLE Hra 3 (%u%ﬂ%‘%-tﬁm.og
6[ 6]30565% HF 1 BERES-EHET.21
70 8] 527Z=H4RBE Hbl 3 (H&fkK-F3E)18. 04
[ 5] 6037F=7F V77747 3 (MRAC -%%) Ri5
[3#8] (  +1.3 m)
10 1132504 &8 AR 2 (FEFER 5E)17. 46
2[ 71315878 5L ) IR 2 <||mt; i7£)18. 85
3[ 614690 K.t [5 & 2 (ARkAm-#H%)19. 02
41 2110533 A 2k H 2 <LJ%m i§£)19.55
50 5] 1181 H P H B 3 (ME5HE-%%)19.76
6 4] 881JIl & B B8 2 (JIOTiE -#%%E)20. 94

(240] (  +1.2
10 4] 4KRWN
2[ 5] 878 &
3[ 31107674 H
41 6131543 H

m)
% 3 (Ff—kE%%)16. 96
Z= g 3 (JInmvE-%%)17. 43
H K2 (FR&E-HE)17.68
FL0 3 (lnds-#%%E)17. 84
5[ 215064%) (L 3% ¥F 2 (BEFEA 5%)18.10
6 1116274 j#& 7 P 3 (g - #%)19. 02

[ 711182k E =< 5 3 (RE5HE &5F) Ri5

[ 8] 99274 By 2 LL2 (KELAE #F) Ri5

D AN
e 3

127973 K £ 43 (B 1; i%£)14 46 +0.
244725 48 W AE (e Tanogh Project 1) 15. 82 +0.
36263 K5 Hia2 (z?ﬁmﬁ 171)15. 87 +0.
43051 g A fFE 2 (B E%RE-HE)16.73 +0.
5 4R EME3(HM—&E 5E)16.96 +1.
6 5465 EARHER HrEx 3 (FtEKE-#%£)17.09 +0.
7 30565% B 1 (BWEXRS-HE)1T.21 +0.

8 8718 & ZEUE 3 JIOWVE -BE)17.43 +1.

(2#8]

[ 313244)11 £ ¥ 1t 3 (AFkE &HE) RiH

[ 812884 M By B 3 (WHkER HE) Ri5
TF 400mHI[0.762m] RB% (34R)
[1#H])
104] 19 FE W vw2 (BKF-%%E)1:05.63

2[ 511630'F )5 HA 3 (HfipEm-£%)1:08.18
3[ 7175310 i FE AE 2 GURHEEK-F1)1:08. 40
4[ 3]5465 EHNE HrE 3 (%u%ﬁf%‘%-tﬁﬂ :09. 07
5[ 8130364 H: 33 BEXE-HE)1:11.16
[ 6]50574F (LI %% BH 3 @ﬁ%h BE) Ri5

[(3#8]

10 413247 = Jii
2[ 511631k &

fOHE 2 (EARR 5E)1:14.97

dfAT 3 (HfipEE - E)1:16.13

307] 923 A KE 20 #E 2 (fivifgE-%5E)1:20.19

A0 6] 108k H & &2 (Bf—4F-5%%)1:23.19
[ 311182k =< & 3 (flis%E &F) Ri5

1041 9121 1 X 4 3 (fiviiifg %%)1:08. 46
20 51T R o x 3 (RS- B E)1:11.72
3[ 8] 694 LA LiE2 (B -#E)1:14.85
4[ 6]4690 Lt B &F 2 (FRAR-WE)1:24.27
[ 3] 878Mp &~ Z= ¥ 3 (IO -5E) Ri5
[ 7] 699H i b 5w 2 (B & -HE) Ri5

wa

1T 191 F w2 (KA - #%E)1:05. 63
216308 L KA 3 (Hifirgm-#£)1:08.18
375310 % FHAE 2 BURERLK-%#)1:08. 40
4 9121 i B A3 (M- -5#E)1:08. 46
5 5465 EARER HraE 3 (FtEE&-#%)1:09.07
6 30364 H: By 3 (BERS-HFE)1:11.16
T &RE Beo& 3 (M - B E)1:11.72
8 694 & LE2 (B85 E)1:14.85

v

ZF 4xXx100mR R GH)

[148]

1[4 B ERE %5 (3055 B B 52 1-304508 0 Z£2 30464 K #5852 3033#h B £ 3)49. 21
2[7]) HWEE iﬁ( 881)1| & Eﬂf*z 876K #F HI 233 875 O ft 43 887 B %%1) 0.96
S[6] & m - B E( 694 LA EyE2 695/ 5% /b2 691 KB FH#%3 699H 3£2)51.28
A [3]iHAnEE & - h£<1621/\ HIZ$3-1629:5 Kk B Z33-1630F L) XA 3-16264L & 75;&) 1.39
5[2]7 7%y AAC A-A( 808U AH 8 H 2- 821HNEE AH%3- 8397 BY B HL2- 819+ K #% = 1)52. 46
6 [81RV+=r-HA (213388 5 FEAE2- 213217 Jil Hh 252 21198 AR 5% 3-2120K I 3 E2.3) 52. 59
TOME =P E( 36500/ 22 356%% FF354L3- 358H AE R iE3- 3654 A AL 143)52.98
(510K M« #F K ( ) R35

NN NN N



(2#8)
168 - iﬁ‘f
207 e - 5

3 [8IHHH A iTE

( 206%%  2F
T
(
4 (41 A pEH - B E(
(
& (
(
(

316311 A
626~ 1+ 1 2

503140 AR
(51— B

19

(2] mR S E

(348]
1[5 RRAT - 5E (1923 i 19

(
(
3 [8IRIAHH - F % (
4 [2] 3 - 55 (100K 37
(2671 A
(
(

41 THiith

S5[6] LEM T -FE
(7RSI - 5
[3]3iifnd BB
(4#8]

1 [6 )Rt E IR - HE(

2[4+ A EP- R (31814 B

S[GIHEE—-HE( 155H 1

4 (3] 24T - T T (2067 I

( J5 P
(
(

|_4\7j‘\‘1

5[8]7 4%y AAC B-B( 8414R
6 (71N - HE( 1271 ik
210 R

[54H]

1[7] B - 55 £ (26248 (L
2[6]EAG A-A(1008F: |

1010 & )11
5[8IiEAH C-C 17N
6 [4]®HTH B A

(
(
(
A[3]7EARF B -B(
(
U(
(5] H#FIH C-C(

> AN

ey 3

18 £ % & 49. 21
2 )1 g wm & 50. 96
3 & [if] = 51.28
AW FnoM & 51.39
5 H 1 H 51.93
6 B . 52. 21
1 7hH%yXAC A 52.46
L | o= 52.57

X+ 4%xXx400mR

1318 FERE -5 E (30485 A AET-2
2[6]Hfm - B E (16308 L7 FA 3
3[4])IlnTiviE-%E( 8758 1
4 (5] FHEK - B (1301 K i
5[1]%/%%[@ G-G(
[2] K& B (
[ﬂﬁﬁm ErE(
[8TJHAH FF(

%2

53

5 E (5465 LB E HE S
ERERE
o2
W HR2:

DHE 2

3
w2
S[2)MmEEHE - HE(T92K K L3233
fE2
B2
2008 N EAE2:

fE A3
w53
6085 || P (Z3:

203 A AF

A2

3157/ M O LY 2

Z33- 6304 JF
MenoAR Fivbs-
B o
5% A BHIES
(LIRS g E (124800 8 B 53

44)11 1

195 K
124742 1L

7% 3-19204 &
241 kB0 H-EE(14591LH H\\ Y 3
865/ A il 4K 2:
P ARE
%2
BB

14624 &
869+ )11

10678 4
2641585 602
402/50 HAER 2

5464/\HE: HiR T3
BEIR3
R
%IJ R
- 850%2 JH 51
w®H 2

219775 j
1575 H
20942 A

(RIS

262175 i
1001 &%
11818 )

7 H
23/

R s
30457% /)
16297& /K
STME B
129787 )11
6214 =

P 453
R RE
1449 B 3K
PE RE
i A3

e JURE
B3
ERCRE

2

B L3

%3

HE3
12/ HAT23:
E G2
W AE2-

3 .

1241 H
3155 =
6104 J11
4617 St
2= 5
LN
25511 A

19255 Jii

145355 1%
8790 ik
1035
262K 74

54613t
21907k Hf
15278 %
204°F
8511 [
13/ A

2619% (L
1173
81 JF
37 I
16 - FF

-3055H H
16264k &
- 876K #f
- 25675K Ji
¥2- 626MH =

A3
¥ ms
ENUE
H U3
B A2
KBS
HAE2

A L3
J& 13
PE A3
B #3
w2
A3NE)| Bl

F L3

3
FK2
TR
1
it A2

RS
HRAE 3
A2
K5 ) 3
FrE2
& HL3-

ZE3t
T %3

283

AL

A2

2094 I
31543, H
632{7] &

261 WH)3

155
23 1
256 =

19224 g
1458 2 Hf
8601 H
1014 H
271V B
422158 H

5468
3185 4
195/ &
20711 N
8495 AL
16/

26165
10032 H
117275 #f
Ot 25
2/N K
1775 1

30475 I
16212 H
8847k (LI
130843
6273

A¥E T4

2)52. 21
3)92.5]1
93. 65
93. 1
99. 13
R
R 5
R 15

7‘” ’[_4‘
% A3

L B3
R¥ 3
oA 2

—_— — — — — — — ~—

H&3)54.20
(> 753)55. 32
¥ 0>2)56. 28
Fn#E3)56. 30
h Z3)56.57
MEFE 3) RA&

) R35

% H 2)54.16

% #2)55. 90

e 3 2)56. 05
% Z52)56.72

B 14-1)57. 68

2)58. 31
)

JU kA B o
Ak K TH % T

%{Ez

Hu
%i%ﬁl

04.
08

21
B FE 2

15
5
15

—_— — — — — — — ~—

4:
3)4:
41
4:
45
x
x
R

61
65
2.74
19
9.60



¥ Emdk 1H RE

(15110784~ A HEW 2 (FRE B E)

[17] 1453 & &
1812884 [
[12] 2017E #
[13] 42234 H
[16] 4KkW
[ 71271211 %8
(1112136 15
[ 412771 & #+
[ 512625 N
[ 8] 95311 O
[ 112760 /%

JA 3 (RERT-5E)
By BE 3 (BHSER-HE)
% Bk 2 (IEgyHRT-4%5)
HE 8 3 (RS- 5%)
% & 3 (ff—%e& &%)
w2 3 (R -5 )
& 2 (Rat=m#%)

e 2 (ElR - %)
RS (HiEh - FrE)
A % 3 (BRAAET )

1m49
1m49
1m46
1m43
1m40
1m40
1m25
1m25
1m20
1m20
1m20

M3 (Rt R ) GEERA L

[ 3] 66077471V =2l 3 (II#eEE HE) GEEEkE L

[ 9]2124%F R O+ Bk 3 (Rt =300 e kg L
[ 2]1406 I W33k 2 (KRB A5 E) Ri5
Fi 3 (R ) Ri5
[10] 5011 AKZE 2~ 3% 3 (MRIER & E) Ri5
(14117208 ¥ # 1€ 2 (KpEm- 5 E) Ri5

¥ Emdk 28 RE

[ 6]2703%

[ 6]3031 % &
[ 71800277 W
[ 5]30321% Bf
[ 4] 9195 &

% H 3 BEXEHE)

i (xR
ZE 3 FERAHE)
& A2 (hilhg 5%

[ 1110748 11 EHAE 2 (LRS- -HE)

[ 2] 7211l
[ 3] 722 H

B 7= 3 (RHAEHT-HE)
# fn 3 (REHEYH HE)

ZF ENRBE RE

106313033k |-
26215460 % ¥
3[51] 1447 )l
3[55]3034.4 F
558147041 %%
6[60] 3053 I~ A
7[49] 30434 H
8[57] 8TT{F %
9[56] 1#H K

BiK 3 GREFR-HE)
¥ &3 WERHI)
5 A 3 (FK[A- B &)
BiOR 3 (R Edw-fik)
B4 (MEERHE)
A2 1 (RERE-HE)
A2 BWERE -HE)
# B3 (Iamie &5
¥ %3 (W% 5E)

10 (59146987 = 1ZDH 4 (HEFK HE)

11[50] 10Bk H
115416269 | B
13661315175 £
14[44]1621= |
15[52] 2881 % £+
16 [65] 3153 |1
17[46] 8% i1
18 [43] 5069 [if] A<
19 [47] 7532k

X E 3 (RKF-HE)
4 (BERKHE)
K3 Qe %E)
%3 (WfifE- 3w E)
FR 3 BHSESHE)
H#3 UlndaE %E)
PR3 (k& %E)

H 1 HEFREHE)

B 322 GURERK-E5)

20[33] 1928t HiXx 2 @WEFE-T-4%%)
21[16]1624N B B 4< 3 (il s -5 %)
22 [32] TR F A& £ 2 (REGHE-HE)
23[40] 2123712 &t 3 (Rt =45 x)
24[45] MoK Hi# 3 JIOfH-HE)
25[34] 154 BMEAR HHRE 2 (HEF T 5E)

m73
1m73
1m61
1m58
1mb5
1m50
1m50

5m60
5m43
5m25
5m25
5m23
5m08
5m07
4m99
4m96
4m91
4m89
4m89
4m86
4m70
4m69
4m68
4m67
4mb8
4m49
4m43
4m40
4m39
4m37
4m33
4m31

o
SO = 01T OO NPAPONd—= OO P —= 1 JWOWOOUI —J—



26[35] 1411 H  H %2 (RROH-HE)
26391546131 & WL 3 (FtEEEHE)
28[28] 16387 1% Al i\ 2 CHifnm & -5 %)
286413159 = K # S 2 (i@ -5 %)
30[11] 849/ AL H 1 (Fh*yAACHE)
30[36]1074:& 111 BHEAE 2 (ERAE-HE)
32[38] 6975% ik 1% #E 2 (BME-HE)
332611078~ K HHE 2 (LR -HE)
34[22] A1&% MW #12 JIOMEH-5HE)
35[4111458 2 B [ & 3 (RAOH-HE)
362911408772 B3 2 (KAnd-5E)
37018] 2641545 =50 2 (ERAH-HE)
38[42] 54313k H b 4 3 RELHA HE)
39 [27] 5011 FKFE S~ 36 3 (BRIEAHE)
40[23] 508 B i A& 3 (JIlnE-5E)
ML 7] 207 1 #7422 GRrEZH-5%E)
420211 22=F5 X # 2 (&R -5 R)
43[37] 3667 4 <V 2 FIE=F%H%E)
44113]2624+ (L %3 (AEF-HE)
45[31] 3647H ik MEP 2 (IE=H -5 F)

4m29
4m29
4m28
4m28
4m20
4m20
4m14
4m12
4m10
4m07
4m02
3m99
3m98
3m97
3m96
3m91
3m90
3m89
3m86
3m83

46 [30] 12337/ &
47 811176%% H
481201 16 F Ff
49[12]
50[24]
51[ 9]
52[ 2]
53[ 3]
53[14] 819 k¥
55[19] 4053 % #%
56[10] 6423 A
57[25] 196 &
58 [15] 8414R f&
59[ 5] 85111 [
60[ 4] 23/ {#

[ 1] 256 Jf

[ 6] 2113 #k

[17] 9531 O

(48] 918)Il O

1725 i
275 K
204 /)~ #k

(6313054 F jik

[61]626475 H

106957 =7 2 ClET -5 E)

1910 H Z7p 2 2 (EH—T5HE)

3m76
3m73
3m70
3m68
3mb9
3mb5
3mb4
3mb2
3mb2
3mb0
3m47
3m40
3m23
3m05
3m02

A A3 IEZH-IE)
B & 2 (MESHE-HE)
f& B3 (&ITH - HR)

& J) 2 (InLEAT-5HE)
52 (EAT-HE)
ok 2 (frE 5 %)

HE 1 (Fh%yAACHE)
¥ 3 (BhEhis %HE)
ZEEE 2 (IBRAEHE)
0T 2 (FES—-T5E)
B2 (FhEyAACHE)
5 F 1 FhxyRACHE)
AL 2 (&RTH - BUR)
£ 43 s -5 %) Ri5
7R 2 CHIE - H-5E) Ri%
9 3 (BRAFED5E) Ri5G
g5 2 (G5 Ri%

I BExRE-BE) RIG
L322 CEERK -5 E) Ri5

%
it
i
73
e
37
=]
j‘%

T+ ZEREk RE5

1[17] 626514 iE
2[16] 1474 )]
3[11]116264k &
A[ 8] 882%F A&
5[13] 3035HT [
6[ 5]30434#H H
7[18] 31533 (L
8[14] 877{F ji
9[ 9112971 [
100 7] 1H K
11[ 3]1304/)~ #k
12[19] 3151 74 #+

K1 CEFERR 5 E) 11m39
Air 3 (R K[ -5 %) 11m38
3 (e @ -5 E) 10m87
¥ A 2 (IAigE-5E) 10m83
&3 (FE%HE %) 10m78
Hj A 2 BEEF - H %) 10m46
H &3 Ul des- &%) 10m34
# B3 (lnig-5%) 10m33
Hk ) 3 (RLinE - 5 %) 10m23
¥ %3 (Wi—%hm 5E) 9m99
H 2 Elim-&E) 9mo9
a3 Onndes-5E) 9m98

%
7y %
¥
wH

+

=+

|
e - ;
— OO 01— = O 0WWOo = R~ OC1IWNOCITWOWONPIOO—=NOMNMNDNMNDNOCIOO ~WLWN WS

+
Soo~Soo0oo0o

+

+ +

+ 4+ + + +

+
oo o000 0ooo0o
—_ OO O O 0O W IO N O O



13[15] 20°F %
14[ 6]2881%HF £+

3 (AK[F-%E) 9m83 -0.2
3 (BHSEE %) 9m73 +0.5
15[10] 8y 4 3 (ff—kE &%) 9m63 +0.6
16[ 4113103 i 2 (BNE-5%E) 9m61 +0.4
170 2] 6934F (L v %5 3 (B s - E) 9mdd +0.6
[ 1154613+  F W3 (tERE &E) Ri5
(1216269 | %7 ¥H & 4 CEFhK-HE) Ri5H

h T RAALIE(2 721ke] SRES

1016121315 0 A& 923 (Rut=H#-4%) 10m47
2[17] 8622 1 E #v 2 (KA -5E) 10m37
3[1412130/ Il 1 £ 3 (Ryi+=d45%) 8m81
4110126271 F ERES3 (HHEP-£5E) 8m30
5[11] 1014 B Fo#fE 3 e -£5E) 8ml12
6[ 8121291k A FHE 3 (Rut=H-HH) Tm71
70 9] 621 DU 3 FEEATHE) Tmb2
8[ 2] 2704 G FnZE3 (LEMEP-HE) Tm02
9[ 7] 279¥% M Hk 4 3 (LEFH-5E) 6m85
10[ 3] 266/)s Ak W& F 2 (LEFET-5E) 6m22
1[ 5] 2039 (L kA3 (% 17 ) 5m91
120 41262874 #ix 2 3 (HEH -8 E) 5m89
130 612143k A& [ 2 (Ry+=##x) 5mb0

[ 1] 2500 & 0 % 2 (II0EET-5E) Ri5

[12] 420%F £ € B 3 GHEFN-5E) Ri5

(1311924 AF 8 + 3 (BRAT -85E) Ki5

[15] 951°'% Ji 3 P 3 (BRAHET-5E) Ri5

ZF hafiz[4. 000kg] R

1[1114681)11 = & 4 3 (XA HE)11m48
2[1014687%% H  #i#4 2 (BRAFE-HE) 11m04
3[ 71 8798 H W R 2 (I[AffiE 5E) 10m42
4[ 6]4689Fn 1 H % 2 (FRAE % E)10m36
5[ 9146843 11 =2 = 2 (HRARE - E)10m35
6[ 8]5054 /% Wy R ¥ 3 (BREFRE 5E) 10m23
70 5]1304008EF = = A 3 BERE-HE) 9m79
8[ 314691 H P§ﬂ<1 (HREE - HE) 9mb3
9[ 2132497 4 fii2 <Bﬁ%”ﬂ%%%‘-i§£) Tm97
10[ 4]469274 B ME %1 (FRAE-%E) Tmb3

[ 1] 6414k .0 2 (H@fﬁéﬁ BE) Rz

ZF AR [1.000kg] R

1[36]146874% H= #jt%2 (BRAER i§£)38m62
2[3514681)1] £ & f& 3 (FRAE-HE) 38m04
3[33]4686%E £ ¥ # 2 (BRAME-HE)34m80
4[34]46843T 11 =2 =2 2 (BRA t%?£>34m40
5[31] 8798 H W K 2 (J{{Dﬁﬁ%-i§£)30m36
6[32]46824 £ K £ 3 (ARAR-HE)2Tm81
702614691 H ﬁizﬂkl (BER B 55 E) 2Tmb5
8[19] 880E =9 Ummja 5%) 23m63
9[21]3249%% & ﬁﬂ-iz (BEFEE5F)23m11
10[38] 645/ )1 3£ A 2 (IgkAH &E)23m10
11020110347k 78 Hh J5 3 (k& - 5 ) 22m81
12[30] 36/hE ¥t % 4% %E) 22m45
13[24]3040[A % = = A 3 (BE%E-%E)21mb5
14[29]1033552)![ = F 3 (k& - By ) 21m06
15[22] 1242300 (L %5 & 3 (B -5 %) 20m97

(S ey
R R H

T



16 [25] 3042 11 4
17015150174 ji#
18[23] 951 Ji
191811077 J&
20[27] 4692 2% M
21[16]5060% &
22[12] 43# %
23141162575 )1
241 2] 1411 &
25[ 1]
26[10] 883/ JI|
27[37] 3160 7%

28 5]2769H
291112130/ )1
30[ 9139975 5
31[13] 45/ %
32[39]3159 = K
33 [ 8] 1632[m B

IF K 3 (BERAHE)20m51
461 (BRAHA-5E) 19m89
¥ P13 (HABHET 5T) 18m62
B 222 (LR -5E)17m88
ME 3 1 (BRAG-&E) 17m63
B K 2 (KEZER 5T 17md1
T Fn 3 (Il pE S %%) 17m35
B 3 (R e -5 E) 16m22
A 2%&2 (REAH-5E) 15m97

621 A ZEHARS 1 (FERERS 5 E) 15m56

e 422 (Iniig-%E) 15m47

5 3% 2 (Ilnde 5 %) 15ma2
A A 2 (R - 55 %) 15m33
S 3 (R =1 50) 14m87
M 2% 2 (e s - 5 E) 14m33
A 8t 3 (Il pE T 5%E) 13md2
# 1B 2 A dee - %) 13m39
Fig BE 2 (R & -5 %) 12m93

341 7] AMOEGIR B %< )b 2 (RIEANT5E) 12m67

35[ 6]26287%5% wixE 3 (HiEP-HE)11m19

36[ 4]2706 4 & i fik 3 (B E) 9m02
[17] 4184 g St Jh 3 (REHENT-5%) iELfkia L
[ 3]1408F7.2P 3K 2 (REAH-5E) Ri5
(28] 420%F I SK 313 (HEFNT 5L R

ZF Y #[600g] RA

1[19] 880K H# HE & 2 (o -%E) 40m24
2[1311625/ Il & 93 (fipE & 5 ) 29m42
3[17]4689%n H X 3£ 2 (FHAM-HE)28mI8
411113052k =  FF2 (ke %) 28ma7
4[16] 883/ Il HE Zx 2 (JIINTLFE-#E) 28m47
6[12] 30414071 H4y—3 (BERE HE)2Tm66
7[18]1033 % JII % Fi 3 (§k & - & ) 25mb4
8114139975 il M 452 (A -5 %) 25m12
9[ 91077 il & Z2 2 (ER&-5¥E)24m25
10[ 8]1633 7 BF 2 (Hfmm -5 ¥E)21m22
11[ 6146864 £ ¥ #2 (FRARH HE)21m10
12[ 3] 49078 & 3£ W2 (K'E & -5 ) 20m51

o~ X

13[10] 506042 &
14[ 4]3160 %%
15[ 2] 1632 2
16[ 111041/~ #k
17[ 5]3051 1 i
18[ 711034k 2
[15] 643¥

B K 2 (KEFRRHE) 19m48
5 22 UllRdbs- %) 17m31
By BE 2 (e & - 5 E) 15m95
E A 2 (k& - & L) 15m51
Ay 2 ERE 5 E) 15m39
it )% 3 (i = - B 1) 14m05
#i 3 2 (lgRem 5E) Ri5



